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A1 R II2AE |

1. R 72

(1) Roj2t?

AFEZE B4 2 AFEAMO| 7t55t=E AL FH S At g2 Z2OHS §
A HIAN(EE 2ZE0])Z st=d AA AlFol= SAS(Statistical Analysis
System), SPSS(Statistical Package for the Social Sciences), Stata(Statistics

m[o

Data), WinRats-32(Regression Analysis for Time Series), EViews(Econometric
Views), Limdep(Limited Dependent model) 5 T&St £/ 54 AT E o7t
SAlE o] &85

gHE, ZFElol HES des o H83 AFHY do'E zm=IHY Ao
(programming language)@til sh=t] &% 22 Basic, Cobol, Fortran, C, C+ +
o] &8rlo] gout FToleE GAUSS(Matrix programming language), Matlab,
S-plus, R 52 AM&A7E S7Fstal it

R ZzI#dY dojz #4% SARAN =42 g 24 7

A HFIA Dol e Bt FE52 AFEIL glof AAHez

2°] Robert Gentleman® Ross Thakaoll &3 1995¥ 0 A2

7H‘?:_}5]915l HAL R core team ©] R ZREAEE 29313 9t} R wlo]ElQ
A4t (calculation), 18]3 12/ 3% (graphical display)<
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M1 R 7|2AKR _ 5

EM, RS Linux, UNIX, MAC OS X, Windows 5 2E 23 AclA A3 7%
3tal, 7F%E DBMS(Database Management System) TGloJE]o]] ZHo] 7}535ta, He

o] WjF|AE ALRSHH RO AAZE Java, Python, C, C+ + =9] oo}t 33sto] A}

8% 4 ot

AR, RS B/ AZEQolz BE 227t TATDE AR2e 44 U WA
Fsstol thopsta AU BAS T 4 U

WAL, AAIS, WA, A%, BRI 5 U HE Ropld AEHE S F
ARH ol w714 Pz AL AATE BHG AL Aol Y3
of BAsjol st £1T B 4 Ut

BE Yo siext Blgo] FAlo] WYskEo] RS olAF FHE HAL YAT R
2 AFESH] SSIAE R <ol Higol ohul, Aze 7)ol WA Frbwa ]

R=)
M
2
)
I
2
lo
fu
=
fu
Mo
N
olr
o
Jidpy
fn
:CI>L_1‘
©
o
rr
2
i)
o
0,
30
&

(2) RStudiozt

AZEQo] A oA Qs FY(coding), TYUWZ (debugging), FHitd
(compile)d & stz F7|Xeet L2ZEQoE FF/NEEH (Integrated
Development Environment; IDE)°]2til st=H| RStudio= R FFNESH 4=
EFo]2 RStudiog AFEsH7] HAsiAE= HE=A] Ro|l AX|x|o] glojof ittt

e 39 : T2y dojE o]&sto] A ARl HFH Z2aHE =

e U : &R FE Folulo] #4ste oA

o A3t FFEF QAT Aol2 AYol A2 4 Yt Aol I

Rl

e
XN
i

lo

=

rn:
ok

ol
ok

RStudio® 71&2] R 7AL@Al M2 7|5E0] F7teo] AMgA 285 = &
2ol AZEQOE v 2 FHE 7ML H.

A, RStudio Al BE FAANA AFo] 7hssiH, RE R HATL Sgho]
7Hs 3ttt

A, ZPAAol B3I F&(console), HHA Hhol LRI 22 oY
(source editor), 123l T|o|E] Hol(data viewer) W =3 ©]¥(plot history) &

= b |
FUATEAL 72 24F0] & T Askn A& Aol A5,

rok



FX 3t @A (code completion), TE YH A] TSy I/ A
=
R (o]

Sol Z7bElo] 44 A FAIA AEAY WAE slstm lrk

M, Gololx] 27] (Y 1-1)9 5 guol Yt CRANS gt

R The R Project for Statistical Computing

Getting Started

[Home]

R is a free software environment for statistical computing and graphics. It compiles and runs on a wide
Download variety of UNIX platforms, Windows and MacOS. To download R, please choose your preferred CRAN
CRAN mirror.

If you have questions about R like how to download and install the software, or what the license terms
R Project are, please read our answers to frequently asked guestions before you send an email

<ad 1-1> R ¥HoIX] =7| 2H

SR, CRAN #lojx|9] Z7b8 2204 a2y 1-2)9] golo)x]
z stz 29T

Korea

hitp://cran.nexr.com’ NexR Corporation, Seoul
hitp://healthstat snu.ac ka/CRAN Graduate School of Public Health, Seoul National University, Seoul
hitp://cran biodisk org, The Genome Institute of UNIST (Ulsan National Institute of Science and Technology)

<3 1-2> CRAN IHo|X| EE(cietll=)

AAA A w2 1-3>)olA Bl £dAAld dHFHE ez

r-{o
>.]|



H1Z RIIEAE 7

The Comprehensive R Archive Network

Download and Install R

[Precompiled binary distributions of the base system and contributed packages, Windows and Mac users most likely want one of these versions of R:

+ Download R for Linux

+ Download R for Mac) OS X

+ Download R for Windows

IR 1s part of many Linux distributions, you should check with your Linux package management system in addition to the link above.

<AF 1-3> 2FHH A o5

A, Download R for WindowsE AEHSHH A 7FA] vlw(K3E 1-4>)7F YEhY

4| base WHE A=t

R for Windows

Subdirectories:

Binaries for base distribution. This is what you want to install R for the first time.

Binaries of contributed CRAN packages (for R >=2.13 x; managed by Uwe Ligges). There is also information on third party software available
contrib for CRAN Windows services and corresponding environment and make variables

Binaries of contributed CRAN packages for outdated versions of R (for R < 2.13 x; managed by Uwe Ligges).

Tools to build R and R packages. This is what you want to build vour own packages on Windows, or to build R itself.

<aF 1-4> 2F AHE M=

base

old contrib
Riooals

A, Download R 3.4.3 for Windows(K¥ 1-5>)& ZElsto] HAgUES ot
=

eEEstn AXgT W, AX A AxQlo] dee 9re AFIT

R-3.4.3 for Windows (32/64 bit)

Download R 3.4.3 for Windows (62 megabytes, 32/64 bit)

Installation and other instructions
New features in this version

A% 1-5> R EX|Z2J3 CfREE

RStudio  AATILE  TEZRE5H] = RStudio Ao o] A]
(www.rstudio.org)oll H&ot] o33 22 £A=2 ZIsis)
AR, D olA] 27] sPAKAH 1-6>)9 = Ao 31+ Download RStudioE

e



GStudio' Products Resources Pricing  AboutUs Blogs Q,

Download RStudio

Discover Shiny

Open source and enterprise-ready ’ shinyapps.io Login

professional software for R — _
I Discover RStudio Connect

<3 1-6> RStudio ¥Ho|X] =7| 2tH

EA, RStudio® ©Fst HAKIH 1-7>) & FH9 RStudio Desktop Open

Source License2 DownloadE Z@3tc}

D «&

Learn More Learn More Learn More

<3l 1-7)> RStudio 2| CtYst HA

Leamn More

AR, EFAAER EFd RStudio®] AXod FZFoIA RStudio 1.1.423 -
Windows Vista/7/8/10 WA (Kd 1-8>)& 2t AAadE =25t A
cissg

RStudio Desktop 1.1.423 — Release [Notes

RStudio reguires R 3.0.1+. If you don't already have R, download it here.

Installers for Supported Platforms

nstallers Size Date MDs
RStudic 1.1.423 - Wi 853MB  2018-02-07 a2411be84794b615d8e723e70e7c0f0b0
dic1.1423- ) 1 745MB  2018-02-07 3e3e3db076b44f3c5276eb008614b4cE
tudic 1.1.423 - Ubuntu 12.04 ebian 8 (32-bit} 83.3MB  2018-02-07 B515dB8£5c78acl5b331bdsbelcleatl2
RStudic 1.1.423 - Ubuntu 12.0 ebian 8 (64-bit} 974 MB  2018-02-07 £6e385c13f£7a1218891937£016293E63
RStudic 1.1.423 - Ubuntu 16 bian 9+ (64-bit} 63 MB 2018-02-07 1p5599d9£f19c0971e87asbekbi77aatbe
RStudic 1.1.423 - Fedora 19+/RedHat 7+/openSUSE 13.1+ (32-bit) 88.1MB  2018-02-07 27664d49e08deee206872d2595410512
RStudic 1.1.423 - Fedora 19+/RedHat 7+/openSUSE 131+ (64-bit) angMB  2018-02-07 Bd3dAc49260539a590dFeeea5552ab0d

<3# 1-8> RStudio DesktopH{F2| O0S& MX|mpY




2 RStudio A|ZHs17|

H1Z R 7|2AL2 _ 9

RStudiootol s Zdstd ¥ 1-9°t o] Sources %, Console #,
Environment/History %, Files, Packages/Plots, Help, Viewer S 4719] o]
UErd T

® Source & : TR SourceE HH

Z239 Wel R HHolol AME T3 Ctrl-RE AY

® Console & : W& JHs ANS &9l

got SRS o]&Sto] o] Yol wWH W Al

¢ Environment/History %

rr
=
_>4’1_'4
1o
1
u i
)
)
ok
ro

- Environment % : W4 &
- History % :
2 24y
e Files, Packages/Plots, Help, Viewer %
Tolst 2o 9 Hy)x 2=
a#z, =29, HTML 5 9

- Files, Packages %
- Plots, Help, Viewer % :

© Rstudio
file Edit Code View Plots Session Buld Debug Profile Tools Help
© .ol - - Addins -

) Untitied1 o

Fies Plots Pacages Help Viewer
@ NewFolder | O Delete =) Rename | {GF More -

EEEEES )

Wado] Historys &9l 2 AMsty gESE

size Modified
103K8 Feb 23,2018, 1000 PM

<3a#l 1-9> RStudio 47i2| %
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Console ol HHolE 24 d=sto] A8 E HA AFSHAY print() I+E
Agsto] AgE = et RE UHA ARPZIAE AR 4 Stk

2£9] &9 tAIX]+= Edit>Clear Console(E+ Ctrl+L)< Agsto] 2|2 & (oA
1-1)3} Zo] HHolg AYsto] AEE A= (oA 1-1)9 A¥ AxE HojE

odk
olr

(AA 1-1) A" HHE 1

> 273
> 2%3
> 3/3
> 3+3
> 3-3
> q0)

(A 1-1)9] H=y2

> 273
(1] 8
> 2%3
[1] 6
> 3/3
[1] 1
> 3+3
[1] 6
> 3-3
(1] 0
> q0)




= Ctrl+LEg Al

£ YEsto] AEE AW

335l0] console &2 W&
(A 1-2)9] A

]_:.
O

H1& R 7|2At2 _ 11

Ag & (oA 1-2)eF 2ol H7 o]

_%
A3g HojEth

(A 1-2) AH

Hy

2

i

o

> print(2".5, digits=5)
> print(2x3, digits=5)
> print(2/3, digits=5)
> print(3+ 3, digits=5)
> print(3-3, digits=5)
> q0)

(A 1-2)9] A=g2

A3}

> print(2".5, digits=5)
[1] 1.4142

> print(2x3, digits=5)
(1] 6

> print(2/3, digits=5)
[1] 0.66667

> print(3+ 3, digits=5)
(1] 6

> print(3-3, digits=5)
(1] 0

2) gt HHE

=43 vlolE EE A4 AIE ARE TALo] Yst] shto AxE Heolst
t wEron A9 duto] Mee ey eheth

I WHTO Fejt TG AUAQ <-(E= ) A Felet T T4
A assign()S AHEIHE FEZE v BE EUF 715 SRsTh

I FHRol o3 WHE AN AAtEY rm() F4F ol gt T,

(G4 1-3)3 Zo] HHAE Yesto] NS AW (oA 1-3)9 AW Ang =

oj &t



12 _R7IZ % SA2Y

o714 x¢-c(12345)F 198 57441 5749 $X%F (numeric) W45 AT
cOZ Fol o] 59 MES AN F APREA K o TP FYLol

(oA 1-3) &9 HIHE 1

> x<-c(1,2,3,4,5)
> y<-c(1:10)

> zK{-x+y

> X

>y

>z

>rm(z)

>z

(AA 1-3)¢] AF2}

> x<-¢c(1,2,3,4,5)

> y<=c(1:10)

> z{-xX+y

> X

[11 12345

>y

[1] 1 2 3 4 5 6 7 8 910
>z

[1] 2 4 6 810 7 9111315
> rm(z)

>z

Error: object 'z' not found

SHE, (oflA 1-4)9F Zo] oS st IEE AW A Z23E Holg:

(A 1-4) 9 BIJE 2

> assign(“x”, ¢(1,2,3,4,5))
> assign(“y”, ¢(1:10))
> assign(“z”, x+vy)
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VOV VL VYV
N

(AA 1-4)9] AF23}

> assign("x", ¢(1,2,3,4,5))
> assign("y", c(1:10))
> assign("z",x+y)
> X
[11 12345
>y
11 1 2 3 4 5 6 7 8 910
>z
[11 2 4 6 810 7 9111315
> rm(z)
>z

Error: object 'z' not found

@) 2c oz W Ay

Source oA ZRIF Sources: A/, B, A%, Ad, BEder] 5& & +
Atk

ZdE 22O E 3 4] Adcts WHE Runs 3 (%+ Ctrl+Enter)sha,
o] & EE BE & TAo Adsts YHe oy & == RE 5 AYsta
Rung Z¥sHH Ho

bl-chl-5.R¥} Zo] BPolg Ygsto] =& Mesta Rung E8stH o33 2
2 Ad) AE HojFEoh



14 _R7|Z 9 EAlEN

bl-chl1-5.R9] AlsjZAx}

> x<-c(1:10)

> X
11 1 2 3 4 5 6 7 8 910

> sort(x)
[1] 1 2 3 4 5 6 7 8 910

> sort(x, decreasing=T)
[1]10 9 8 7 6 5 4 3 2 1

> mean(x)
[1] 5.5

> median(x)

[1] 5.5

> quantile(x)
0% 25% 50% 75% 100%
1.00 3.25 550 7.75 10.00

> diff (range(x))
[1] 9

> var(x)
[1] 9.166667

> sd(x)
[1] 3.02765

A" 223 SourceE A5t A= File/Save AsE AHI & <2
1-10>3 o] E<lo] Yst= fHEol| ZAolE (o, bl-chl-1)E YHstH
o 239 &FA= RE A|Fo] H,

o

fr oo
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H1E R 7|2ALE

000 RABME

WS 1 BN Stati R -ex

Loak in:

Date Madified

Type
111-tes R File
114--tes R File
114-tes R File

Size

MName
| ] ex-5R

2006-0-- 10:44
2018-0-- 11:65

L] ex-7TR

2008-0-- 11:51

| ] table-6.R

L] My Computer

a user

Save

Files of type: | &ll Files (=)

File name:

Cancel

<# 1-10> Z2349| X%

File/Open File&

e
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bl-ch1-2.R9] AlsjZAx}

> a<-c(-3,-2,-1,1,2,3)

> sum(a)

(11 0

> abs(a)
[11 321123

> as<-al4:6]

> sqrt(as)
[1] 1.000000 1.414214 1.732051

> max(a)
[1] 3

> min(a)

1] -3

> range(a)
[1] -3 3

> exp(a)
[1] 0.04978707 0.13533528 0.36787944 2.71828183
20.08553692

> log(as)
[1] 0.0000000 0.6931472 1.0986123

> logl10(as)
[1] 0.0000000 0.3010300 0.4771213

7.38905610




H1% R 7|2At2 _ 17

<E 1-2) 7|12 AL+

ot 715 s 715

mean() At cor() A

sort() LEUE)Ae Y cov() 24t

median() Zopzk summary () QoF EA
quantile() 294 cumsum() 2 g

diff ) Ya Afo]9] A}o] lag() AR W4 THE7]
var () 24 sd() EZ2EA

bl-chl-3Ra} Zo| 7|2 EAGSet By o
Rung ZsH theat 22 A9 Aug Holzth

bl-ch1-3.RS A&7}

> x<-c(21,4,13,6,12,7,4,25,22)
> y<-c(-2,4,-3,8,-7,8,-2,-6,5)

> X3y
[1]1 21 413 612 7 42522
[11 -2 4 -3 8 -7 8 -2 -6 5

> cov(x,y)
[1] -19.54167

> cor(x,y)
[1] -0.4123081

> summary (x) ;summary(y)
Min. Ist Qu. Median Mean 3rd Qu. Max.
4.00 6.00 12.00 12.67 21.00 25.00




Min. 1st Qu. Median Mean 3rd Qu. Max.
-7.0000 -3.0000 -2.0000 0.5556 5.0000 8.0000

> cumsum(1:10) ;cumprod(1:10)

[1] 1 3 610 15 21 28 36 45 55
[1] 1 2 6 24 120 720 5040 40320 362880 3628800
() EEExX &H EAIET
SER2 HHE FATed 1 7le2 <F 1-3>3 ot
<E 1-3) SEZEE FAES
B2 R S Q14> (arguments)
binomial binom() size, prob
chi-squared chisq() df, ncp
F £O df1, df2, ncp
normal norm() mean, sd
poison pois() lambda
Student’ s t t() df, ncp
uniform unif () min, max
227t Yot BALE @71 AT 4ol olF ool & 1-0>9 TS HEA
& Eojfof 3t}
<R 1-4) SEEE HFA
AEAT s
d e (PDR) 9 EEH, (%)
p FAEZIG(CDF)Y &%, F(x)
q 294 (quantile) 3, F(x)
r 229 T A
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bl-chl-4R3} Zo| SRzl FAH PYolF YYstol =% Wi Rund
s e

i)
)
rlo
ikt K
o,
ity
i)
e
f
9
EN T
o

bl-chl-4.R9] AlsjZAx}

> #549E FF=40%,BFHAF=10%% BFEZNAN £JE0] 60%HET}T I TFE
> pnorm(60,mean =40,sd=10)
[1] 0.9772499

> #59E Bt =40%,EFHA=10%%] FHEZoA $E0] 60%ET w2 SE(EFSh
> 1-pnorm(2,0,1)
[1] 0.02275013

> #P(7<1.645)
> pnorm(1.645, 0,1)
[1] 0.9500151

> #P(Z<K)=0.95%9 uf, K9 #2?
> gqnorm(0.95, 0,1)
[1] 1.644854

> #t-FAFol -3.271, n=169 W po FH2?
> pt(-3.271, 15)
[1] 0.002578269

> #n=169w, 5% FIFFNAN 71749 (F=)
> qt(p=0.05, df=15)
[1] -1.75305

> round(rnorm(n =20, mean=40, sd=10), digits=2)
[1] 4829 51.72 2827 47.01 4495 4913 41.63 3619 4355 3610 3027 4550 2398 41.69
[15] 5965 56.75 42.91 54.74 4361 3084







Data set

1. Data set Tt=7|
2. Hiojg&z2| 7|2 HPo
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H2% Data set ]

1. Data set 2t=7|

RolA =AU 22HE A4 dEsto] doly gds Tr=E WRolE Data Editor

R Source oA thS3t Zo] JHSHH Data Editor o] =E=d <9 2-1>3%

H
Zol ool A wlolelg Yt W RARIA HolEE Yelw Wik,

)
ol
rg

> mydata<-data.frame(age =nnumeric(), gender = character(), weight=numeric())
> mydata<-edit (mydata)

age gender weight
1 25 female 52
2 30 male 65
3 56 male 39
4 &1 male ]
5 33 female 55
& 30 male 73
T 35 female &0
B 47 female 45
9 27 male 105
10 70 female 58

<37 2-1> Data Editor & ¥ HIo|E U



HM|2Z Data set _ 23

S0l Data Editor 3 0|83 wlole] QA Ak
¥ 4 gomz o A9 WIS BEY 4 Atk olF Ho] yol(age), A
(gender), BFA (weight) & BolFi dloles 22 a4 Al tewt Zo| 3
ol% yst ok

ok % oo

age<-c(25,30,56,61,33,30,85,47,27,70)

gender<-c("female","male","male","male","female", "male", "female", "female", "male", "female")

weight<-c(52,65,89,68,55,73,60,49,105,58)

(2) 2FoM HdE XEE =8 S0{27|

(D ASCII-TEXT <Y

QFoA ZH ASCI-TEXT LS RE B2 5927 YaixE bl-ch2-1.R
T bl-ch2-2.RS AlSYsHH ASCII-TEXT #d g Edey olE PH= HAS)
W QOFEATS ESSH thFst B4 EAfo] 7hesith

bl-ch2-1.R9] Al3gZAx}

> samplel<-"http://kanggc.iptime.org/book/data/samplel.txt"
> sample_dat<{-read.delim(samplel,header =T)
> sample_dat

year GDP consumption
1 2000 635184.6 413461.2
2 2001 688164.9 460668.2
3 2002 761938.9 515616.0
4 2003 810915.3 535967.4
5 2004 876033.1 562020.2
6 2005 919797.3 602345.4
7 2006 966054.6 643408.0
8 2007 1043257.8 691740.4
9 2008 1104492.2 740804.6
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10 2009 1151707.8 769588.6
11 2010 1265308.0 819821.2
12 2011 1332681.0 873522.7
13 2012 1377456.7 911938.2
14 2013 1429445.4 942267.2
15 2014 1486079.3 972925.0
16 2015 1564123.9  1006005.6
17 2016 1637420.8  1047482.4

> year<-sample_dat$year

> gdp<-sample_dat$GDP

> consumption{-sample_dat$consumption

> min(gdp)
[1] 635184.6

> max(consumption)
[1] 1047482

> mean(gdp)
[1] 1120592

> mean(consumption)
[1] 735857.8

> median(gdp)
[1] 1104492

> median(consumption)

[1] 740804.6

> quantile(gdp)
0% 25% 50% 75% 100%
635184.6 876033.1 1104492.2 1377456.7 1637420.8
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> quantile(consumption)
0% 25% 50% 75% 100%
413461.2 562020.2 740804.6 911938.2 1047482.4

> var(gdp)
[1] 100191904893

> var(consumption)

[1] 40858333365

> sd(gdp)
[1] 316531

> sd(consumption)
[1] 202134.4

> summary (sample_dat)

year GDP consumption
Min.  :2000 Min. : 635185 Min. @ 413461
Ist Qu.:2004 1Ist Qu.: 876033 1st Qu.: 562020
Median :2008 Median :1104492 Median : 740805
Mean :2008 Mean :1120592 Mean : 735858
3rd Qu.:2012  3rd Qu.:1377457 3rd Qu.: 911938
Max. :2016 Max. :1637421 Max.  :1047482

bl-ch2-2.R9] AfA

> samplel<-"http://kanggc.iptime.org/book/data/samplel.txt"

> sample_dat<{- as.matrix(read.delim(samplel,header =T),ncol=3)

> sample_dat

year GDP consumption
[1,] 2000 635184.6 413461.2
[2,] 2001 688164.9 460668.2
[3,] 2002 761938.9 515616.0
[4,] 2003 810915.3 535967.4
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[5,] 2004 876033.1 562020.2
[6,] 2005 919797.3 602345.4
[7,] 2006 966054.6 643408.0
[8,] 2007 1043257.8 691740.4
[9,] 2008 1104492.2 740804.6
[10,] 2009 1151707.8 769588.6
[11,] 2010 1265308.0 819821.2
[12,] 2011 1332681.0 873522.7
] 2012 1377456.7 911938.2
1 2013 1429445.4 942267.2
[15,] 2014 1486079.3 972925.0
1 2015 1564123.9  1006005.6
] 2016 1637420.8 1047482.4

> year<{-sample_dat[,1]

> year

[1] 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012
2013 2014 2015

[17] 2016

> gdp<-sample_dat[,2]

> gdp

[1] 635184.6 688164.9 761938.9 810915.3 876033.1 919797.3 966054.6
1043257.8

[9] 1104492.2 1151707.8 1265308.0 1332681.0 1377456.7 1429445.4 1486079.3
1564123.9

[17] 1637420.8

> consumption<{-sample_dat[,3]

> consumption

[1]1 413461.2 460668.2 515616.0 535967.4 562020.2 602345.4 643408.0
691740.4

[9] 740804.6 769588.6 819821.2 873522.7 911938.2 942267.2 972925.0
1006005.6
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[17] 1047482.4
> colMeans(sample_dat)
year GDP consumption
2008.0 1120591.9 735857.8

> summary (sample_dat)

Min.  :2000 Min. : 635185 Min.

Max. 12016 Max. 11637421  Max.

year GDP consumption

Ist Qu.:2004 1Ist Qu.: 876033  1st Qu.: 562020
Median :2008 Median :1104492 Median :
Mean :2008 Mean :1120592 Mean

3rd Qu.:2012  3rd Qu.:1377457  3rd Qu.: 911938

@ Csv 7Y

CSV(Comma Separated Value) I+

o
A% ol A2 o, Y, wEg 5 o

7Mssters grdol ik

bl-ch2-3.RE AldstH CSV LS By, Q

2aj0] 7h5al:

oh() SR PR} A
2aselM 7] % Bl

bl-ch2-3.R9] A4

> sample_dat

year gdp consumption
2000 635184.6 413461.2
2001 688164.9 460668.2
2002 761938.9 515616.0
2003 810915.3 535967.4

> w NN+

> samplel<-("http://kanggc.iptime.org/book/data/csv_samplel.csv")

> sample_dat<{-read.csv(samplel,header =T,sep=",")
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5 2004 876033.1 562020.2
6 2005 919797.3 602345.4
7 2006 966054.6 643408.0
8 2007 1043257.8 691740.4
9 2008 1104492.2 740804.6
10 2009 1151707.8 769588.6
11 2010 1265308.0 819821.2
12 2011 1332681.0 873522.7
13 2012 1377456.7 911938.2
14 2013 1429445.4 942267.2
15 2014 1486079.3 972925.0
16 2015 1564123.9  1006005.6
17 2016 1637420.8 1047482.4

> year<-sample_dat$year
> gdp<-sample_dat$GDP
> consumption{-sample_dat$consumption

> summary (sample_dat)

year gdp consumption
Min. :2000 Min. : 635185 Min. : 413461
Ist Qu.:2004 1st Qu.: 876033 1st Qu.: 562020
Median :2008 Median :1104492 Median : 740805
Mean :2008 Mean :1120592 Mean : 735858
3rd Qu.:2012  3rd Qu.:1377457 3rd Qu.: 911938
Max. :2016 Max. :1637421 Max.  :1047482

® Excel T
ExcelZ B2+ WHS get HHo] gled A Ae xlsx FAdS &7
F Ae WHE AYstaA} g ol& YsliA= WA openxixs I 7]A]E install

library= 2] oo} sH=t] bl-ch2-4 RS AWSHA Excel HUL B0, of
A5t QoFEAYE LAY TF §A B0l b5 Wkl xis
o o

2 B2Q7] oM e xIs LS xlsx THAE HEA|A FH

ruS i rok
Mo o o o

r&ﬂ

=
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bl-ch2-4.R9] AlsyZA}

v

library (openxlsx)

ARV

excel_samplel

excel_samplel<-read xlIsx("http://kanggc.iptime.org/book/data/sample]l -n.xlsx")

year gdp consumption

2000 635184.6
2001 688164.9
2002 761938.9
2003 810915.3
2004 876033.1
2005 919797.3
2006 966054.6
2007 1043257.8
2008 1104492.2
2009 1151707.8
2010 1265308.0
12 2011 1332681.0
13 2012 1377456.7
14 2013 1429445.4
15 2014 1486079.3
16 2015 1564123.9
17 2016 1637420.8

© 00 3 O O b W N

—_ =
= O

413461.2
460668.2
515616.0
535967.4
562020.2
602345.4
643408.0
691740.4
740804.6
769588.6
819821.2
873522.7
911938.2
942267.2
972925.0
1006005.6
1047482.4

> excel_samplel_dat<{- data.matrix(excel_samplel)

> excel_samplel_dat

year gdp consumption

2000 635184.6
2001 688164.9
2002 761938.9
2003 810915.3
2004 876033.1
2005 919797.3
2006 966054.6
2007 1043257.8
2008 1104492.2
10 2009 1151707.8

© 0 N O O x W DN =

413461.2
460668.2
515616.0
535967.4
562020.2
602345.4
643408.0
691740.4
740804.6
769588.6
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11 2010 1265308.0 819821.2
12 2011 1332681.0 873522.7
13 2012 1377456.7 911938.2
14 2013 1429445.4 942267.2
15 2014 1486079.3 972925.0
16 2015 1564123.9  1006005.6
17 2016 1637420.8 1047482.4

> year<—excel_samplel_dat[,1]
> gdp<-excel_samplel_dat[,2]

> summary (excel_samplel_dat)

> consumption{-excel_samplel_dat[,3]

year gdp consumption
Min. 12000 Min. © 635185  Min. 1 413461
I1st Qu.:2004 1st Qu.: 876033  1st Qu.: 562020
Median :2008 Median :1104492 Median : 740805
Mean :2008 Mean :1120592 Mean : 735858
3rd Qu.:2012 3rd Qu.:1377457 3rd Qu.: 911938
Max. 12016 Max. 11637421  Max. 11047482
2. diojefgz| 7|2 "Eo
(1) #Ho| #HEl 3 HpHo| Y
7129 WHe4E o]|dsto] MEE HEE WEo AT 4 d=d dE 59 gdp
3 consumptionoll AAAZ1E FH5to] lgdp ¥ Iconsumption H4E WE 4 UTh
MEHS WA 4 gt shiel WAHS WHALEIE Sol, consumption
2 cons®) A HeEE HAT 4 U
bl-ch2-5R& Astd Wegol v g AU + ok



H|2& Data set _ 31

bl-ch2-5.R9 Al3yAat

> library (openxlsx)
> excel_samplel<-read xlsx("http://kanggc.iptime.org/book/data/samplel-n.xlsx")
> excel_samplel_dat<{- data.matrix(excel_samplel)
> year<-excel_samplel_dat[,1]
> gdp<-excel_samplel_dat[,2]
> consumption<{-excel_samplel_dat[,3]
> lgdp<-log(gdp)
> lconsumption<-log(consumption)
> lgdp; lconsumption
1 2 3 4 5 6 7 8 9

13.36167 13.44178 13.54362 13.60592 13.68316 13.73191 13.78098 13.85786
13.91490

10 11 12 13 14 15 16 17
13.95676 14.05083 14.10270 14.13575 14.17280 14.21165 14.26284 14.30863
1 2 3 4 5 6 7 8 9

12.93232 13.04043 13.15312 13.19183 13.23929 13.30859 13.37453 13.44697
13.51549

10 11 12 13 14 15 16 17
13.55361 13.61684 13.68029 13.72333 13.75604 13.78806 13.82150 13.86190

> names(excel_samplel)

n "

[1] "year" gdp "consumption"
> excel_samplel
year gdp consumption

1 2000 635184.6 413461.2
2 2001 688164.9 460668.2
3 2002 761938.9 515616.0
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4 2003 810915.3 535967.4
5 2004 876033.1 562020.2
6 2005 919797.3 602345.4
7 2006 966054.6 643408.0
8 2007 1043257.8 691740.4
9 2008 1104492.2 740804.6
10 2009 1151707.8 769588.6
11 2010 1265308.0 819821.2
12 2011 1332681.0 873522.7
13 2012 1377456.7 911938.2
14 2013 1429445.4 942267.2
15 2014 1486079.3 972925.0
16 2015 1564123.9  1006005.6
17 2016 1637420.8  1047482.4

> names(excel_samplel) [3]<-"cons"

> excel_samplel

year gdp cons
2000 635184.6 413461.2
2001 688164.9 460668.2
2002 761938.9 515616.0
2003 810915.3 535967.4
2004 876033.1 562020.2
2005 919797.3 602345.4
2006 966054.6 643408.0
2007 1043257.8 691740.4
2008 1104492.2 740804.6
2009 1151707.8 769588.6
2010 1265308.0 819821.2
2011 1332681.0 873522.7
2012 1377456.7 911938.2
2013 14294454 942267.2
2014 1486079.3 972925.0
2015 1564123.9 1006005.6
2016 1637420.8 1047482.4

© 0 N O O &~ W DD =

I e T e T o S S S Sy S
N O O e W DN+~ O
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> names(excel_samplel)<-c("T","Y","C")

> excel_samplel

T Y C
2000 635184.6 413461.2
2001 688164.9 460668.2
2002 7619389 515616.0
2003 810915.3 535967.4
2004 876033.1 562020.2
2005 919797.3 602345.4
2006 966054.6 643408.0
2007 1043257.8 691740.4
2008 1104492.2 740804.6
2009 1151707.8 769588.6
2010 1265308.0 819821.2
12 2011 1332681.0 873522.7
13 2012 1377456.7 911938.2
14 2013 1429445.4 942267.2
15 2014 1486079.3 972925.0
16 2015 1564123.9 1006005.6
17 2016 1637420.8 1047482.4

© 00 N O O & W DN

—_ =
= O

bl-ch2-6.RZ A dlole|E EZ A AADRE WA, AAEY AAHSE
i, Addiy] F7keE e & OEE a9 £33 AAEY 28 FHI T
./_[’: fe)

= :
A5 gre Fek Adul 37hee SAXE 78

bl-ch2-6.Re] A& At

> library (openxlsx)

> excel_samplel<-read xlsx ("http://kanggc.iptime.org/book/data/samplel-n.xlsx")

> excel_samplel_dat<{- data.matrix(excel_samplel)

> year<{—excel_samplel_dat[,1]
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> gdp<-excel_samplel_dat[,2]

> consumption<{-excel_samplel_dat[,3]

> graphics.off ()

> par("mar"
[1] 5.1 41 41 21

v

par(mar=c(1,1,1,1))

> y.ts<—ts(gdp, start=2000, end=2016, frequency=1)
> c.ts<-ts(consumption, start=2000, end=2016, frequency=1)
> lagy<-lag(y.ts, k=-1)

> lagc<-lag(c.ts, k=-1)

> gy<~(v.ts—lagy)/lagy

> ge<—(c.ts-lage)/lage

> ly.ts<-log(y.ts)

> lc.ts<-log(c.ts)

> gly<-ly.ts-lag(ly.ts, k=-1)

> gle<-lc.ts-lag(lc.ts, k=-1)

> (y<-cbind(gy, gly))

Time Series:

Start = 2001

End = 2016

Frequency = 1
gy gly
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2001 0.08340930 0.08011282
2002 0.10720396 0.10183788
2003 0.06427864 0.06229724
2004 0.08030160 0.07724027
2005 0.04995724 0.04874944
2006 0.05029075 0.04906703
2007 0.07991598 0.07688324
2008 0.05869537 0.05703736
2009 0.04274869 0.04186020
2010 0.09863630 0.09406969
2011 0.05324632 0.05187713
2012 0.03359821 0.03304613
2013 0.03774253 0.03704771
2014 0.03961949 0.03885477
2015 0.05251712 0.05118455
2016 0.04686131 0.04579646

> (c<-cbind(gc, glc))
Time Series:

Start = 2001
End = 2016
Frequency = 1
gc glc

2001 0.11417516 0.10811437
2002 0.11927847 0.11268426
2003 0.03947007 0.03871104
2004 0.04860893 0.04746445
2005 0.07175045 0.06929324
2006 0.06817119 0.06594801
2007 0.07511936 0.07243169
2008 0.07092863 0.06852615
2009 0.03885505 0.03811919
2010 0.06527202 0.06323018
2011 0.06550392 0.06344785
2012 0.04397768 0.04303811
2013 0.03325774 0.03271666
2014 0.03253621 0.03201811
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2015 0.03400118 0.03343592
2016 0.04122919 0.04040193

> par(mfrow=c(2,1))

> plot(gy, type="1", col="red", main="Exact Growth Rate vs. Approx. Growth
Rate of GDP")

> lines(gly, lwd=3, lty=6, col="green")

> plot(gc, type="1", col="red", main="Exact Growth Rate vs. Approx. Growth
Rate of Consumption")

> lines(glc, Iwd=3, lty=6, col="green")

Exact Growth Rate vs. Approx. Growth Rate of GDP
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(2) F2XE FE

1

dolg o] dRES F2E & 3ed dE =01, bl-ch2-7.R= A5t 2000

ddier 20109HH9] AR E 747 &2 4 U

bl-ch2-7.R9] A3A

> library(openxlsx)

> excel_samplel<-read xlsx("http://kanggc.iptime.org/book/data/samplel-n.xlsx")

> excel_samplel_dat<{- data.matrix(excel_samplel)

> year<{-excel_samplel_dat/[,1]

> gdp<-excel_samplel_dat[,2]

> consumption<{-excel_samplel_dat[,3]

> datal<-excel_samplel_dat[1:10,]

> datal

year gdp consumption
1 2000 635184.6 413461.2
2 2001 688164.9 460668.2
3 2002 761938.9 515616.0
4 2003 810915.3 535967.4
5 2004 876033.1 562020.2
6 2005 919797.3 602345.4
7 2006 966054.6 643408.0
8 2007 1043257.8 691740.4
9 2008 1104492.2 740804.6

10 2009 1151707.8 769588.6

> data2<-excel_samplel_dat[11:17,]

> data2
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year gdp consumption
11 2010 1265308 819821.2
12 2011 1332681 873522.7
13 2012 1377457 911938.2
14 2013 1429445 942267.2
15 2014 1486079 972925.0
16 2015 1564124  1006005.6
17 2016 1637421 1047482.4




J|IE22M
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ol & o]&st et 2gS 1 4 dEd oE £0°], bl-ch3-1L.RS A
StH 20009 5E 201697HA] $-2lu2te] GDP2F Consumption(4H])ol tigh A
HAzE O3 4 Stk

bl-ch3-1.R9] Az}

> csv_samplel<-"http://kanggc.iptime.org/book/data/csv_samplel.csv"

> csv_sample_dat<{- as.matrix(read.csv(csv_samplel,header =T),ncol=3)

> year<-csv_sample_dat/[,1]

> gdp<-csv_sample_dat[,2]

> consumption{-csv_sample_dat[,3]

> gdp
[1] 635184.6 688164.9 761938.9 810915.3 876033.1 919797.3
[7]1 966054.6 1043257.8 1104492.2 1151707.8 1265308.0 1332681.0

[13] 1377456.7 1429445.4 1486079.3 1564123.9 1637420.8

> consumption
[1]1 413461.2 460668.2 515616.0 535967.4 562020.2 602345.4
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[7] 643408.0 691740.4 740804.6 769588.6 819821.2 873522.7
[13] 911938.2 942267.2 972925.0 1006005.6 1047482.4

> par(mfrow=c(2,1)) # ¢ FHo|xo] O1H& ¢ ofH=E Yol 27
> plot(year, gdp, type="1", main="GDP of Korea(2000-2016)")

> plot (year, consumption, type="1", Ity = 2,main = "Consumption of
Korea(2000-2016)")

GDP of Korea(2000-2016)

o
o
o
8 4
o
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o v _]
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(o)) —
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3
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Consumption of Korea(2000-2016)
c o T
[ = L
5 &1 e
gE o 1 e
5 4
2 o1 e
8 o 1 ___.---mT777
° 3 T T T T
2
2000 2005 2010 2015
year

(2) S|IAETM

bl-ch3-2.R&  Astd  20009FE  2016@7HA]  <=uete]  GDPeF

Consumption(4&H])ol] i3t s|AEI}RS 18 4 Stk
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bl-ch3-2.R9] AlsyAat

> csv_samplel<-"http://kanggc.iptime.org/book/data/csv_samplel.csv"
> csv_sample_dat<{- as.matrix(read.csv(csv_samplel,header =T),ncol = 3)
> year<-csv_sample_dat[,1]
> gdp<-csv_sample_dat[,2]
> consumption{-csv_sample_dat[,3]
> gdp
[1] 635184.6 688164.9 761938.9 810915.3 876033.1 919797.3
[7] 966054.6 1043257.8 1104492.2 1151707.8 1265308.0 1332681.0
[13] 1377456.7 1429445.4 1486079.3 1564123.9 1637420.8
> consumption
[1] 413461.2 460668.2 515616.0 535967.4 562020.2 602345.4
[7] 643408.0 691740.4 740804.6 769588.6 819821.2 873522.7
[13] 911938.2 942267.2 972925.0 1006005.6 1047482.4

> par(mfrow=c(1,2)) # 3§ FHoJX|o] 18 & o] 19

> hist(gdp)

> hist(consumption, breaks=8, col="red") # 77t9] & g/= o
Histogram of gdp Histogram of consumption
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L2 HE 10,000709) AARE WE F S|AEIFS 127 st T

>set.seed(1234) # V29 A4 (dE FEo 1°]4 123°]4 300014 12345)& S}
of Zﬂoﬂ i in E'JH HEE dg & Qe g
>x<-rnorm(10000) # BEFAFEZZEE 10,000712 AEE A

EZ
>hist(x, breaks=100) # :rl to] 5 10022 ot& s|2EO}E I8

Histogram of x

100 200 200 400

Frequency

0

bl-ch3-3.R&  A¥sHH  20009FE  2016W7HA]  f2uEte] GDPt

Consumption(&H])o]l thgt AFZ % (scatter plot) & I8 4 Uth

bl-ch3-3.R9 AfA

> csv_samplel<-"http://kanggc.iptime.org/book/data/csv_samplel.csv"
> csv_sample_dat<{- as.matrix(read.csv(csv_samplel,header =T),ncol=3)
> year<-csv_sample_dat/[,1]

> gdp<-csv_sample_dat[,2]
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> consumption<-csv_sample_dat[,3]

> gdp

[1] 635184.6 688164.9 761938.9 810915.3 876033.1 919797.3
[7] 966054.6 1043257.8 1104492.2 1151707.8 1265308.0 1332681.0
[13] 1377456.7 1429445.4 1486079.3 1564123.9 1637420.8

> consumption

[1]1 413461.2 460668.2 515616.0 535967.4 562020.2 602345.4
[7] 643408.0 691740.4 740804.6 769588.6 819821.2 873522.7
[13] 911938.2 942267.2 972925.0 1006005.6 1047482.4

> plot(gdp, consumption, main="Scatter plot of GDp and Consunption")

Scatter plot of GDp and Consunption
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(4) &xtaei=

WAL (box plot) = ML OHIARAR(Q), FAF, FARAR(Q), A
% 5 57 eABATS ol8stel ARE RpHYSNE ez FAWYEeR T 7

oldel HAuS Aoz Hlusty] 4 FFol ok
BAaHEZE QN @F AZSHE AAE YA, I A Qo FRA4E UEU
e agH, e @, 283 ok HHHE Aoz ddste H
5719 &MBAFS] AXE wEsto] s F29 EAS
bl-ch3-4.R& A3t F7tiAH(mid), 71 3LAH(final),
dgzg 18 4 Qo

rr

bl-ch3-4.R9| A4

> library(openxlsx)

> samplel<-read.xlsx("http://kanggc.iptime.org/book/data/stat—1.xlsx", sheet=1,
startRow=1, colNames = T)

> mid<-samplel$mid

> final<-sample1%final

> total{-samplel$total

> grade<-samplel$grade

> summary (samplel)

mid final total grade
Min.  :12.00 Min. :10.00 Min. :27.70 Min.  :1.000
Ist Qu.:48.75 1st Qu.:36.00 1st Qu.:58.17 1st Qu.:2.750
Median :60.00 Median :55.00 Median :67.75 Median :4.000
Mean :59.58 Mean :52.08 Mean :67.04 Mean :3.783
3rd Qu.:69.25 3rd Qu.:70.50 3rd Qu.:79.45 3rd Qu.:5.000
Max. :98.00 Max. :93.00 Max.  :9545 Max. :8.000




> par(mfrow=c(1,3)) # 3§ FHo]X|o] 18-S 2 37] Lro] 18
> boxplot(mid, main="Box plot of mid")

> boxplot(final, main="Box plot of final")

> boxplot(total, main="Box plot of total")

Box plot of Test Score

o
O —]
- R — T
1
o : : |
o0 ] | :
1 1
o _|
@ T
1
T 1
o _] | :
< : ; |
! ! .
o _| | |
N P I, :
o -
I I I
mid final total

(5) |laelf=(Pie Chart)

A= (pie chart)E HA AAR7F o2 79 7He a2 BRI o)X= ZQ A
o] ZHe| B E Aol tigh v gof uhet ¥ WEHo wHAS Bt 3o|(pie) RY9
zxolty &, 7 HFo =40 FUAER] AV|E Y& B FHE gdste
v ol

bl-ch3-5.R& Al ZFH(total) e 87Me SHC=E Uiro] Yadi=zg Od¥

& 9k
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bl-ch3-5.R9| A4t

> library (openxlsx)

startRow =1, colNames = T)
> slices<-c(1,2,3,4,5,6,7,8)
> lblS<_C("1E%","2%%”’”3:%","4%%",“5%%","6: _in || 1::’_|| ||81: :L")

o H ol:l,

> pie(slices, labels=1bls, main="Pie Chart of Total Score")>

> samplel<-read xlsx("http://kanggc.iptime.org/book/data/stat-1.xlsx", sheet=1,

Pie Chart of Total Score

T

=
==
= 125
6=
=
=
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> library (openxlsx)

> samplel<-read xlsx("http://kanggc.iptime.org/book/data/stat—1.xlsx", sheet=1,
startRow =1, colNames = T)

> mid<-samplel$mid

> final<-samplel$final

> total<-samplel$total

> grade<-samplel$grade

> total

[1] 95.45 93.00 91.95 90.20 87.45 85.30 84.35 84.30 83.95 83.90 82.85
[12] 82.15 81.45 81.15 80.80 79.00 78.00 77.25 75.85 75.50 75.50 75.15
[23] 74.15 74.10 71.65 71.10 69.90 68.25 68.15 67.95 67.55 67.45 66.75
[34] 64.80 64.65 63.40 63.35 63.30 62.55 62.30 61.15 60.60 59.80 59.65
[45] 58.35 57.65 56.95 55.25 53.20 51.40 51.10 48.95 48.45 47.30 47.00
[56] 40.50 39.65 31.30 30.45 27.70

> grade
(11 11112222222222233333333333444444414
[35] 4 44444445555555556666677738

> counts<-table(total, grade)

> barplot(counts, main="Bar Chart of Total Score", xlab="Grade")
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Bar Chart of Total Score
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ES
5Ee 372, agw HRES Yo o] ARE QoREISE Yol U
o
o

F-%7] 2HZE s WHS WA 2AE A2 ARE A7) &Ad ot @
(columnize) 2 Ui, #= Fg 1 £AVE £ XY F7]o] ©3o] o BE
g 718st=d €71 U9 49 #HES A2 AREH 7] &A2 ZYdt

of W 7} &7|d] YR @2 #Z Fho] FojAW & E7|d F && dIoto] A
o= 49 0, 1, 2, 3, 48 7ISsta, A S+ 949 5,6, 7, 8, 95 7IEE &
UL

bl-ch3-7.R& AYstH F4 (tota) 22 A-E7] 1H=ZE I 4 Uth

bl-ch3-7.R9] A4

> library(openxlsx)

> samplel<-read.xlsx("http://kanggc.iptime.org/book/data/stat—1.xlsx", sheet=1,
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startRow=1, colNames = T)
> mid<-samplel$mid

> final<-sample1%final

> total{-samplel$total

> grade<-samplel$grade

> total

[1] 95.45 93.00 91.95 90.20 87.45 85.30 84.35 84.30 83.95 83.90 82.85
[12] 82.15 81.45 81.15 80.80 79.00 78.00 77.25 75.85 75.50 75.50 75.15
[23] 74.15 74.10 71.65 71.10 69.90 68.25 68.15 67.95 67.55 67.45 66.75
[34] 64.80 64.65 63.40 63.35 63.30 62.55 62.30 61.15 60.60 59.80 59.65
[45] 58.35 57.65 56.95 55.25 53.20 51.40 51.10 48.95 48.45 47.30 47.00
[56] 40.50 39.65 31.30 30.45 27.70

> stem(total)
The decimal point is 1 digit(s) to the right of the |

| 8

| 01

| 017789

| 1135788

| 00112333355778888
| 012445666789

| 11123444457

| 0235

© 00 3 O O » W DN

> stem(total, scale=0.5) # scale=0.52 3] 7|9 & 24

gk
al

S O
+ 9

il

The decimal point is 1 digit(s) to the right of the |

2 |1 801
4 | 0177891135788
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6 | 00112333355778888012445666789
8 | 111234444570235

>
> stem(total, scale=2) # scale=0.52 3] £7|9 4

i
B
ox.
ek
4
32
dlo

The decimal point is 1 digit(s) to the right of the |

8
01

|

|

|

| 01

| 7789

| 113

| 5788

| 001123333
| 55778888
| 01244

| 5666789

| 111234444
| 57

| 023

| 5

O© © 00 00 N N O O O O ix i W W DN

2. ggplot2& o|&# 13 2|7

ROl Algehe thekeh A% 2l w712 % shbl geplot2 W74 SlAED
A, AT 5 O $Re a%E 28 & U2 A A7), BE, A4 5=
Yol Y2 HHT 5+ Ao] grploTORE FR8) Uk AL BTk
.

Autetel wifih AAE XS aYew IaAL A
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bl-ch3-8.R9 AlsyZx}

install. packages("ggplot2")

library(ggplot2)
conl<-url("http://kanggc.iptime.org/book/data/Map.RData")
con2<-url("http://kanggc.iptime.org/book/data/mapJeju.RData")
load(conl)

load(con2)

ggplot() + geom_path(data=map, aes(x=long, y=1Iat, group=group))
ggplot() + geom_path(data =map.jeju, aes(x=Ilong, y=lat, group=group))

38 -

a9

37 -

35-

34 -

33-
126 128 130 132
long
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H3E 7I=EM _

33.5-

334-

lat

33.3-

33.2°
127.0

126.8

0
33.1- T T T
126.2 126.4 126.6
long

=

P
3. ZI=SAZ ALt
tloleld] F4E st TATLE e, AL, ANH 5ol Aed B
THTE 44 mean &4 E median F4E 0lEsto] & £ o ANIPE +
RSB 2 prettyRol=he H7IAE S8 72 4 AU
TAZeE MY, &4 2E2HA 50

of
o
-

=

of
)

g, dlole o] Eoix
olct
Maysta doleel 4 U Eolye =g 27

bl-ch3-9.R=

¥ 4 9l



54 _R7|Z ¥ SAIEN

bl-ch3-9.R9] AlsyZ}

> library(prettyR)

> ch2_1<-scan("http://kanggc.iptime.org/book/data/ch2_1.txt")
Read 50 items

> ch2_1

[1] 65 74 65 36 81 60 43 21 83 64 12 91 60 24 54 69 89 96 86 85 95 85
51

[24] 81 47 62 85 46 49 76 44 72 33 46 49 74 78 48 62 97 31 96 97 88 61
54

[47]1 89 77 72 35

> max(ch2_1)
[1] 97

> min(ch2_1)
[1] 12

> mean(ch2_1)
[1] 64.76

> diff (range(ch2_1))
[1] 85

> var(ch2_1)
[1] 490.88

> sd(ch2_1)
[1] 22.15581

> table(ch2_1) [table(ch2_1) [1:length(unique(ch2_1))] = =max(table(ch2_1))]
85
3

> median(ch2_1)
[1] 65




M3 7|I=Z=H

55

> Mode(ch2_1)
[1] "85"

> bins<-c(0, 12, 24, 36, 48, 60, 72, 84, 97)
> class<-cut(ch2_1, breaks=bins)

> table(class)
class
(0,12] (12,24] (24,36] (36,48] (48,60] (60,72] (72,84] (84,971
1 2 4 6 7 9 8 13

> table(class)/length(ch2_1)

class

(0,12] (12,24] (24,36] (36,48] (48,601 (60,72] (72,84] (84,971
0.02 0.04 0.08 0.12 0.14 0.18 0.16 0.26

> transform(table(class), Rel_Freq=prop.table(Freq))
class Freq Rel_Freq
1 (0,12] 1 0.02

2 (12,24] 2 0.04
3 (24,36] 4 0.08
4 (36,48] 6 0.12
5 (48,60] 7 0.14
6 (60,72] 9 0.18
7 (72,84] 8 0.16

8 (84,971 13 0.26

> hist(ch2_1)

> hist(ch2_1, breaks=bins, main="Test Scores", xlab="Score")
> summary (ch2_1)

Min. 1st Qu. Median Mean 3rd Qu. Max.
12.00 4825 6500 6476 8450 97.00
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> #AK=c(70, 17, 8, 3, 2)

> BAAUU-c("FE", WG, "aeT1E", "EEA, "HE")
> AR A< -paste(FBAAY, +3])

> AR U< -paste(BAAY, "%", sep="")

> pie(£3], labels=AAAY, col =rainbow(length(AAA)), main="7A712 =

4"

Frequency

Histogram of ch2_1 o Test Scores
8
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>
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S} 1 (geometric mean) E°| UTh
n7fe] Mol et Haso TS W A neE U Flolth
X
~ X1+X2+ """ +Xn i=1 !
o n o n

23PFL e Faol sl 1 A4S HEFRT A9 A4E WA, of

dE& Eol, ASZA7t S 10kmE A4 30km=E €23, TS 10kmE A&

60km= RS B¢ FAAIES AEFAQ! 45km/h7t oby il 23HE Q1 40km/h

£ 501, 20149 5F 2017971219 A3s7t thgol 2o e W U=
vivl &S sk 4 120%, 130%, 118%7F =+=dl ©] 3% 2014¥5F¥ 2017497
Ao AP A4LF7HES AreEEHQ] 122.67°] ofYal 7lstgE ]l 122.560!H 1

olgt 2014¥RE AEYFOR T3 AYF Z718S W Foto] 20179 A7
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FolRT 92087o] wlo] AAIT 92043} Aolz} WS sletPEoR Lot
AP 27HeS ol Fohol 20179 AFE TR 9204%o] Ho] AlA|ITe
zdeiA Hek

stEdel 44 %o shis 3z
Azdrel Ao Hogy glo
ettt ol

HERe SFITA ot 25 Yo
W Theel Mol ofs) ABF F71E Aol 7t

G=(FZEAR 1), ne HEES e

A= | Q7 | AGGHEE®) | ¥ x AdEaT | ¢ x A9EAT
2014 5000 - - -
2015 6000 120 6133 6128
2016 7800 130 7523 7510
2017 9204 118 9228 9204

- - - X=122.67 G =122.56

bl-ch3-10.R& AdstH Aedd, 2PF+, 7IstgdS 44 72 &+ Atk

bl-ch3-10.R9] AlgAx}

> a<-c(10, 2, 19, 24, 6, 23, 47, 24, 54, 77)

> n<-length(a) # now n is equal to the number of elements in a

> mean(a)
[1] 28.6

> 1/mean(1/a) # compute the harmonic mean
[1] 10.01109

> prod(a)~(1/n) # compute the geometric mean
[1] 18.92809
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> b<-c(30,60)

> mean(b)
[1] 45

> 1/mean(1/b)
[1] 40

> ¢c<-c(120,130,118)
> m<-length(c)

> round(mean(c),digits =2)
[1] 122.67

> round(prod(c)”(1/m),digits=2)
[1] 122.56

> g<-((9204/5000)"(1/3)-1)*100
> round(g, digits=2)
[1] 22.56 # AW F7FE0] 2256592 UEH

= SL= A ru ] — |
5, F EEHTo IEU
T oty gENS FEREZRIF O3 Zo] FolA S BF olF 0]&5H
= stgusol A7e) Bl % SEHs] BRAS 78 4 A0
X Y 0 1 2 &
1 1/6 1/12 1/12 1/3
3 1/12 1/2 1/12 2/3
3 1/4 7/12 1/6 1




bl-ch3-11.RS AlstH F EEHSF 7
W0l FERA U ABALE ZH7F e £ QL

=
n

Ak

bl-ch3-11.R9] Ala)Axt

> data<-c(0.167, 0.083, 0.083, 0.333, 0.083, 0.5, 0.083, 0.667, 0.25, 0.583,

0.167, 1)
> mat<{-matrix(data, nrow=3, byrow=T)
> rownames(mat)<-c("1", "3", "A")
> colnames(mat)<-c("0", "1", "2", "§A")
> mat
0 1 2 A
1 0.167 0.083 0.083 0.333
3 0.083 0.500 0.083 0.667
A 0.250 0.583 0.167 1.000
> mu_x<-1*mat[1,4] + 3*mat[2,4]

> mu_y<-0*mat[3,1] + 1*mat[3,2] + 2*mat[3,3]

> mu_x

[1] 2.334

> mu_y
[1] 0.917

> var_x<-1"2*mat[1,4] + 3"2*mat[2,4] - mu_x"2

> var_y<-0"2*mat[3,1] + 1"2*mat[3,2] + 2"2*mat[3,3] -mu_y”"2

> var_x

[1] 0.888444
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> var_y
[1] 0.410111

> p_xy<-c(0.167, 0.083, 0.083, 0.083, 0.5, 0.083)
> xy<-c(0,1,2,0,3,6)
> cov_xy<-sum(p_xy*xy)-(mu_x*mu_y)

> COV_XY
[1] 0.106722

> corr_xy<-cov_xy/sqrt(var_x*var_y)

> corr_xy
[1] 0.1768024
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2. HIZ5O0|2=E

ARollM A7t & 9 shuE yehde A3dE =0l Al (Bernoulli trial)
olgtx sty 1 5 AT (success: s)olzt stal o2 shE Aldf (failure:
f)eka 7ottt

ueha H2Ro] A2 A At s B f Q SEAOIFGL & 4 3o,
FEITE Q= {s, {}7F Hrh o] A™delM A7t sE gl ptd FE9 7129
gjol] oJsto] AR} L FES 1—p°lE}.

H|250] Aol A A7t solH ‘1’0ol Ayt fo]H ‘0’ olgta HojH FEW
$E HlE2Ro] FEHS,EA st W20 gEHS X9 FEREE e ZAth
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YT AYe Fobs] WrES wff oF Abzdof thisto] A =4l oJsto] ALbE g
2 a7A Qu|9 g8 HIdua & £ Qv S YA= Ade 1 At
d SiH ol fledl sHe 9Ae Ade FE9] RiEstE s ool o
Lo &L 0562 HAILAoR YT

bl-ch4-1.R9] A Az}

> set.seed(12345)
> x<-rbinom (1000, 1, .5)
> (table(x))
X
0 1
469 531

> (mean(x))
[1] 0.531

> cx{—cumsum/(x)

> heads<-numeric(1000)
> for (i in 1:1000) {

+  headsli]<-cx[il/i

+ )

> plot(heads, type="1", xlab="Number of Trials", ylab="Proportion of Heads",

ylim=¢(0,1), main="Proportion of Heads")
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Proportion of Heads
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bl-ch4-2.RE Al8YsHH nit poll whe}t ool mako
e, p=0.5°1a no] A wl o] Pzt

1
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bl-ch4-2.R9] Al3yZ}

set.seed(12345)

r<-10000

binom1<-rbinom(r, 10, 0.1)
binom2<~-rbinom(r, 10, 0.5)
binom3<-rbinom(r, 20, 0.5)

par(mfrow=c(1,3))
hist(binom1, breaks=100, xlab="n=10 p=0.1")

hist(binom?2, breaks=100, xlab="n=10 p=0.5")
hist(binom3, breaks=100, xlab="n=20 p=0.5")

Histogram of binom1 Histogram of binom2

8 B -

3 1 1]
g -
P E E E
g -
g -
g_
o J || o |

n=10 p=0.1 n=10 p=0.5

Histogram of binom3

1000
|
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n=20 p=0.5
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bl-ch4-3.R& AAsHH no] Foix AJejoll A poll wzt o]

o
[e)
BAT 4 Aowl, p=050l g5 HeriY] FFRIE SAY

bl-ch4-3.R9 AlsyZ}

par(mfrow=c(2,2)) # g #Ho|X|o] 18 =4t sty 4718 18
> par(mfrow=c(2,2))

> n<-25 # Agi3l5

p_list<-c(0.1, 0.2, 0.5, 0.7) # H¥EE

> for (i in 1:length(p_list)) {

+ p_x<-dbinom(x=1:n, n, p_list[i])
+ plot(x=1:n, p_x, xlab="x", ylab="P(X=x%)",
+ ylim=c(0, 0.3), xli .... [TRUNCATED]
p=0.1 p=0.2

P(X=x)

0.00 0.15 0.30
[
P(X=x)

0.00 0.15 0.30
[

I TTTQOOOOOOOOOOOOOOOOOOO QTTITTTT?OOOOOOOOOOOOOOOO

1 1 1 T T 1 1 1
5 10 15 20 25 5 10 15 20 25

p=0.5 p=0.7

P(X=x)

0.00 0.15 0.30
[ B |
P(X=x)

0.00 0.15 0.30
[ B |

ooooooo?TﬂNTTT%MNNO ooooooowooo?TTH?HTT%N

T T T T T T T T T
5 10 15 20 25 5 10 15 20 25




no] 5013 JF&E prt 5o B Ze wf FolR AJFFECIAN thEHt 2ol 5

B ARste oWl AdEshe FARES 7Y & AT
P(X<a)= )Y, Pz)
z=0

a 0.10 0.20 0.30 0.40 0.50 0.60 0.70 0.80 0.90 0.95

0 .990 .328 .168 .078 .031 .010 .002 .000 .000 .000

1 .919 137 .528 337 .187 .087 .031 .007 .000 .000

2 991 942 .837 .683 .500 317 163 .058 .009 .001

3 1.00 .993 .969 914 .813 .663 472 .263 .081 .023

4 1.00 1.00 .998 .990 .969 .922 .832 672 .410 .226

bl-ch4-4R& At flof FUT FHOIFHEZEZRE Us & Ses Y
g & 3k

bl-ch4-4.Re] A& At

> binom11<-rep(NA,5)

> binom12<-rep(NA,5)

> binom13<-rep(NA,5)

> binom11[1]<-pbinom(0, 5, 0.1)
> binom12[1]<-pbinom(0, 5, 0.2)
> binom13[1]<-pbinom(0, 5, 0.3)
> for(i in 2:5) {

+  binoml1[i]<-pbinom(i-1, 5, 0.1)
+ }
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> for(i in 2:5) {

+  binom12[i]<-pbinom(i-1, 5, 0.2)

+ }

> for(i in 2:5) {

+  binom13[i]<-pbinom(i-1, 5, 0.3)

+ }

> (binom<-cbind(binom11,binom12, binom13))
binomll binoml?2 binoml3

[1,] 0.59049 0.32768 0.16807

[2,] 0.91854 0.73728 0.52822

[3,] 0.99144 0.94208 0.83692

[4,] 0.99954 0.99328 0.96922

[5,] 0.99999 0.99968 0.99757

> source('~/.active-rstudio—document', echo=TRUE)

> binom11<-rep(NA,5)

> binom12<-rep(NA,5)

> binom13<-rep(NA,5)

> binom14<-rep(NA,5)

> binom15<-rep(NA,5)

> binom16<-rep(NA,5)

> binom17<-rep(NA,5)

> binom18<-rep(NA,5)

> binom19<-rep(NA,5)

> binom11[1]<-pbinom(0, 5, 0.1)
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> binom12[1]1<-pbinom(0, 5, 0.2)

> binom13[1]1<-pbinom(0, 5, 0.3)

> binom14[1]1<-pbinom(0, 5, 0.4)

> binom15[1]1<-pbinom(0, 5, 0.5)

> binom16[1]1<-pbinom(0, 5, 0.6)

> binom17[1]1<-pbinom(0, 5, 0.7)

> binom18[1]1<-pbinom(0, 5, 0.8)

> binom19[1]1<-pbinom(0, 5, 0.9)

> for(i in 2:5) {

+  binoml11[il<-pbinom(i-1, 5, 0.1)
+ }

> for(i in 2:5) {

+  binom12[i]<-pbinom(i-1, 5, 0.2)
+ }

> for(i in 2:5) {

+  binom13[i]<-pbinom(i-1, 5, 0.3)
+ }

> for(i in 2:5) {

+  binom14[i]<-pbinom(i-1, 5, 0.4)
+ }

> for(i in 2:5) {

+  binom15[i]<-pbinom(i-1, 5, 0.5)
+ }
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binom13,binom14,binom15,

binoml6 binoml7 binoml8

> for(i in 2:5) {

+  binoml6[i]<-pbinom(i-1, 5, 0.6)

+ }

> for(i in 2:5) {

+  binoml7[i]<-pbinom(i-1, 5, 0.7)

+ }

> for(i in 2:5) {

+  binoml18[i]<-pbinom(i-1, 5, 0.8)

+ }

> for(i in 2:5) {

+  binom19[i]<-pbinom(i-1, 5, 0.9)

+ }

> round ((binom<-cbind (binom11,binom12,

binom16,binom17,binom18, binom19)),digits=3)
binomll binoml2 binoml3 binoml4 binoml5

binom19

[1,] 0590 0.328 0.168 0.078 0.031 0.010

[2,] 0919 0.737 0.528 0.337 0.187 0.087

[3,] 0991 0942 0.837 0.683 0500 0.317

[4,] 1.000 0993 0969 0913 0.812 0.663

[5] 1.000 1.000 0998 0.990 0.969 0.922

0.002  0.000  0.000
0.031 0.007 0.000
0.163  0.058 0.009
0.472 0.263 0.081
0.832 0672 0.410

O] %1\33}% Q")l\—% ol = =Nl —1@
she mEAD 49 BEU Aol 54
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o}

> poil<-ppois(0, 5.0) # FTo| 53] ZolLEIZAM P(x=0)¥ &
> poil

[1] 0.006737947

@ oj= & aFARAZE 31 o] dold FE

=HE

rlo

Aufe17}?

> poi2<-1-(ppois(2, 5.0)) # Hdo| 53] ZolHEIZoA 1-P(x<3)¥ &&

> poi2
[1] 0.875348
ZotFEZNM Hes FHit polw, ZopFEZ] P2 polil, EAE polth
ZotSE 2] BYFL Fyto] A5 Wl FHeHtiAolu Fto] Friedel wet B
THLR FeUA] BFo R Rt F, FEZA A, B4R A,
bl-ch4-5R& A¥sH Fat poll whet ZopFEZ ) mgo] Wt Zs AT
 Rew, Fit prt AR W FHeUA Y E2o 7R Ae FAE & Ath

bl-ch4-5.R9| AAnt

set.seed(12345)

n<-10000;
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poi025<-rpois(n, 0.25)
poil<-rpois(n, 1)
poi2<-rpois(n, 2)
poi4<-rpois(n, 4)

par(mfrow=c(2,2))

hist(poi025, breaks=100, xlab="mu=0.25")
hist(poil, breaks=100, xlab="mu=1.0")
hist(poi2, breaks=100, xlab="mu=2.0")
hist(poi4, breaks=100, xlab="mu=4.0")

Histogram of poi025 Histogram of poi1
o
o
(=}
> @ >
g 2 o
() 8 [ o
=] (=] =] 8
g v i g H
w w
Il o
e I T T T 1 e I T T T T T T 1
0 1 2 3 4 0 1 2 3 4 5 6
mu=0.25 mu=1.0
Histogram of poi2 Histogram of poi4
=) 8
(=] o
g o “ S g H H
g o o &
Bl = 14 |
o H . R H [l o
I T T 1 I T T T T T T 1
0 2 4 6 8 0 2 4 6 8 10 12
mu=2.0 mu=4.0

bl-ch4-6.RS MASHH Bt uoll wet HopsEEo| mefo] Mt 22
o
o

& gon, w7t ARASE HoUYY ARzl

bl-ch4-6.R9] AAt

> par(mfrow=c(2,2)) # § Ho|X|o] 1HE FAst shirl 4718 19

> lambda_list<-c(3, 5, 10, 15) # B
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> x_list<-30 #

> for (i in 1:length(lambda_list)) {

158 xZo| Rolz g

+ p_x<~dpois(x=0:x_list,lambda_list[i])
+ plot(x=0:x_list, p_x, xlab="x", ylab="P(X=x)", ylim=c(0, 0.25), ....
[TRUNCATED]
lambda= 3 lambda= 5
§ S 5
g o
§ : TT TTT?QOOOOOOO 2090000900000 § Q?TKHITTTTQOOoooooooooooooooo 9
0 5 10 15 20 25 30 0 5 10 15 20 25 30
X X
lambda= 10 lambda= 15
P e
g ] g ]
8 : OooOQTTTTTTTTTT??QOQOOOO CETTLE 8 : f‘JOO00(‘10QQ?TTTTTTTTTTT??QO?OOO 2
0 5 10 15 20 25 30 0 5 10 15 20 25 30
X X
(2) ZolSEEO HAEREE
Bt pZF B9 #et S uf oj' Abfdo] TAE = 349 RHSES £ £
s
P(X<c)= 3 P 719k
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c 0.02 0.04 0.06 0.08 0.10 0.20 0.30 0.40
0 0980 0961 0942 0923 0905 0819 0741 0.670
1 1.000 0999 0998 0997 0995 0982 0963 0.938
2 1.000  1.000  1.000 1000  1.000  0.999 0996  0.992
3 1.000  1.000 1000 1000  1.000  1.000  1.000  0.999
4 1.000  1.000 1000 1000  1.000  1.000  1.000  1.000

bl-chd-7R& Ayt sk T wHZSHERERE UWs &+ SUe= &
qE & Ak

bl-ch4-7.R9] Al )

> poill<-rep(NA,5)

> poil2<-rep(NA,5)

> poil3<-rep(NA,5)

> poild<-rep(NA,5)

> poil5<-rep(NA,5)

> poil6<-rep(NA,5)

> poil7<-rep(NA,5)

> poil&<-rep(NA,5)

> poill[1]1<-ppois(0, 0.02)

> poil2[1]<-ppois(0, 0.04)

> poil3[1]<-ppois(0, 0.06)

> poild[1]<-ppois(0, 0.08)
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> poil5[1]<-ppois(0, 0.1)

> poil6[1]<-ppois(0, 0.2)

> poil7[1]<-ppois(0, 0.3)

> poil8[1]1<-ppois(0, 0.4)

> for(i in 2:5) {
+ poill[il<-ppois(i-1, 0.02)
+ }

> for(i in 2:5) {
+ poil2[i]<-ppois(i-1, 0.04)
+ }

> for(i in 2:5) {
+ poil3[i]<-ppois(i-1, 0.06)
+ }

> for(i in 2:5) {
+ poil4[i]<-ppois(i-1, 0.08)
+ }

> for(i in 2:5) {
+ poilb[i]<-ppois(i-1, 0.1)
+ }

> for(i in 2:5) {
+ poil6[i]<-ppois(i-1, 0.2)
+ }

> for(i in 2:5) {
+ poil7[i]<-ppois(i-1, 0.3)
+ }

> for(i in 2:5) {




H4E o|2X EEEE 79

+  poil8lil<-ppois(i-1, 0.4)
+ }

> round((poi<-cbind(poill,poil2,poil3,poild,poil’,poil6,poil7,poil8)),digits = 3)
poill poil2 poil3 poild poil5 poil6 poil7 poil&

[1,] 0.98 0.961 0.942 0.923 0.905 0.819 0.741 0.670

[2,] 1.00 0.999 0.998 0.997 0.995 0.982 0.963 0.938

[3,] 1.00 1.000 1.000 1.000 1.000 0.999 0.996 0.992

[4,] 1.00 1.000 1.000 1.000 1.000 1.000 1.000 0.999

[5,] 1.00 1.000 1.000 1.000 1.000 1.000 1.000 1.000

TS 8 3Z (uniform distribution) = A& EZoA 7PE dast Exdgz EF

77 vel gl e si5ol #5e R Wk

A&y HEUS XF AT [ablolA UE Jhsdol 25 ), X: 25
22 weta s X~Ub)2 TR

X9 FEYEFSE thest 2t

1 a< X<b
f@)=yb—a’" — 7
0, 2 el A
SEUS X7F X~UGbea & o, x| gze L0 pue %(zm)? oty

bl-ch4-8RE Al¥stH X~U(1,2), X~U(2,4), X~U(4,8), X~U(510)°1A X

b 27 AeTzeld Uehd bsAel #5RE AT 4 %nr.
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bl-ch4-8.R9 Al )

set.seed(12345)
n<-10000;

min_list<-c(1,2,4,5)
max_list<-c(2,4,8,10)
par(mfrow=c(2,2))

unif1<-runif(n, min=1, max=2)
unif2<-runif(n, min=2, max=4)
unif3<-runif(n, min=4, max=_8)

unif4<-runif(n, min=>5, max=10)

(munif1<{-mean(unif1))
(munif2<-mean (unif2))
(munif3<{-mean (unif3))
(munif4<-mean(unif4))

(vunif1<-var (unif1))
(vunif2<-var (unif2))
(vunif3<-var (unif3))
(vunif4<-var(unif4))

for (i in 1:length(min_list)) {
hist(runif(n, min=min_list[i], max=max_list[i]), freq=F, breaks=100,
xlab="x", main=paste("min =", min_list[i], " max =", max_list[i]))

}
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SgHS X7t B a9 BA 022 2 AFEZE BEDW X - Nuod) Bm
wdst, X FEUEFLE ohey 2o
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1 ﬁ(ac*u)
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EHS Z7F Beol 00lar B4kl 1°] AHEEZE e U Z& ESHTEEZE
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z7} 0.4501% 0F¥ z7tA]9] g&2 0.1736°] Hth

z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 | 0.0000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.0359
0.1]0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.0636 0.0675 0.0714 0.0753
0.2 0.0793 0.0832 0.0871 0.0910 0.0948 0.0987 0.1026 0.1064 0.1103 0.1141
0.3 | 0.1179 0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517
0.4]01554 0.1591 0.1628 0.1664 0.1700 0.1736 0.1772 0.1808 0.1844 0.1879
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bl-ch4-9.R& Aot fjot TYS BRAHFEZRE s £ UASS AT £
AT
bl-ch4-9.Re| Ale§ Azt
> z00<-rep(NA,10)
> z01<-rep(NA,10)
> z02<-rep(NA,10)
> z03<-rep(NA,10)
> z04<-rep(NA,10)

> for(i in 1:10) {
+  z00[il<-pnorm((i-1)/100, 0, 1)-0.5
+ }

> (z00<-round(z00, digits=4))
[1] 0.0000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.0359

> for(i in 10:19) {
+  z01[il<-pnorm(i/100, 0, 1)-0.5
+ }

> (z01<-round(z01[10:19], digits=4))
[1] 0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.0636 0.0675 0.0714 0.0753

> for(i in 20:29) {
+  z02[i]<-pnorm(i/100, 0, 1)-0.5
+ }

> (202<-round(z02[20:29], digits=4))
[1] 0.0793 0.0832 0.0871 0.0910 0.0948 0.0987 0.1026 0.1064 0.1103 0.1141

> for(i in 30:39) {
+  z03[i]J<-pnorm(i/100, 0, 1)-0.5
+ }

> (203<-round(z03[30:39], digits=4))
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[1] 0.1179 0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517

> for(i in 40:49) {
+  z04[i]<-pnorm(i/100, 0, 1)-0.5
+ }

> (204<-round(z04[40:49], digits=4))
[1] 0.1554 0.1591 0.1628 0.1664 0.1700 0.1736 0.1772 0.1808 0.1844 0.1879

> zdist<{-rbind(z00,z01,z02,z03,z04)

> (zdist{-round(zdist, digits=4))

11 L2l (31 [4] [51 L6l [L71 [81 [9] [10]
z00 0.0000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.0359
z01 0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.0636 0.0675 0.0714 0.0753
z02 0.0793 0.0832 0.0871 0.0910 0.0948 0.0987 0.1026 0.1064 0.1103 0.1141
z03 0.1179 0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517
z04 0.1554 0.1591 0.1628 0.1664 0.1700 0.1736 0.1772 0.1808 0.1844 0.1879

bl-ch4-10.RE AlstH A{=7F 59 *-E3Z 9 densitys: 238F3 Y=t

=
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bl-ch4-10.R9] Al3Ax}

set.seed(12345)
n<-10000;
z1<-rnorm(n,0,1)
z2<-rnorm(n,0,1)
z3<-rnorm(n,0,1)
z4<-rnorm(n,0,1)
z5¢-rnorm(n,0,1)

chib<-z1"2+ 2272+ 2372 + 24”2+ 2z5"2

hist(chib, freq=F, col="grey", xlab="", xlim=c(0, 25), breaks=100)

par(new=T)

plot(density(chi5), axes=F, main="", xlim=c(0, 25), lwd=2, col="blue")

Histogram of chi5
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bl-ch4-11.R< A¥stH 247 Af=7t 5, 10, 20, 3091
2

X
to gl whet (2 -REo] mefo] Wak: 2L AT 4 otk

bl-ch4-11.R9] AlsyAx}

> set.seed(12345)

> n<-10000;

> df_list<-c(5,10,20,30)

> par(mfrow=c(2,2))

> for (i in 1:length(df list)) {

+ hist(rchisq(n, df=df list[i], ncp=0), breaks=100, xlab="chisq",
main=paste("df =", df _list[i]))
+ }
df=5 df=10
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bl-ch4-12.RQ] Ald8Z}

> n_list<-c(2,5,7,9) # BEE$(n)
> df_list<-n_list-1 # AF{=

> curve(dchisq(x, 1, ncp=0), add=T, col="blue", xlim=c(0,
0.8), xlab="chisq", ylab="f(chisq)")

> curve(dchisq(x, 4, ncp=0), add=T, col="red", xlim=c(0,
0.8), xlab="chisq", ylab="f(chisq)")

> curve(dchisq(x, 6, ncp=0), add=T, col="green", xlim=c(0,
0.8), xlab="chisq", ylab="f(chisq)")

> curve(dchisq(x, 8, ncp=0), add=T, col="black", xlim=c(0,
0.8), xlab="chisq", ylab="f(chisq)")

> par(mfrow=c(2,2))

> for (i in 1:length(df list)) {
+

xlab="chisq", ylab="f(chisq)", mai .... [TRUNCATED]

16),

16)7

16),

16))

+  curve(dchisq(x, df_list[i]l, ncp=0), add=F, xlim=c(0, 16), ylim=c(0, 0.8),

ylim=c(0,

ylim = c(0,

ylim =c (0,

ylim =c (0,
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A= P=0.99 0.95 0.90 0.10 0.05 0.01
1 0.000157 0.00393 0.0158 2.706 3.841 6.635
2 0.0201 0.103 0.211 4.605 5.991 9.210
3 0.115 0.352 0.584 6.251 7.815 11.341
4 0.297 0.711 1.064 7.779 9.488 13.277
5 0.554 1.145 1.610 9.236 11.070 15.086
6 0.872 1.635 2.204 10.645 12.592 16.812
7 1.239 2.167 2.833 12.017 14.067 18.475
8 1.646 2.733 3.490 13.362 15.507 20.090
9 2.088 3.325 4.168 14.684 16.919 21.666
10 2.558 3.940 4.865 15.987 18.307 23.209
11 3.053 4.575 5.578 17.275 19.675 24.725
12 3.571 5.226 6.034 18.549 21.026 26.217
13 4.017 5.892 7.042 19.812 22.362 27.688
14 4.660 6.517 7.790 21.064 23.685 29.141
15 5.229 7.261 8.547 22.307 24.996 30.578
16 5.812 7.962 9.312 23.542 26.296 32.000
17 6.408 8.672 10.085 24.769 27.587 33.409
18 7.015 9.390 10.865 25.989 28.869 34.805
19 7.633 10.117 11.651 27.204 30.144 36.191
20 8.260 10.851 12.443 28.412 31.410 37.566
21 8.897 11.591 13.240 29.615 32.671 38.932
22 9.542 12.338 14.041 30.813 33.924 40.289
23 10.196 13.091 14.848 32.007 35.172 41.638
24 10.856 13.848 15.659 33.196 36.415 42.980
25 11.524 14.611 16.473 34.382 37.652 44.314
26 12.198 15.379 17.292 36.563 38.885 45.642
27 12.879 16.151 18.114 36.741 40.113 46.963
28 13.565 16.928 18.939 37.916 41.337 48.278
29 14.256 17.708 19.768 39.087 42.557 49.588
30 14.953 18.493 30.599 40.256 43.773 50.892
bl-ch4-13RE Aok 9ist BYT (*-RIRES VE 5 USS IAIT & A
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bl-ch4-13.R9] AlgAx}

> df<-30

> chil<-numeric(df)

> chi2<-numeric(df)

> chi3<-numeric(df)

> chi4<-numeric(df)

> chib<-numeric(df)

> chi6<-numeric(df)

> for(j in 1:df) {

+  chil[jl<-qchisq(0.01,j)
+ )

> for(j in 1:df) {

+  chi2[j1<-qchisq(0.05,j)
+ }

> for(j in 1:df) {

+  chi3[jl<-qchisq(0.1,j)

+ }

> for(j in 1:df) {

+  chid[jl<-qchisq(0.9,))

+ }

> for(j in 1:df) {

+  chi5[jl<-qchisq(0.95,)

+ )

> for(j in 1:df) {
+  chi6[j1<-qchisq(0.99,j)
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> round((chi<-cbind(chil,chi2,chi3,chi4,chi5, chi6)),digits=4)

(1]

(2,1

(3]

(4,

(5]

(6,1

(7]

(8,]

[9,]
[10,]
[11,]
[12,]
[13,]
[14,]
[15,]
[16,]
[17.]
[18,]
[19,]
[20,]
[21,]
[22,]
[23,]
[24,]
[25,]
[26,]
[27,]
[28,]
[29,]
[30,]

chil
0.0002
0.0201
0.1148
0.2971
0.5543
0.8721
1.2390
1.6465
2.0879
2.5582
3.0535
3.5706
4.1069
4.6604
5.2293
5.8122
6.4078
7.0149
7.6327
8.2604
8.8972
9.5425
10.1957
10.8564
11.5240
12.1981
12.8785
13.5647
14.2565
14.9535

chi2
0.0039
0.1026
0.3518
0.7107
1.1455
1.6354
2.1673
2.7326
3.3261
3.9403
4.5748
5.2260
5.8919
6.5706
7.2609
7.9616
8.6718
9.3905
10.1170
10.8508
11.5913
12.3380
13.0905
13.8484
14.6114
15.3792
16.1514
16.9279
17.7084
18.4927

chi3
0.0158
0.2107
0.5844
1.0636
1.6103
2.2041
2.8331
3.4895
4.1682
4.8652
5.5778
6.3038
7.0415
7.7895
8.5468

chi4 chib chi6
2.7055 3.8415 6.6349
4.6052 59915 9.2103
6.2514 7.8147 11.3449
7.7794 9.4877 13.2767
9.2364 11.0705 15.0863
10.6446 12.5916 16.8119
12.0170 14.0671 18.4753
13.3616 15.5073 20.0902
14.6837 16.9190 21.6660
15.9872 18.3070 23.2093
17.2750 19.6751 24.7250
18.5493 21.0261 26.2170
19.8119 22.3620 27.6882
21.0641 23.6848 29.1412
22.3071 24.9958 30.5779

0.3122 23.5418 26.2962 31.9999

10.0852
10.8649

24.7690 27.5871 33.4087
25.9894 28.8693 34.8053

11.6509 27.2036 30.1435 36.1909

12.4426

28.4120 31.4104 37.5662

13.2396 29.61561 32.6706 38.9322

14.0415
14.8480
15.6587

30.8133 33.9244 40.2894
32.0069 35.1725 41.6384
33.1962 36.4150 42.9798

16.4734 34.3816 37.6525 44.3141
17.2919 35.5632 38.8851 45.6417
18.1139 36.7412 40.1133 46.9629

18.9392
19.7677
20.5992

37.9159 41.3371 48.2782
39.0875 42.5570 49.5879
40.2560 43.7730 50.8922
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set.seed(12345)

n<-10000;

z<-rnorm(n,0,1)

z1<-rnorm(n,0,1)

z2<-rnorm(n,0,1)

z3<-rnorm(n,0,1)

z4<-rnorm(n,0,1)

z5<-rnorm(n,0,1)

chib<-z1"2+ 2272+ 232 + 24”2+ 25”2
sqchi5<-sqrt(chi5/5)

t5<-z/sqchib

hist(t5, breaks=100)

Histogram of t5

Frequency
400 600 800
1 1 ]

200
Il




bl-ch4-15.R& At 7tz A{=7t 5, 10, 15, 309! t-EX & 18F2 Y&
ol AFfEol wet -REe] morol Weks AS SRIY 4 otk
bl-ch4-15.R9] Aai Azt
> n<-10000;
> df_list<-c(5,10,15,30)
> par(mfrow=c(2,2))
> for (i in 1:length(df_list)) {
+  hist(rt(n, df=df_list[i], ncp=0), breaks=100, xlab="t", main=paste("df=",
df_list[il))
df= df=10
5 0 5 10 -6 -4 2 0 2 6
t t
df=15 df= 30
SNy Wiy -
T T 1 [ T T T 1
0 2 4 4 2 0 2 4
t t
t-FEZ = A7t BeolBnE AFEo] 7)o wel Bxo] Pzt debxinh
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> n_list<-c(2,5,10,30) # EE4(n)
> df_list<-n_list-1 # AHf%=

> curve(dt(x, 1, ncp=0), add=T, col="blue", xlim=c(-4, 4), ylim=c(0, 0.5),
xlab="t", ylab="f(t)")

> curve(dt(x, 4, ncp=0), add=T, col="red", xlim=c(-4, 4), ylim=c(0, 0.5),
xlab="t", ylab="f(t)")

> curve(dt(x, 9, ncp=0), add=T, col="green", xlim=c(-4, 4), ylim=c(0, 0.5),
xlab="t", ylab="f(t)")

> curve(dt(x, 29, ncp=0), add=T, col="black", xlim=c(-4, 4), ylim=c(0, 0.5),
xlab="t", ylab="f(t)")

> par(mfrow=c(2,2))

> for (i in 1:length(df list)) {

+

+ curve(dt(x, df_list[i]l, ncp=0), xlim=c(-4, 4), ylim=c(0, 0.5), xlab="t",
ylab="f(t)", main=paste("df=", df .... [TRUNCATED]

05

0.2
|

0.1

0.0
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df=1 df= 4
4 2 0 2 4 -4 -2 0 4
t t
df=9 df= 29
S - /\ S - A
4 2 0 2 4 -4 -2 0 4
t t
(2) =X BETEH
t-2ZE A= n-lof wet B2 ey ttERE A7bo] ARk 4l gEof u
2 t- 8329 Fo] that Zo] FoiA Sl
AF=7F 59 W £y, =2.015 QIEl ol P(T=2.015)=0.05 & Ju]gtth
L 0.1 0.05 0.025 0.01 0.005
1 3.078 6.314 12.706 31.821 63.657
2 1.886 2.920 4.303 6.965 9.923
3 0.1638 2.353 3.182 4.541 5.841
4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707
7 1.415 1.895 2.365 2.998 3.499
8 1.397 1.860 2.306 2.896 3.355
9 1.383 1.833 2.262 2.821 3.250
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> t11<-rep(NA,9)

> t12<-rep(NA,9)

> t13<-rep(NA,9)

> t14<-rep(NA,9)

> t15<-rep(NA,9)

> for(i in 1:9) {
+  t11[i]<-qt(0.9, 1)
+ }

> for(i in 1:9) {
+  t12[il1<-qt(0.95, 1)
+ }

> for(i in 1:9) {
+  t13[il<-qt(0.975,1)
+ }

> for(i in 1:9) {
+ t14[i]1<-qt(0.99, 1)
+ }

> for(i in 1:9) {
+  t15[il<-qt(0.995, 1)
+ }

> round((poi<-cbind (t11,t12,t13,t14,t15)), digits=3)
t1l  tl2  t13  tl4  tl15
[1,] 3.078 6.314 12.706 31.821 63.657




[2,] 1.886 2.920 4.303 6.965 9.925
[3,] 1.638 2.3563 3.182 4.541 5.841
[4,] 1.5633 2.132 2.776 3.747 4.604
[5,] 1.476 2.015 2571 3.365 4.032
[6,] 1.440 1.943 2.447 3.143 3.707
[7,] 1.415 1.895 2.365 2.998 3.499
[8] 1.397 1.860 2.306 2.896 3.355
[9,] 1.383 1.833 2262 2.821 3.250

5 A9 EYAQ -Bée] o8 F-BEs E2ER X - (,) ol

X
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Xn,—1 (n; —1)s7 3_%
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Xn,—1 (n2—1)s§ s2 (=L, = 1)
ny — 1 (n2—1)0§ 072
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bl-ch4-18.R9] AlgAx}

> set.seed(12345)

> n<-10000;

> z1<-rnorm(n,0,1)

> z2<-rnorm(n,0,1)

> z3<-rnorm(n,0,1)

> z4<-rnorm(n,0,1)

> z5<-rnorm(n,0,1)

> z6<-rnorm(n,0,1)

> z7<-rnorm(n,0,1)

> z8-rnorm(n,0,1)

> z9<-rnorm(n,0,1)

> z10<-rnorm(n,0,1)

> chilb<-z1"2+ 2272+ 2372+ 247”2 +z5™2

> chi2b<-z6"2+2z7"2+28"2+29"2+210"2

> £55¢~(chil5/5)/(chi25/5)

> hist(f55, breaks=100)
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Histogram of f55

Frequency
3000 4000 5000
1 1 ]
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> set.seed(12345)

> n<-10000;

> dfl_list<-c(5,9,15,38)

> df2_list<-c(10,10,20,40)

> par(mfrow=c(2,2))

> for (i in 1:length(dfl_ list)) {

+ hist(rf(n, dfl=dfl_list[i], df2=df2_list[i], ncp=0), breaks=100, xlab="f",
main=paste("df1=", dfl_list[i], "df2= ..." ... [TRUNCATED]
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> curve(df(x, 3, 15, ncp=0), add=T, col="blue", xlim=c(0,5), ylim=c(0,1),
xlab="f", ylab="f(f)")

> curve(df(x, 5, 15, ncp=0), add=T, col="red", xlim=c(0,5), ylim=c(0,1),
xlab="f", ylab="f(f)")

> curve(df(x, 10, 15, ncp=0), add=T, col="green", xlim=c(0,5), ylim=c(0,1),
xlab="f", ylab="f(f)")

> curve(df(x, 15, 15, ncp=0), add=T, col="black", xlim=c(0,5), ylim=c(0,1),
xlab="f", ylab="f(f)")

> dfl_list<-c(3,5,10,15)
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> df2_list<-c(15,15,15,15)
> par(mfrow=c(2,2))
> for (i in 1:length(dfl list)) {

+ curve(df(x, dfl=dfl_list[i], df2=df2_list[i], ncp=0), xlim=c(0,5),
ylim=c(0,1), xlab="f", ylab="f(f)", main=past .... [TRUNCATED]
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(2) F-2x9|

JIOI'
=5]

S RE

F-EXE= BEXO AFE(v) U B A{E(v,)ol uat EEO] 7t 2o
2 470l AfEe] WE o=0.05 o g FRtol tha3k Zo] Fo|A it
BAS] AMFETE 7oA BEO] AMFETF 90 B F s =329 O[T

VZ“ 1 2 3 4 5 6 7 8 9 10

1 |16L1.45 199.50 215.71 224.58 230.16 233.99 236.77 238.88 240.54 241.88
2 | 1851 19.00 19.16 19.25 19.30 19.33 19.35 19.37 19.38 19.40
3 11013 955 928 912 90l 894 889 885 88l 876
4 | 771 694 659 639 626 616 609 604 600 596
5 | 661 579 541 519 505 495 448 482 477 474
6 | 599 474 735 412 394 387 379 373 368 364
7 | 559 474 435 412 397 387 379 373 368 364
8 | 532 4346 407 384 369 358 350 344 339 335
9 | 512 426 386 363 348 337 329 323 318 314
10 | 496 410 371 348 333 322 314 307 302 2098
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> f11<-rep(NA,10)

> f12<-rep(NA,10)

> f13<-rep(NA,10)

> f14<-rep(NA,10)

> f15<-rep(NA,10)

> f16<-rep(NA,10)




> f17<-rep(NA,10)

> f18<-rep(NA,10)

> £19<-rep(NA,10)

> £110<-rep(NA,10)

> for(i in 1:10) {

+  f11[i]<-qf(0.95, 1, i

+}

> for(i in 1:10) {

+  f12[il<-qf(0.95, 2, i

+ }

> for(i in 1:10) {

+  f13[il<-qf(0.95, 3, i

+}

> for(i in 1:10) {

+  f14[il<-qf(0.95, 4, i

+}

> for(i in 1:10) {

+  f15[il<-qf(0.95, 5, i

+}

> for(i in 1:10) {

+  f16[il<-qf(0.95, 6, i

+}

> for(i in 1:10) {

+  f17[il<-qf(0.95, 7, i

+}




H4F 02N HEEE _

> for(i in 1:10) {
+ f18[i1<-qf(0.95, 8, 1)
+ }

> for(i in 1:10) {
+ f19[i1<-qf(0.95, 9, 1)
+ }

> for(i in 1:10) {
+ f110[il<-qf(0.95, 10, i)
+ }

> round((poi<-cbind(f11,{12,{13,{14,f15,{16,{17,{18,19,{110)), digits=2)
11 f12 13 f14 f15 16 17 18 19

110

[1,] 161.45 199.50 215.71 224.58 230.16 233.99 236.77 238.88 240.54 241.88

[2,] 1851 19.00 19.16 19.25 19.30 19.33 19.35 19.37 19.38
[3] 1013 955 928 912 901 894 889 885 881
41 771 694 659 639 626 616 609 604 6.00
[5]1 661 579 541 519 505 495 488 482 477
[6] 599 514 476 453 439 428 421 415 410
[7] 559 474 435 412 397 387 379 373 368
[8]1 532 446 407 384 369 358 350 344 339
[9] 512 426 38 363 348 337 329 323 318
[10,] 496 410 371 348 333 322 314 307 302

19.40
8.79
5.96
474
4.06
3.64
3.35
3.14
2.98
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<E 5-1> BE237| 29| B2 o gEHI
= FEFZE(X) e ZEFHF(X)
(1,1) L0 (3,1 2.0
(1,2) 15 (3,2) 2.5
(1,3) 2.5 (3,3) 3.0
(1,4) 2.5 (3,4) 35
2,1) 1.5 (4,1) 2.5
(2,2) 2.0 (4,2) 3.0
(2,3) 2.5 (4,3) 35
(2,4) 3.0 (4,4) 4.0
<E 5-2) BEY Ao BEEXL
X 1 15 2.0 2.5 3.0 35 4.0
P(X) 1/16 2/16 3/16 4/16 3/16 2/16 1/16
BEEYAO Fds AL BEH 252M B 252 ZAN TEHAFO Bt
L 062524 REAT 7] gon FEFPFO BEAFS mBALO] 1/20] HTh
1 AlsistH FEPFO FAL 2502412, BALS (0619398124 =

bl-ch5-1.R9] A Az}

> sampling.dist. 1<-NULL

> for(sample.count in 1:10000){

+  set.seed(sample.count)

+  sample.mean. 1<{-mean(rnorm(2,2.5,1.118))

+  sampling.dist. 1<-c(sampling.dist.1, sample.mean.1)
+ }

> mean(sampling.dist.1)
[1] 2.502412

> var(sampling.dist.1)
[1] 0.6193981

>

>  hist(sampling.dist.1, xlab =

freq=F, col="grey",

nn

6),

,  xlim=c(-1,
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breaks = 100)

> par(new=T)

> plot(density(sampling.dist.1), axes=F, main="", xlim=c(-1, 6), lwd=2,
col ="blue")

Histogram of sampling.dist.1
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bl-ch5-2.R9] AlsyZ}

> sampling.dist. 1<-NULL

> for(sample.count in 1:10000){

+  set.seed(sample.count)

+  sample.mean 1<{-mean(rnorm(2,2.5,1.118))

+  sampling dist. 1<-c(sampling.dist.1, sample. .... [TRUNCATED]

> mean(sampling.dist.1)
[1] 2.502412

> var(sampling.dist.1)
[1] 0.6193981

> table(round(sampling.dist.1))

-1 0 1 2 3 4 5 6
1 53 968 3913 4055 961 48 1

> sampling.dist.2<-NULL

> for(sample.count in 1:10000){

+  set.seed(sample.count)

+  sample.mean 2<{-mean(rnorm(5,2.5,1.118))

+  sampling dist.2<-c(sampling.dist.2, sample. .... [TRUNCATED]

> mean(sampling.dist.2)
[1] 2.498498

> var(sampling.dist.2)
[1] 0.2513623




> table(round(sampling.dist.2))

1 2 3 4
225 4805 4720 250

> sampling.dist.3<{-NULL

> for(sample.count in 1:10000){

+  set.seed(sample.count)

+  sample.mean 3<-mean(rnorm(10,2.5,1.118))

+  sampling dist.3¢-c(sampling.dist.3, sample .... [TRUNCATED]

> mean(sampling.dist.3)
[1] 2.500606

> var (sampling.dist.3)
[1] 0.1256997

> table(round(sampling.dist.3))

1 2 3 4
10 5008 4955 27

> sampling.dist.4<-NULL

> for(sample.count in 1:10000){

+  set.seed(sample.count)

+  sample.mean 4<-mean(rnorm(30,2.5,1.118))

+  sampling dist.4<-c(sampling.dist.4, sample .... [TRUNCATED]

> mean(sampling.dist.4)
[1] 2.502484

> var(sampling.dist.4)
[1] 0.0420068

> table(round(sampling.dist.4))




2 3
4992 5008

> par(mfrow=c(2,2))

nn

> hist(sampling.dist. 1, freq=F, col="grey", xlab="", xlim=c(-1, 6),
breaks=100)

> par(new=T)

> plot(density(sampling.dist.1), axes=F, main="", xlim=c(-1, 6), Iwd=2,
col="blue")
> hist(sampling. dist.2, freq=F, col="grey", xlab="", xlim=c(-1, 6),

breaks=100)

> par(new=T)

> plot(density(sampling.dist.2), axes=F, main="", xlim=c(-1, 6), Iwd=2,
col="blue")
> hist(sampling.dist. 3, freq=F, col="grey", xlab="", xlim=c(-1, 6),

breaks=100)

> par(new="T)

> plot(density(sampling.dist.3), axes=F, main="", xlim=c(-1, 6), lwd=2,
col="blue")
>  hist(sampling. dist.4, freq=F, col="grey", xlab="", xlim=c(-1, 6),

breaks=100)

> par(new="T)

nn

> plot(density(sampling.dist.4), axes=F, main="", xlim=c(-1, 6), lwd=2,
col="blue")




Histogram of sampling.dist.2

Histogram of sampling.dist.1
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> (mean(sample_mean))

[1] 0.5019778

> (var(sample_mean))
[1] 0.007837079

At

3

bl-ch5-3.R9] 4l

> set.seed(23456789)

> sample_size <- 11

> min <- 0

> max <- 1

p <- 1000

> n_re
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> sample_mean <- rep(NA, n_rep)
> sample_var <- rep(NA, n_rep)

> #graphics.off ()
> #par(mfrow=c(1,2))

>

> for (i in l:n_rep) {

+ my_sample <- runif (sample_size,min, max)

+ sample_mean[i] <- mean(my_samp .... [TRUNCATED]

> (mean(sample_mean))
[1] 0.5019778

> (var(sample_mean))

[1] 0.007837079

> hist(sample_mean, breaks=40, prob=T, main=paste("samples of size 11"),
col ="black")

> par(new=T)

nn nn

> plot(density(sample_mean), xlab="", axes=F, main="", col="blue")

samples of size 11
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gEM4 X7F Btol 10, EEHEATE 291 % %Hi‘—' £ ueta & ol &E
RzaRE 223717k 47k 5, 10, 20, 30 FEFES 1,000/ FE5te AHS
s HAL,

REPE Xt FE37|0 wgt 1,000 B2 BEFFH BA 77 thgF
2o AT o]2AQl Pt #itdl FHTE & 4 SUrh

T n=5 n=10 n=20 n=230

FERFO PP 10.00494 10.00259 9.998591 9.993856

FEPF B 0.7818611 0.3992823 0.2039642 0.1347668

bl-ch5-4R= A5t ¢9 (A¥ 2)& FUF + Ao

bl-ch5-4.Re] A& At

> set.seed(123456)

> curve(dnorm(x,10,2), xlim = c(4, 16), ylim = c(0.0, 0.22))
> par(mfrow=c(2,2))

> ybar5<-numeric(10000)

> for(j in 1:10000) {

+  sample<-rnorm(5,10,2)

+  ybar5[jl <-mean(sample)

+ }

> mean(ybar5)
[1] 10.00494

> var(ybarb)
[1] 0.7818611

> plot(density (ybar5), xlim = c(7, 13), ylim = (0.0, 0.5))




> curve(dnorm(x,10,sqrt(0.78186)), add=T, lty=2)
> ybar10<-numeric(10000)

> for(k in 1:10000) {

+  sample<-rnorm(10,10,2)

+  ybarlO[k] <-mean(sample)

+ )

> mean(ybarl0)
[1] 10.00259

> var(ybar10)
[1] 0.3992823

> plot(density(ybarl0),xlim = c(7.5, 12.5), ylim = c(0.0, 0.8))
> curve(dnorm(x,10,sqrt(0.39928)), add=T, lty=2)

> ybar20<-numeric(10000)

> for(m in 1:10000) {T

+  sample<-rnorm(20,10,2)

+  ybar20[m] <-mean(sample)

+}

> mean(ybar20)
[1] 9.998591

> var(ybar20)
[1] 0.2039642

> plot(density(ybar20),xlim = c(8.5, 11.5), ylim = ¢(0.0, 1.0))

> curve(dnorm(x,10,sqrt(0.20396)), add=T, lty=2)




> ybar30<-numeric(10000)

> for(n in 1:10000) {

+  sample<-rnorm(30,10,2)
+  ybar30[n] <-mean(sample)

+}

> mean(ybar30)
[1] 9.993856

> var(ybar30)
[1] 0.1347668

> plot(density(ybar30),xlim = c(8.5, 11.5), ylim = ¢(0.0, 1.2))

> curve(dnorm(x,10,sqrt(0.13477)), add=T, lty=2)

0.20
|

dnorm(x, 10, 2)

0.05
\

0.00
|




density.default(x = ybar10)

density.default(x = ybar50)
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T2 n=2 n=10 n=20 n=30

BEYAO HA 0.9873457 1.002666 0.9988942 0.9961374

HEEHYLO B4 0.9841301 0.2016694 0.1021074 0.06725091
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> set.seed(123456)

> curve(dchisq(x,1))

> par(mfrow=c(2,2))

> ybar2<-numeric(10000)

> for(j in 1:10000) {

+  sample<-rchisq(2,1)

+  ybar2[j] <-mean(sample)

+ )

> mean(ybar2)
[1] 0.9873457

> var(ybar2)
[1] 0.9841301

> plot(density(ybar2), xlim = c(0, 10), ylim = (0.0, 0.8))
> curve(dnorm(x,1,sqrt(0.98413)), add=T, lty=2)

> ybarl0<-numeric(10000)

> for(k in 1:10000) {

+  sample<-rchisq(10,1)

+  ybarlO[k] <-mean(sample)

+ }

> mean(ybarl0)
[1] 1.002666

> var(ybarl0)
[1] 0.2016694




> curve(dnorm(x,1,sqrt(0.20167)), add=T, lty=2)
> ybar20<-numeric(10000)

> for(n in 1:10000) {

+  sample<-rchisq(20,1)

+  ybar20[n] <-mean(sample)

+}

> mean(ybar20)
[1] 0.9988942

> var(ybar20)
[1] 0.1021074

> curve(dnorm(x,1,sqrt(0.10241)), add=T, lty=2)
> ybar30<-numeric(10000)

> for(m in 1:10000) {

+  sample<-rchisq(30,1)

+  ybar30[m] <-mean(sample)

+ )

> mean(ybar30)
[1] 0.9961374

> var (ybar30)
[1] 0.06725091

> plot(density(ybar30),xlim = c(0.3, 1.7), ylim =

> curve(dnorm(x,1,sqrt(0.06725)), add=T, lty=2)

> plot(density(ybarl0),xlim = ¢(0, 4), ylim = ¢(0.0, 1))

> plot(density (ybar20),xlim = c(0, 3), ylim = c(0.0, 1.5))

c(0.0, 2.0))
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FEHS X7t #5EZ UO,D)S wEta 3 o & X~U(0,1)Y wi(utstAs F
72 0.5 E4H2 0.0833330] ¥) ol3t SEEZERE FEIAV|IZF 47 2, 10,
20, 30%1 FEFES 1,000/ #&5H= AYS 3 2AL

FEEI7)0 wgt 1,0007] FEO FEFAF Hoyt BAL 77 theat e
Dol o]2AQl HHwt Bt ZHTS & 4+ 2tk

TE n=2 n=10 n=20 n=230

FEPHO P 0.5013918 0.4987733 0.5003994 0.4996023

FEFPF B 0.04192942 | 0.008292283 | 0.004107226 | 0.002834952

bl-ch5-6.R& AldfstA 99 (AY 4)& RIT 4 ot
bl-ch5-6.Re] A& At

> set.seed(123456)

> curve(dunif(x,min=0, max=1))

> par(mfrow=c(2,2))

> ybar2<-numeric(10000)

> for(j in 1:10000) {

+  sample<-runif(2,min=0, max=1)
+  ybar2[j] <-mean(sample)

+ )

> mean(ybar2)
[1] 0.5013918

> var(ybar2)
[1] 0.04192942

> plot(density(ybar2), xlim = c(0, 1), ylim = c(0,3.5))




> curve(dnorm(x,0.5,sqrt(0.04193)), add=T, lty=2)

> ybar10<-numeric(10000)

> for(k in 1:10000) {

+  sample<-runif(10,min=0, max=1)
+  ybarlO[k] <-mean(sample)

+ }

> mean(ybarl0)
[1] 0.4987733

> var(ybar10)
[1] 0.008292283

> plot(density (ybarl0),xlim = c(0, 1), ylim

= ¢(0,4.5))

> curve(dnorm(x,0.5,sqrt(0.00829)), add=T, lty=2)

> ybar20<-numeric(10000)

> for(m in 1:10000) {
+  sample<-runif (20,min=0, max=1)
+  ybar20[m] <-mean(sample)

+}

> mean(ybar20)
[1] 0.5003994

> var(ybar20)
[1] 0.004107226

> plot(density(ybar20),xlim = c(0, 1), ylim = c(0, 6.5))

> curve(dnorm(x,0.5,sqrt(0.00411)), add=T, lty=2)




> ybar30<-numeric(10000)

> for(n in 1:10000) {

+  sample<-runif (30,min=0, max=1)
+  ybar30[n] <-mean(sample)

+ }

> mean(ybar30)
[1] 0.4996023

> var(ybar30)
[1] 0.002834952

> plot(density(ybar30),xlim = c(0, 1), ylim = c(0, 7.7))

> curve(dnorm(x,0.5,sqrt(0.00283)), add=T, lty=2)
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bl-ch5-7.R9] Al }

> sampling.dist. 1<-NULL

> for(sample.count in 1:10000){

+  set.seed(sample.count)

+  sample.var.1<-var(rnorm(2,2.5,1.118))

+  sampling.dist. 1<-c(sampling.dist.1, sample.va .... [TRUNCATED]

> mean(sampling.dist.1)
[1] 1.232382




> var(sampling.dist.1)
[1] 3.227298

>  hist(sampling.dist. 1, freq=F, col="grey", xlab="", xlim=c(-1, 6),
breaks =100)

> par(new="T)

> plot(density(sampling.dist.1), axes=F, main="", xlim=c(-1, 6), lwd=2,

col ="blue")

Histogram of sampling.dist.1
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bl-ch5-8.R9 Al )

> sample_size <- 11

> n_rep <- 1000

> sample_mean <- rep(NA, n_rep)

> sample_var <- rep(NA, n_rep)

> #graphics.off ()

> #par(mfrow=c(1,2))
>

> for (i in 1:n_rep) {

my_sample <- rnorm(samp

> (mean(sample_mean))
[1] 10.01389

> (var(sample_mean))

[1] 0.3766244

),col ="black")

> par(new="T)

nn

> plot(density(sample_var), xlab=

le_size,10,2)

+
+ sample_mean[i] <- mean(my_sample) .... [TRUNCATED]

> hist(sample_var, breaks=40, prob=T, main=paste( "samples of size 11"

nn

, axes=F, main="", col="blue")
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> set.seed(123456)

> par(mfrow=c(2,2))

> vbarl0<-numeric(10000)

> for(j in 1:10000) {

+  samplel0<-rnorm(10,10,2)
+  vbarlO[j] <-var(samplel0)

+ }

> (mean(vbarl0))
[1] 4.020385

> (var(vbarl0))




[1] 3.60356

> hist(vbarl0, freq=F, xlab="", breaks=100)

> par(new="T)

nn

> plot(density(vbarl0), axes=F, main="", col="blue")

> vbar20<-numeric(10000)
> for(j in 1:10000) {
+  sample20<-rnorm(20,10,2)

+  vbar20[j] <-var(sample20)
+ }

> (mean(vbar20))
[1] 4.002698

> (var(vbar20))
[1] 1.676938

> hist(vbar20, freq=F, xlab="", breaks=100)

> par(new=T)

> plot(density(vbar20), axes=F, main="", col="blue")
> vbar30<-numeric(10000)

> for(j in 1:10000) {

+  sample30<-rnorm(30,10,2)

+  vbar30[j] <-var(sample30)

+ )

> (mean(vbar30))
[1] 3.993987




> (var(vbar30))
[1] 1.087883

> hist(vbar30, freq=F, xlab="", breaks=100)

> par(new=T)

> plot(density(vbar30), axes=F, main="", col="blue")
> vbar100<-numeric(10000)

> for(j in 1:10000) {

+  samplel00<-rnorm(100,10,2)

+  vbarl00[j]l <-var(samplel00)

+ )

> (mean(vbar100))
[1] 3.993146

> (var(vbarl00))
[1] 0.3217269

> hist(vbarl00, freq=F, xlab="", breaks=100)

> par(new="T)

> plot(density(vbarl00), axes=F, main="", col="blue")
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bl-ch6-1.R9] Al Az}

> set.seed(12343)

> #par(mfrow=c(1,2))

>

> Cllower<-numeric(100)

> Clupper<-numeric(100)

> pvaluel<-numeric(100)

> for(j in 1:100) {

+  sample<-rnorm(80,10,2)

+  testresl<-t.test(sample,mu=10)
+  Cllower[j]<-testres1$conf.int[1]
+

Clupper [jl1<-testres1$conf.i .... [TRUNCATED]

> testresl$conf.int[1]
[1] 9.769371

> testresl$conf.int[2]
[1] 10.60363

> testresl$p.value
[1] 0.3762031

> rejectl<-pvaluel<=0.05

> table(rejectl)
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rejectl
FALSE TRUE
97 3

> color<-rep(gray(.7),100)

> color[reject1]<-"black"

> plot(0, xlim=c(9,11), ylim=c(1,100), ylab="Sample No.", xlab="",

main="95% Confidence Interval")
> abline(v=10, lty=2)
> for(j in 1:100) {

+  lines(c(Cllowerljl, Clupperljl), c(j,j), col=color[jl, Iwd=1)
+ }

95% Confidence Interval
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(@& D

3 1ol M ArjelSo] 7o el AR Aol Fetstel QA MG
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P
%

0.360 1.189 0.614 0.788 0.273 2.464 0.517 1.827 0.537 0.374 0.449 0.262
0.448 0.971 0.372 0.898 0.411 0.348 1.925 0.550 0.622 0.610 0.319 0.406
0.413 0.767 0.385 0.674 0.521 0.603 0.533 0.662 1.177 0.307 1.499
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bl-ch6-2.R9| AfAzt

> datal<-"http://kanggc.iptime.org/book/data/chap10-2.csv"
> datal_dat<-as.matrix(read.csv(datal,header =T), ncol=1)
> varl<-datal_dat[,1]

> xbar =mean(varl)

> z<{-gnorm(0.025, 0, 1, lower.tail=F)

> LCL1<-xbar-z*(0.6/sqrt(35))

> UCL1<-xbar +z*(0.6/sqrt(35))

> LCL1;UCL1

[1] 0.5176519
[1] 0.9152052
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AZeFEol 1-a7t e t-F29] Mg oS3 2o,

P(_ t(nil’a/Q) < t(ﬂfl) < t(nfl,a/Z)) =l—-«

. X e
o714 gEMs 1=t olm2 9o FBEAS thgI} o] A & 4 itk

I
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S e S
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(A& 2)
gt A HAHL Al FA} v A|Zto] e AT AH|AES] EFE &
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of gt 95% Alg|F7E okt
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17 4 12 15 14 15 9 8 7 16
bl-ch6-3.R<& Ald¥s] B =ygatol] thigh 95% AZ]77h2 (9.808949, 13.5910)
oty IHBE ux 95% AFFFToNA (9.808949, 13.5910)0l &o1A =,
bl-ch6-3.R9| A3 Azt
> library(foreign)
> time<-read.dta(file = "http://kanggc.iptime.org/book/data/chapl0-2.dta")

>

n<-length (time$varl)

s<-sd(time$varl)

t19<-qt(0.025, df =19, lower.tail=F)

average<-mean (time$varl)

LCL<-average-t19+(s/sqrt(n))

UCL<-average +t19*(s/sqrt(n))

LCL;UCL

[1] 9.808949
[1] 13.5910
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bl-ch6-4.R9] Al3yZA}

> set.seed(12345)

> Cllower<-numeric(100)

> Clupper<-numeric(100)

> pvaluel<-numeric(100)

> for(j in 1:100) {

+  sample<-rnorm(100,10,2)

s2<-var(sample)

chi<-(99+s2)/4

pvaluel [j1<-pchisq(chi, 0.95, df=99, lower.tail=F)
chi_ .... [TRUNCATED]

+

+

+

> Cllower
[1] 3.831738 3.153297 2.680453 2.905234 2.421398 3.657560
[7] 3.335122 3.025787 2.788475 2.679994 2.863353 3.220437
[13] 3.059344 3.051541 3.257024 3.358969 3.028908 3.421953
[19] 2.892686 3.138877 3.097010 2.978539 3.224138 2.086591
[25] 2.576973 2.918803 2.682981 2.625174 2.997243 3.068458
[31] 2.496968 3.519971 3.098808 1.882539 2.581418 2.527020
[37] 3.402880 3.069659 2.863192 2.501846 3.562625 2.840043
[43] 2.959190 2.853818 3.356341 4.461403 3.619685 2.428544
[49] 3.673904 2.761155 2.950630 3.162173 2.946491 3.197005
[65] 3.599023 2.430203 3.484282 2.563818 3.535696 3.199001
[61] 2.951949 3.490446 3.027803 3.827879 3.545298 2.944418
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[67]
[73]
[79]

2.227769 3.046476 4.067420 3.637768
3.901155 2.063341 3.439670 2.970812
2.858123 4.282643 3.336033 3.447982

2.699178 2.775919
2.586364 3.417553
3.409942 2.238515

[85] 3.790552 3.408887 3.076498 2.850088 2.812755 3.191278
[91] 3.609685 2.960486 2.560492 2.957969 3.674383 2.969041

[97]

2.806176 2.949856 2.954241 3.144629

> Clupper

[1]

(7]
[13]
[19]
[25]
[31]
(371
[43]
[49]
[55]
[61]
[67]
[73]
[79]
[85]
[91]
[97]

6.707636 5.519993 4.692259 5.085748
5.838286 5.296782 4.881355 4.691455
5.355525 5.341864 5.701572 5.880032
5.063782 5.494750 5.421461 5.214072
4.511111 5.109500 4.696684 4.595489
4.371059 6.161874 5.424607 3.295472
5.956901 5.373582 5.012150 4.379598
5.180201 4.995741 5.875431 7.809894
6.431340 4.833531 5.165215 5535532
6.300257 4.254183 6.099398 4.488083
5.167524 6.110189 5.300310 6.700880
3.899813 5.332998 7.120209 6.368082
6.829153 3.611974 6.021303 5.200544
5.003278 7.496967 5.839881 6.035853
6.635538 5.967416 5.385554 4.989212
6.318921 5.182469 4.482260 5.178063
4912342 5.163861 5.171537 5.504819

> pvaluel
0.059365461 0.445263806 0.836304403 0.667558618
0.950396583 0.112775148 0.295535011 0.560355653
0.762139944 0.836587466 0.702893025 0.387075359
0.529854093 0.536949332 0.356642919 0.278058096
0.557521927 0.234824428 0.678284751 0.458071934
0.495683276 0.603036470 0.383951114 0.995207162
0.892743695 0.655838906 0.834741009 0.868303202
0.586204653 0.521571287 0.926280445 0.176434103
0.494058478 0.999351346 0.890624839 0.914690263
0.247456105 0.520479744 0.703026500 0.924479633

(1]

(5]

(9]
[13]
[17]
[21]
[25]
[29]
[33]
[37]

4.238771 6.402729
5.012433 5.637524
5.302245 5.990288
5.644003 3.652675
5.246813 5.371478
4.518893 4.423667
6.236542 4.971627
6.336428 4.251280
5.157970 5.596506
6.189401 5.600000
6.206210 5.154340
4725038 4.859376
4.527551 5.982585
5.969262 3.918625
4.923859 5.586481
6.432179 5.197444




[41] 0.154458251 0.721927270 0.620322274 0.710738072
[45] 0.279955249 0.003081599 0.128240912 0.948408171
[49] 0.106559718 0.782262224 0.627920030 0.437426138
[63] 0.631580980 0.407074407 0.137322176 0.947938374
[57] 0.196418993 0.898853957 0.168091943 0.405356954
[61] 0.626751454 0.192862620 0.558525412 0.060268861
[65] 0.163136320 0.633411882 0.985429029 0.541554870
[69] 0.021943166 0.120669129 0.824520124 0.771495324
[73] 0.044942131 0.996088025 0.223456829 0.609957335
[77] 0.888235164 0.237702517 0.707205799 0.007847395
[81] 0.294856592 0.218246940 0.242732095 0.984268856
[85] 0.069605521 0.243433826 0.514269323 0.713784971
[89] 0.743550819 0.412016516 0.132578477 0.619169279
[93] 0.900361295 0.621408161 0.106381603 0.611540571
[97] 0.748650567 0.628604973 0.624718737 0.452952109

> rejectl<-pvaluel<=0.05

> table(rejectl)

rejectl
FALSE TRUE
96 4

> color<-rep(gray(.7),100)
> color[reject1]<-"black"

> plot(0, xlim=c(1,7), ylim=c(1,100), ylab="Sample No.", xlab="", main="95%
Confidence Interval for sigma-square")

> abline(v=4, lty=2)
> for(j in 1:100) {

+  lines(c(Cllower(jl, Clupperljl), c(j,j), col=color[j], lwd=1)
+ }
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bl-ch6-5.R9 A3yt

> time<-c(66,37,18,31,85,63,73,83,65,80)

> df<-length(time)-1

> s.sq<-var(time)

> u.chi<-qchisq(0.005, df=df, lower.tail=F)

> u.chi
[1] 23.58935

> 1chi<-qchisq(0.995, df=df, lower.tail=F)

> Lchi
[1] 1.734933

> LCL<-(df*s.sq/u.chi)
> UCL<-(df*s.sq/l.chi)
> LCL;UCL

[1] 208.8612
[1] 2839.822
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bl-ch7-1R9] A

L

> set.seed(123456)

> par(mfrow=c¢(1,3))

> Cllower<-numeric(100)

> Clupper<-numeric(100)

> pvaluel<-numeric(100)

> pvalue2<-numeric(100)

> for(j in 1:1000) {

+  sample<-rnorm(100,10,2)

+  testresl<-t.test(sample,mu=10)
+  Cllower[jl<-testres1$conf.int[1]
+

Clupper [jl<-testres1$conf .... [TRUNCATED]

> reject2<-pvalue2<=0.05
> table(reject2)
reject2
FALSE TRUE
294 706
> color<{-rep(gray(.7),100)

> color [reject2[1:100]]1<-"black"

> plot(0, xlim=c(9,11), ylim=c(1,100),
main = "Incorrrect HO")

> abline(v=9.5, lty=2)

ylab ="Sample

No.",

xlab =

nn
’
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> for(j in 1:100) {

+  lines(c(Cllower[jl, Clupperljl), c(,j), col=color[j], lwd=1)
+ }

> set.seed(12345)

> Cllower<-numeric(100)

> Clupper<-numeric(100)

> pvaluel<-numeric(100)

> pvalue2<-numeric(100)

> for(j in 1:100) {

+  sample<-rnorm(100,10,2)

+  testresl<-t.test(sample,mu=10)

+  Cllower[jl<-testres1$conf.int[1]

+  Clupper[jl<-testres1$conf. .... [TRUNCATED]

> reject2<-pvalue2<=0.05

> table(reject2)

reject2
FALSE TRUE
11 89

> color<-rep(gray(.7),100)

> color [reject2[1:100]1<-"black"

> plot(0, xlim=c(9,11), ylim=c(1,100), ylab="Sample No.", =xlab="",
main ="Incorrrect HO")

> abline(v=9.3, lty=2)

> for(j in 1:100) {
+  lines(c(Cllower[jl, Clupperl(jl), c(,j), col=color[j], lwd=1)
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+ }

> set.seed(1234)

> Cllower<-numeric(100)

> Clupper<-numeric(100)

> pvaluel<-numeric(100)

> pvalue2<-numeric(100)

> for(j in 1:100) {

+  sample<-rnorm(100,10,2)

+ testres1<-t.test(sample,mu=10)
+  Cllower[j]<-testres1$conf.int[1]
+  Clupper[jl<-testresl$conf. .... [TRUNCATED]

> reject2<-pvalue2<=0.05

> table(reject2)

reject2
FALSE TRUE
2 98

> color<-rep(gray(.7),100)
> color[reject2[1:100]1<-"black"

> plot(0, xlim=c(9,11), ylim=c(1,100), ylab="Sample No.", xlab="",
main = "Incorrrect HO")

> abline(v=9.2, lty=2)
> for(j in 1:100) {

+  lines(c(Cllower[jl, Clupperl(jl), c(j), col=color[jl, lwd=1)
+ }
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Incorrrect HO Incorrrect HO Incorrrect HO
gfo 9?5 1(;0 1(;.5 11I0 gfo 9?5 1ol.o 1ol.5 11I.o 970 975 10I.0 10I.5 11I.o
2, HelEH st JHEEHE

(1) 2™l st JtddA

Cik=2nb)

ol ofo]2aY HALe] YPR AAL AAHe oIF WulFrTt AL Wojo)
H 34.5%7ATTa gty H= AUE F 16571 FEFESH] o FAYS
ZAbS) B Thedt o] uehgth mydol RiEzdtia shgstn dojel 74
27t BF 345% AREE 10% Fo5sZolM F=7As e

33.46 33.38 32.73 32.15 33.99 34.10 33.97 34.34

22.95 33.85 34.23 34.05 34.13 34.45 34.19

bl-ch7-2.RE& Aldfsl EH ALY AARTAZY #2 -4.3136°13L 10% |+
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Stoll Al ARF-=7F 1491 t-829 AAA= -1.76313 1.7631°122 10% #2l4¢
StollAf ®gto] 34.5%h= FARVMEAS 7IARid =3 A" AP BAZ
p-valueZ} 0.00071452% 0180 Fom=w ARIMEES 7|45t A& & & 3
oh3tE, AR tigh 90% AlE| 72 (33.51136, 34.08464)°]3L HF7HA9

Zol ol Mg 7zl ZFEA gomz HARsHol 17Ee BAY 4 Utk

AN EN

bl-ch7-2.R9] Al }

> library(foreign)

> time<-read.dta(file = "http://kanggc.iptime.org/book/data/chapl1-2-1.dta")

> time$varl
[1] 33.46 33.38 32.73 32.15 33.99 34.10 33.97 34.34 33.95
[10] 33.85 34.23 34.05 34.13 34.45 34.19

> t.test(time$varl, mu=34.5, conf.level=0.9)

One Sample t-test

data: time$varl

t = -4.3136, df = 14, p-value = 0.0007145
alternative hypothesis: true mean is not equal to 34.5
90 percent confidence interval:

33.51136 34.08464

sample estimates:

mean of x

33.798

> (t14<-qt(0.05, df =14, lower.tail=T))

[1] -1.76131

> (t14<-qt(0.05, df =14, lower.tail=F))
[1] 1.76131




e AF2ol N FUIAS wjEe] RA 9 Hitol 62g0]E}—,_— 2] et F=7

stelw sk Folds 71 RRe AAstel 2Alg RAv} thewt gom,
A3t el BAL AFRZRCL stxh 5% folaFolN FiHst v
Ale] Bito] Gogolets ARME FEA s e

38 | 39 | 39 | 4 | a1 |

36 37
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bl-ch7-3Re] AsZAw}

> x<-c(36,37,38,39,39,44,47)

> xbar<{-mean(x)

> xbar

(1] 40

> s.sq<-var(x)

> s.sq
[1] 16

> df<-6

> q=length(x)-1
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> chi<-(df#*s.sq)/62

> chi
[1] 1.548387

> pchisq(chi, df=q,lower.tail=F)

[1] 0.9562158

> UCV<-qchisq(0.025, df=q, lower.tail=F)

> UCv
[1] 14.44938

> LCV<-qchisq(0.975, df=q, lower.tail=F)

> LCV
[1] 1.237344
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Stoll Al AFGE7F 2591 t-B32 9] AAAE -2,
2 StollA AR E 714%e =3 AlARE A 3574]“—4 p-value”l 0.0002874%

M 0018 Homz ARIAS JZRH A & 4 Utk @ FRsA o
3 99% AFTIHE (— oo, -6.346238)01 1 ANE AHEAL Fe o] N=7zh
of ZFEA Fomz HARsHo]l /17Ee BAY 4 AUk

bl-ch7-4.R9] Al3yZ}

> small<-c(41,45,42,62,68,54,52,55,44,60)

> large<-c(74,74,70,52,76,91,71,78,76,78,83,50,52,66,65,53,72)

> (mean(small))
[1] 52.3

> (mean(large))
[1] 69.47059

> (var(small))
[1] 85.12222

> (var(large))
[1] 138.7647

> t.test(small, large, alternative="less", var.equal=T, conf.level=0.99)

Two Sample t-test

data: small and large
t = =-3.9421, df = 25, p-value = 0.0002874
alternative hypothesis: true difference in means is less than O
99 percent confidence interval:
-Inf -6.346238
sample estimates:
mean of X mean of y
52.30000 69.47059
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25, lower.tail=F))

> (t25<-qt(0.01, df
[1] 2.485107
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bl-ch7-5.R9] Al3yZA}

> econ<-c(75,71,52,46,70,83)

> mgt<-c(82,73,59,48,68,93)

> t.test(econ, mgt, conf.level=0.95)

Welch Two Sample t—test

data: econ and mgt

t = -0.4953, df = 9.8507, p-value = 0.6313

alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval:

-23.86736 15.20069

sample estimates:

mean of X mean of y

66.16667 70.50000

> (mean(econ))

[1] 66.16667

> (mean(mgt))
[1] 70.5

> (var(econ))
[1] 201.3667

> (var(mgt))
[1] 257.9

> (t10<-qt(0.05, df =10, lower.tail=F))
[1] 1.812461




AT 1 2 3 4 n
X xl xQ ZE3 LL‘4 xn
Y Y1 Yo Y3 Ya Yn
D d, d, ds d, . d,

of AL oMY B (@uy) @y sle,y,) S22 BSFEH  FEA
=z,~y, , i=1,2,..,n OFa & W, T HAG FL puy pyo FLAF00 itk AH
2 pp=pxy—py O1BE HARIMEE Hy:pp=0 < 2T

o] B& A% & A7|7t 30 oldelH Z-AAPFAFS ol&stH =
Ho] 377} 30 u|tolH t-HAZAZE ol 85t Hrh

0 R Aolg Use 49 FFe d--Ydolw, FEpie

§i= 24~ aF B3 @ W, AR sl AREBATL T 2t

(s 5
EASES 4%t AR B Bgos BE5e] SPATA Bgol
LA obry] 5 68 AR MASFAT. BE4Q Aol NP BA s B
59U 478 3 oAl AP BA sglom, 1 Ant tedt Pk B340l
S50 A4 ol Ego] Hixl 5% GorFolN AYste
ER B35 A(X) | BE4d $(X,) | A% Aol(d= X, - X,)
75 82 -7

| O[> | [N [
S
(@]
S
oo
|
[\




M7 JHEdE

167

=g

Tq1€17]-}\4_‘% Hpy < g 7]' %t‘} =
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bl-ch7-6.Re] A3}

At

> library(foreign)

> data$varl
[1] 75 71 52 46 70 83

> data$var?
[1] 82 73 59 48 69 93

> d<{-data$varl-data$var2

> d

(il -7 -2 -7 -2 1-10

> (var(d))
[1] 17.1

> t.test(d, mu=0, alternative="less",
One Sample t-test
data: d

t = -2.6656, df = 0.02229
alternative hypothesis: true mean is less than O

5, p—value =

> data<-read.dta(file = "http://kanggc.iptime.org/book/data/chapl1-3-2.dta")

conf.level=0.95)




95 percent confidence interval:
-Inf -1.098207
sample estimates:

mean of x

-4.5

> (t5<-qt(0.05, df=5, lower.tail=F))
[1] 2.015048

F= 512
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bl-ch7-8.R9 AlsyZx}

> small<-c(41,45,42,62,68,54,52,55,44,60)

> large<-c(74,74,70,52,76,91,71,78,76,78,83,50,52,66,65,53,72)

> (mean(small))
[1] 52.3

> (mean(large))
[1] 69.47059

> (var(small))
[1] 85.12222

> (var(large))
[1] 138.7647

> var.test(large, small, alternative="greater", conf.level=0.95)

F test to compare two variances

data: large and small

F = 16302, num df = 16, denom df = 9, p-value =

0.231

alternative hypothesis: true ratio of variances is greater than 1
95 percent confidence interval:

0.5454 Inf

sample estimates:

ratio of variances




1.630182

> (f<-qf(0.05, df1=16, df2=9, lower.tail=F))
[1] 2.988966
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bl-chl-1.R

x<-c(1:10)

X

sort(x)

sort(x, decreasing=T)
mean(x)

median(x)

quantile(x)

diff (range(x))

var(x)

sd(x)

bl-chl-2.R

a<-c(-3,-2,-1,1,2,3)
sum(a)
abs(a)
as<-al4:6]
sqrt(as)
max(a)
min(a)
range(a)
exp(a)
log(as)
log10(as)
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bl-chl-3.R
x<-c(21,4,13,6,12,7,4,25,22)
y<-c(-2,4,-3,8,-7,8,-2,-6,5)
X5y
cov(x,y)
cor(x,y)
summary (x) ;summary (y)
cumsum(1:10) ;cumprod(1:10)
bl-chl-4.R

#4018 WP =40%, EERAF=10% AFEZA $oF0] 60%RT IS BE

pnorm(60,mean = 40,sd = 10)

1-pnorm(2,0,1)

#P(7<1.645)
pnorm(1.645, 0,1)

#P(Z<K) =0.95¢ o, K9] F2?
qnorm(0.95, 0,1)

#t-BAZol -3.271, n=16% Wl p9l 27
pt(-3.271, 15)

#n=164w, 5% FJFFoAM 71749 (F=)
qt(p=0.05, df=15)

round(rnorm(n=20, mean=40, sd=10), digits=2)
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bi-ch2-1.R

samplel<-"http://kanggc.iptime.org/book/data/samplel.txt"
sample_dat<{-read.delim(samplel,header =T)
sample_dat

year<{-sample_dat$year
gdp<-sample_dat$GDP
consumption<-sample_dat$consumption
min(gdp)

max (consumption)

mean(gdp)

mean (consumption)

median(gdp)

median (consumption)

quantile(gdp)

quantile (consumption)

var (gdp)

var (consumption)

sd(gdp)

sd(consumption)

summary (sample_dat)

bl-ch2-2.R

sample1<-"http://kanggc.iptime.org/book/data/samplel.txt"
sample_dat<{- as.matrix(read.delim(samplel,header="T),ncol=3)
sample_dat

year<{-sample_dat[,1]

year

gdp<-sample_dat[,2]

gdp
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consumption<-sample_dat/[,3]
consumption

colMeans (sample_dat)
summary (sample_dat)

bl-ch2-3.R

samplel<—("http://kanggc.iptime.org/book/data/csv_samplel.csv")
sample_dat<{-read.csv(samplel,header =T,sep=",")

sample_dat

year<-sample_dat$year

gdp<-sample_dat$GDP

consumption{-sample_dat$consumption

summary (sample_dat)

bl-ch2-4.R

library (openxlsx)
excel_samplel<-read.xIsx("http://kanggc.iptime.org/book/data/samplel-n.xIsx")
excel_samplel

excel_samplel_dat<{- data.matrix(excel_samplel)

excel_samplel_dat

year<-excel_samplel_dat[,1]

gdp<-excel_samplel_dat[,2]

consumption<-excel_samplel_dat[,3]

summary (excel_samplel_dat)

bl-ch2-5.R

library (openxlsx)
excel_samplel<-read.xlsx("http://kanggc.iptime.org/book/data/samplel-n.xlsx")
excel_samplel_dat<{- data.matrix(excel_samplel)

year<{-excel_samplel_dat[,1]




178 _ R 7|z 4 EAHEAM

gdp<-excel_samplel_dat[,2]
consumption<-excel_samplel_dat[,3]
lgdp<-log(gdp)
lconsumption<-log(consumption)
lgdp; lconsumption

names (excel_samplel)
excel_samplel

names (excel_samplel) [3]<-"cons"
excel_samplel

names (excel_samplel)<-c("T","Y","C")
excel_samplel

bi-ch2-6.R

library (openxlsx)
excel_samplel<-read.xlsx("http://kanggc.iptime.org/book/data/samplel-n.xlsx")
excel_samplel_dat{- data.matrix(excel_samplel)

year<-excel_samplel_dat[,1]

gdp<—excel_samplel_dat[,2]

consumption<-excel_samplel_dat[,3]

graphics.off ()
par("mar")
par(mar=c(1,1,1,1))

y.ts<-ts(gdp, start=2000, end=2016, frequency=1)
c.ts<-ts(consumption, start=2000, end=2016, frequency=1)

lagy<-lag(y.ts, k=-1)
lagc<-lag(c.ts, k=-1)

gy<-(y.ts-lagy)/lagy
gc<—(c.ts-lagce)/lage

ly.ts<-log(y.ts)
lc.ts<-log(c.ts)
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gly<-ly.ts-lag(ly.ts, k=-1)
glc<-lc.ts-lag(lc.ts, k=-1)

(y<-cbind(gy, gly))
(c<-cbind(gc, glc))

par(mfrow=c(2,1))

plot(gy, type="1", col="red", main="Exact Growth Rate vs. Approx. Growth
Rate of GDP")
lines(gly, Iwd=3, lty=6, col="green")

plot(gc, type="1", col="red", main="Exact Growth Rate vs. Approx. Growth
Rate of Consumption")
lines(gle, lwd=3, lty=6, col="green")

bl-ch2-7.R

library (openxlsx)

excel_samplel<-read xlsx("http://kanggc.iptime.org/book/data/samplel-n.xlsx")
excel_samplel_dat{- data.matrix(excel_samplel)

year<-excel_samplel_dat[,1]

gdp<—excel_samplel_dat[,2]

consumption<-excel_samplel_dat[,3]

datal<-excel_samplel_dat[1:10,]

datal

data2<-excel_samplel_dat[11:17,]

data2
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A3y JlmEs

bl-ch3-1.R

csv_samplel<-"http://kanggc.iptime.org/book/csv_samplel.csv"

csv_sample_dat<{- as.matrix(read.csv(csv_samplel,header =T),ncol = 3)
year<-csv_sample_dat[,1]

gdp<-csv_sample_dat[,2]

consumption<-csv_sample_dat[,3]

par(mfrow=c(2,1))

plot(year, gdp, type="1", main="GDP of Korea(2000-2016)")

plot(year, consumption, type="1", Ilty=2,main="Consumption of Korea
(2000-2016)")

bl-ch3-2.R

csv_samplel<-"http://kanggc.iptime.org/book/csv_samplel.csv"
csv_sample_dat<{- as.matrix(read.csv(csv_samplel,header =T),ncol = 3)
year<{-csv_sample_dat[,1]

gdp<-csv_sample_dat[,2]

consumption<{-csv_sample_dat[,3]

par (mfrow=c(1,2))

hist(gdp)

hist (consumption, breaks=8, col="red")

bl-ch3-3.R

csv_samplel<-"http://kanggc.iptime.org/book/csv_samplel.csv"
csv_sample_dat<{- as.matrix(read.csv(csv_samplel,header =T),ncol = 3)
year<{-csv_sample_dat[,1]

gdp<-csv_sample_dat[,2]
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consumption<-csv_sample_dat[,3]

plot(gdp, consumption, main="Scatter plot of GDp and Consunption")

bl-ch3-4.R

library (openxlsx)

samplel<-read.xlsx("http://kanggc.iptime.org/book/data/stat—1.xlsx", sheet=1,
startRow =1, colNames = T)

mid<-samplel$mid
final{-samplel$final
total{-samplel$total
grade<-samplel$grade

summary (samplel)

par (mfrow=c(1,3))

boxplot (mid, main="Box plot of mid")
boxplot (final, main="Box plot of final")
boxplot (total, main="Box plot of total")

bl-ch3-5.R

library (openxlsx)

samplel<-read.xlsx("http://kanggc.iptime.org/book/data/stat—1.xlsx", sheet=1,
startRow =1, colNames = T)

slices<-c(1,2,3,4,5,6,7,8)
lbls<_c(||1%:}_:]1."’"2%_%”’"3%_%"’"4%_%”’”5%_:]_;'_"’"6%%","7%%","8%%")

pie(slices, labels=1bls, main="Pie Chart of Total Score")




bl-ch3-6.R

library (openxlsx)
samplel<-read.xlsx ("http://kanggc.iptime.org/book/data/stat—1.xlsx",

startRow =1, colNames = T)

mid<-samplel$mid
final<-samplel$final
total{-samplel$total
grade<-samplel$grade

counts<-table(total, grade)

barplot(counts, main="Bar Chart of Total Score", xlab="Grade")

sheet=1,

bl-ch3-7.R

library (openxlsx)
samplel<-read xlsx("http://kanggc.iptime.org/book/data/stat—1.xlsx",
startRow =1, colNames = T)

mid<-samplel$mid
final{-samplel$final
total<{-samplel$total
grade<-samplel$grade

total

stem (total)

stem(total, scale=0.5)
stem (total, scale=2)

sheet=1,

bl-ch3-8.R

install. packages("ggplot2")
library (ggplot2)
conl<-url("http://kanggc.iptime.org/book/data/Map.RData")




_ 183

con2<-url("http://kanggc.iptime.org/book/data/mapJeju.RData")

load(conl)
load(con2)

ggplot() + geom_path(data=map, aes(x=long, y=lat, group=group))
ggplot() + geom_path(data=map.jeju, aes(x=long, y=Iat, group=group))

bl-ch3-9.R

install. packages("prettyR")
library (prettyR)

ch2_1<-scan("http://kanggc.iptime.org/book/data/ch2_1.txt")

ch2_1

max(ch2_1)
min(ch2_1)
mean(ch2_1)

diff (range(ch2_1))
var(ch2_1)
sd(ch2_1)

table(ch2_1) [table(ch2_1) [1:length(unique(ch2_1))] = =max (table(ch2_1))]

median(ch2_1)

Mode(ch2_1)

bins<-c(0, 12, 24, 36, 48, 60, 72, 84, 97)
class<-cut(ch2_1, breaks=bins)

table(class)

table(class)/length(ch2_1)

transform (table(class), Rel Freq=prop.table(Freq))
hist(ch2_1)

hist(ch2_1, breaks=bins, main="Test Scores", xlab="Score")

summary(ch2_1)
£:2)<-¢c(70, 17, 8, 3, 2)

%Zﬂ]ﬁ%(-c("@lﬁ"’ "]:]17]%]") H_EL%7]3!‘:]_.H’ ":‘—:_LEX]-", "E%—:‘")

AR A< -paste(BAAY, +A])
AA A A< -paste(FA A, "%", sep="")

pie($:A], labels = AAA Y, col=rainbow(length(ZAA)), main="72A719 =

)
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a<-c(10, 2, 19, 24, 6, 23, 47, 24, 54, 77)
n<-length(a) # now n is equal to the number of elements in a

mean(a)
1/mean(1/a) # compute the harmonic mean
prod(a)~(1/n) # compute the geometric mean

b<-c(30,60)
mean(b)
1/mean(1/b)

c<-¢c(120,130,118)
m<-length(c)
round(mean(c),digits =2)
round(prod(c)”(1/m),digits = 2)

g<-((9204/5000)"~(1/3)-1)*100
round(g, digits=2)

bl-ch3-11.R

data<-c(0.167, 0.083, 0.083, 0.333, 0.083, 0.5, 0.083, 0.667, 0.25, 0.583, 0.167, 1)
mat<{-matrix(data, nrow=3, byrow=T)

rownames (mat)<-c("1", "3", "$A")

colnames(mat)<-c("0", "1", "2", "¥A")

mat

mu_x<-1*mat[1,4] + 3*mat[2,4]

mu_y<-0*mat[3,1] + 1*mat[3,2] + 2*mat[3,3]

mu_x

mu_y

var_x<-1"2*mat[1,4] + 3"2*mat[2,4] - mu_x"2
var_y<-0"2#mat[3,1] + 1"2*mat[3,2] + 2"2*mat[3,3] -mu_y"2
var_x

var_y

p_xy<-c(0.167, 0.083, 0.083, 0.083, 0.5, 0.083)
xy<-¢(0,1,2,0,3,6)
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cov_xy<-sum(p_xy*xy)- (mu_x*mu_y)
COV_XY
corr_xy<-cov_xy/sqrt(var_x*var_y)

corr_xy

4% oM sERz |

bl-ch4-1.R

set.seed(12345)
x<-rbinom (1000, 1, .5)
(table(x))

(mean(x))
cx<—cumsum (x)
heads<-numeric(1000)
for (i in 1:1000) {

heads[i]<-cx[i] /i

plot(heads, type="1", xlab="Number of Trials", ylab="Proportion of Heads",
ylim=¢(0,1), main="Proportion of Heads")

bl-ch4-2.R

set.seed(12345)
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r<-10000

binom1<-rbinom(r, 10, 0.1)
binom2<-rbinom(r, 10, 0.5)
binom3<-rbinom(r, 20, 0.5)

par(mfrow=c(1,3))
hist(binom1, breaks=100, xlab="n=10 p=0.1")

hist(binom2, breaks=100, xlab="n=10 p=0.5")
hist(binom3, breaks=100, xlab="n=20 p=0.5")

bl-ch4-3.R

par(mfrow=c(2,2))
n<-25 # AP35
p_list<-c(0.1, 0.2, 0.5, 0.7) # W&

for (i in 1:length(p_list)) {

p_x<-dbinom(x=1:n, n, p_list[i])

plot(x=1:n, p_x, xlab="x", ylab="P(X=x)", ylim=c(0, 0.3), xlim=c(1,n),
main =paste("p=", p_list[i]))

x_seq<-seq(1,n,1)

lines(x_seq, p_x, type="h", col="blue")

bl-ch4-4.R

binom11<-rep(NA,5)
binom12<-rep(NA,5)
binom13<-rep(NA,5)
binom14<-rep(NA,5)
binom15<-rep(NA,5)
binom16<-rep(NA,5)
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binom17<-rep(NA,5)
binom18<-rep(NA,5)
binom19<-rep(NA,5)

binom11[1]<-pbinom(0, 5, 0.1)
binom12[1]<-pbinom (0, 5, 0.2)
binom13[1]<-pbinom (0, 5, 0.3)
binom14[1]<-pbinom (0, 5, 0.4)
binom15[1]<-pbinom (0, 5, 0.5)
binom16[1]<-pbinom (0, 5, 0.6)
binom17[1]<-pbinom (0, 5, 0.7)
binom18[1]<-pbinom (0, 5, 0.8)
binom19[1]<-pbinom (0, 5, 0.9)

for(i in 2:5) {
binom11[i]<-pbinom(i-1, 5, 0.1)

}

for(i in 2:5) {
binom12[i]<-pbinom(i-1, 5, 0.2)

}

for(i in 2:5) {
binom13[i]<-pbinom(i-1, 5, 0.3)

}

for(i in 2:5) {
binom14[i]<-pbinom(i-1, 5, 0.4)

}

for(i in 2:5) {
binom15[i]<-pbinom(i-1, 5, 0.5)

}

for(i in 2:5) {
binom16[i]l<-pbinom(i-1, 5, 0.6)

}

for(i in 2:5) {
binom17[i]<-pbinom(i-1, 5, 0.7)

}

for(i in 2:5) {
binom18[il<-pbinom(i-1, 5, 0.8)
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}

for(i in 2:5) {
binom19[il<-pbinom(i-1, 5, 0.9)

}

round ( (binom<-cbind (binom11,binom12, binom13,binom14,binom15,
binom16,binom17,binom18, binom19)),digits=3)

bl-ch4-5.R

set.seed(12345)

n<-10000;

poi025<-rpois(n, 0.25)
poil<-rpois(n, 1)
poi2<-rpois(n, 2)
poid<-rpois(n, 4)

par(mfrow=c(2,2))

hist (poi025, breaks=100, xlab="mu=0.25")
hist(poil, breaks=100, xlab="mu=1.0")
hist(poi2, breaks=100, xlab="mu=2.0")
hist(poi4, breaks=100, xlab="mu=4.0")

bl-ch4-6.R

par(mfrow=c(2,2))

lambda_list<-c(3, 5, 10, 15) # H
x_list<-30 # YAZ4E 18 x=0] HojE HU

for (i in 1:length(lambda_list)) {
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p_x<~-dpois(x=0:x_list,]Jambda_list[i])

plot(x=0:x_list, p_x, xlab="x", ylab="P(X=x)", ylim=c(0, 0.25),
xlim=c(0,x_list), main=paste("lambda=", lambda_list[i]))

x_seq<—-seq(0,x_list,1)

lines(x_seq, p_x, type="h", col="blue")

bl-ch4-7.R

poill<-rep(NA,5)
poil2<-rep(NA,5)
poil3<-rep(NA,5)
poild<-rep(NA,5)
poil5<-rep(NA,5)
poil6<-rep(NA,5)
poil7<-rep(NA,5)
poil8<-rep(NA,5)

poill[1]<-ppois(0, 0.02)
poil2[1]1<-ppois(0, 0.04)
poil3[11<-ppois(0, 0.06)
poil4[1]<-ppois(0, 0.08)
poil5[11<-ppois(0, 0.1)
poil6[1]1<-ppois(0, 0.2)
poil7[11<-ppois(0, 0.3)
poil8[1]1<-ppois(0, 0.4)

for(i in 2:5) {
poill[il<-ppois(i-1, 0.02)

}

for(i in 2:5) {
poil2[i]<-ppois(i-1, 0.04)

}

for(i in 2:5) {
poil3[i]<-ppois(i-1, 0.06)

}




for(i in 2:5) {
poil4[il<-ppois(i—-1, 0.08)

}

for(i in 2:5) {
poil5[il<-ppois(i-1, 0.1)

}

for(i in 2:5) {
poil6[i]<-ppois(i-1, 0.2)

}

for(i in 2:5) {
poil7[i]<-ppois(i-1, 0.3)

}

for(i in 2:5) {
poil8[i]<-ppois(i-1, 0.4)

}

round ((poi<-cbind (poill,poil2,poil3,poil4,poil5,poil6,poil7,poil8)),digits = 3)

bl-ch4-8R

set.seed(12345)
n<-10000;

min_list<-c(1,2,4,5)
max_list<-c(2,4,8,10)
par (mfrow=c(2,2))

unif1<-runif(n, min=1, max=2)
unif2<-runif(n, min=2, max=4)
unif3<-runif(n, min=4, max=38)

unif4<-runif (n, min=>5, max=10)

(munif1<-mean(unifl))
(munif2<-mean(unif2))
(munif3<-mean (unif3))

(munif4<-mean(unif4))
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(vunif1<-var (unif1))
(vunif2<-var (unif2))
(vunif3<-var (unif3))
(vunif4<-var(unif4))

for (i in 1:length(min_list)) {

hist(runif(n, min=min_list[i], max=max_list[i]), freq=F, breaks=100,

A n

xlab="x", main=paste("min =", min_list[i], " max =", max_list[i]))

}

bl-ch4-9.R

z00<-rep(NA,10)
7z01<-rep(NA,10)
202<-rep(NA,10)
7z03<-rep(NA,10)
z04<-rep(NA,10)

for(i in 1:10) {
z00[i]<-pnorm((i-1)/100, 0, 1)-0.5

}

(z00<-round(z00, digits=4))

for(i in 10:19) {
z01[i]<-pnorm(i/100, 0, 1)-0.5

}

(z01<-round(z01[10:19], digits=4))

for(i in 20:29) {
z02[i]<-pnorm(i/100, 0, 1)-0.5

}

(z02<-round(z02[20:29], digits=4))

for(i in 30:39) {
z03[i]<-pnorm(i/100, 0, 1)-0.5




(z03<-round(z03[30:39], digits=4))

for(i in 40:49) {
z04[i]<-pnorm(i/100, 0, 1)-0.5

}

(z04<-round(z04[40:49], digits=4))

zdist<{-rbind(z00,z01,202,z03,z04)
(zdist<{-round(zdist, digits=4))

bl-ch4-10.R

set.seed(12345)

n<-10000;

z1<-rnorm(n,0,1)
z2<-rnorm(n,0,1)
z3<-rnorm(n,0,1)
z4<-rnorm(n,0,1)
z5<-rnorm(n,0,1)

chib<-z1"2 + 22”2+ 2372 + 24”2 +z5"2
hist(chib, freq=F, col="grey", xlab="", xlim=c(0, 25), breaks=100)

par(new=T)
plot(density(chi5), axes=F, main="", xlim=c(0, 25), lwd=2, col="blue")

bl-ch4-11.R

set.seed(12345)

n<-10000;
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df_list<-c(5,10,20,30)
par(mfrow=c(2,2))

for (i in 1:length(df list)) {

hist(rchisq(n, df =df_list/[i], ncp=0), breaks =100, xlab = "chisq",
main =paste("df =", df_list[i]))
}

bl-ch4-12.R

n_list<-c(2,5,7,9) # FE4(n)
df list<-n_list-1 # A¥=

curve(dchisq(x, 1, ncp=0), add=T, col="blue", xlim=c(0, 16), ylim=c(0, 0.8),
xlab="chisq", ylab="f(chisq)")

curve(dchisq(x, 4, ncp=0), add=T, col="red", xlim=c(0, 16), ylim=c(0, 0.8),
xlab="chisq", ylab="f(chisq)")

curve(dchisq(x, 6, ncp=0), add=T, col="green", xlim=c(0, 16), ylim=c(0,
0.8), xlab="chisq", ylab="f(chisq)")

curve(dchisq(x, 8, ncp=0), add=T, col="black", xlim=c(0, 16), ylim=c(0,
0.8), xlab="chisq", ylab="f(chisq)")

par(mfrow=c(2,2))
for (i in 1:length(df _list)) {

curve(dchisq(x, df list[il, ncp=0), add=F, xlim=c(0, 16), ylim=c(0, 0.8),
xlab="chisq", ylab="f(chisq)", main=paste("df=", df list[i]))




bl-ch4-13.R

df<-30

chil<{-numeric (df)
chi2<-numeric (df)
chi3<-numeric (df)
chi4<-numeric (df)
chi5<-numeric (df)
chi6<-numeric (df)

for(j in 1:df) {
chil[j1<-qchisq(0.01,j)
}

for(j in 1:df) {
chi2[jl1<-qchisq(0.05,j)
}

for(j in 1:df) {
chi3[jl<-qchisq(0.1,j)
}

for(j in 1:df) {
chi4 [j1<-qchisq(0.9,j)
}

for(j in 1:df) {
chi5[j1<-qchisq(0.95,j)
}

for(j in 1:df) {
chi6 [j1<-qchisq(0.99,j)
}

round ((chi<-cbind(chil,chi2,chi3,chi4,chi5, chif)),digits=4)
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bl-ch4-14.R

set.seed(12345)

n<-10000;

z<-rnorm(n,0,1)

z1<-rnorm(n,0,1)

z2<-rnorm(n,0,1)

z3<-rnorm(n,0,1)

z4<-rnorm(n,0,1)

z5<-rnorm(n,0,1)

chib<-z1"2+ 2272+ 232+ 24”2+ 25”2
sqchi5<-sqrt(chi5/5)

t5<-z/sqchib

hist(t5, breaks=100)

bl-ch4-15.R

set.seed(12345)

n<-10000;
df_list<-c(5,10,15,30)
par (mfrow=c(2,2))

for (i in 1:length(df list)) {
hist(rt(n, df=df list[i], ncp=0), breaks=100, xlab="t", main=paste("df=",
df list[i]))
}
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bl-ch4-16.R

n_list<-c(2,5,10,30) # ZEE(n)
df_list<-n_list-1 # AF=
xlab="t", ylab="£(t)")

xlab="t", ylab="£(t)")

xlab="t", ylab="f(t)")

xlab="t", ylab="£(t)")
par(mfrow=c(2,2))

for (i in 1:length(df_list)) {

curve(dt(x, df_listlil, ncp=0), xlim=c(-4, 4),
ylab="f(t)", main=paste("df=", df_list[i]))

curve(dt(x, 1, ncp=0), add=T, col="blue", xlim=c(-4, 4),
curve(dt(x, 4, ncp=0), add=T, col="red", xlim=
curve(dt(x, 9, ncp=0), add=T, col="green", xlim=c(-4, 4),

curve(dt(x, 29, ncp=0), add=T, col="black", xlim=c(-4, 4),

c(-4, 4), ylim=

ylim=c(0, 0.5),

ylim=

ylim=

ylim=

c(0, 0.5),

c(0, 0.5),

c(0, 0.5),

c(0, 0.5),

xlab="t",

bl-ch4-17.R

t11<-rep(NA,9)
t12<-rep(NA,9)
t13<-rep(NA,9)
t14<-rep(NA,9)
t15<-rep(NA,9)

for(i in 1:9) {
t11[il1<-qt(0.9, i)

}

for(i in 1:9) {
t12[i]1<-qt(0.95, 1)

}
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for(G in 1:9) {
t13[i]<-qt(0.975,i)

}

for(i in 1:9) {
t14[i]<-qt(0.99, 1)

}

for( in 1:9) {
t15[i]<-qt(0.995, i)

}

round ((poi<-cbind (t11,t12,t13,t14,t15)), digits=3)

bl-ch4-18.R

set.seed(12345)

n<-10000;

z1<-rnorm(n,0,1)
z2<-rnorm(n,0,1)
z3<-rnorm(n,0,1)
z4<-rnorm(n,0,1)
z5<-rnorm(n,0,1)
z6<-rnorm(n,0,1)
z7<-rnorm(n,0,1)
z8<-rnorm(n,0,1)
z9<-rnorm(n,0,1)
z10<-rnorm(n,0,1)

chilb<-z1"2 + 2272 + 2372+ z4"2 + 2572
chi25<-z6"2 + 2772 + 282 +29"2 +2z10"2

£55<=(chil5/5)/(chi25/5)

hist(f55, breaks=100)
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bl-ch4-19.R

set.seed(12345)

n<-10000;
df1_list<-c(5,9,15,38)
df2_list<-c(10,10,20,40)
par(mfrow=c(2,2))

for (i in 1:length(df list)) {

hist(rf(n, dfl=dfl_list[i], df2=df2_list[il, ncp=0), breaks=100, xlab="f",
main =paste("df1=", dfl_list[i], "df2=", df2_list[i]))
}

bl-ch4-20.R)

curve(df(x, 3, 15, ncp=0), add=T, col="blue", xlim=c(0,5), ylim=c(0,1),
xlab="{", ylab="{(f)")
curve(df(x, 5, 15, ncp=0), add=T, col="red", xlim=c(0,5), ylim=c(0,1),
xlab="{", ylab="{(f)")
curve(df(x, 10, 15, ncp=0), add=T, col="green", xlim=c(0,5), ylim=c(0,1),
xlab="{", ylab="{(f)")
curve(df(x, 15, 15, ncp=0), add=T, col="black", xlim=c(0,5), ylim=c(0,1),
xlab="{", ylab="{(f)")

dfl_list<-c(3,5,10,15)
df2_list<-c(15,15,15,15)
par (mfrow=c(2,2))

for (i in 1:length(dfl_list)) {

curve (df (x, df1 =df1_list[i], df2 =df2_list[il, ncp=0), xlim=c(0,5),
ylim=c(0,1), xlab="f", ylab="f(f)", main=paste("df1=", dfl_list[i], "df2=",
df2_list[i]))
}
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bl-ch4-21.R

f11<-rep(NA,10)
f12<-rep(NA,10)
f13<-rep(NA,10)
f14<-rep(NA,10)
f15<-rep(NA,10)
£16<-rep(NA,10)
f17<-rep(NA,10)
f18<-rep(NA,10)
f19<-rep(NA,10)
f110<-rep(NA,10)

for(i in 1:10) {
f11[i]1<-qf(0.95,

}

for(i in 1:10) {
f12[11<-qf(0.95,

}

for(i in 1:10) {
f13[11<-qf(0.95,

}

for(i in 1:10) {
£14[11<-qf (0.95,

}

for(i in 1:10) {
f15[11<-qf(0.95,

}

for(i in 1:10) {
£16[1]1<-qf(0.95,

}

for(i in 1:10) {
£17[11<-qf(0.95,

}

for(i in 1:10) {
f18[1]<-qf(0.95,

}

for(i in 1:10) {

)

)

i)

)

i)

)

i)

)
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f19[il<-qf(0.95, 9, 1)
}
for(i in 1:10) {
£110[il<-qf(0.95, 10, i)
}

round ((poi<-cbind(f11,f12,{13,f14,f15,{16,f17,{18,{19,f110) ), digits=2)

M5y EESRE

bl-ch5-1.R

sampling.dist. 1<-NULL
for(sample.count in 1:10000){
set.seed (sample.count)
sample.mean. 1<{-mean(rnorm(2,2.5,1.118))
sampling. dist. 1<{—c(sampling.dist.1, sample.mean.1)
}
mean (sampling.dist.1)
var (sampling.dist.1)
hist (sampling.dist. 1, freq=F, col="grey", xlab="", xlim=c(-1, 6),
breaks =100)
par(new=T)
plot(density(sampling.dist.1), axes=F, main="", xlim=c(-1, 6), Ilwd=2,
col="blue")

bl-ch5-2.R

sampling.dist. 1<-NULL




for(sample.count in 1:10000){
set.seed(sample.count)
sample. mean. 1<{-mean(rnorm(2,2.5,1.118))
sampling. dist. 1<-c(sampling.dist.1, sample.mean.1)

}

mean (sampling. dist. 1)

var (sampling. dist.1)

table(round(sampling.dist.1))

sampling.dist.2<-NULL
for(sample.count in 1:10000){
set.seed (sample.count)
sample.mean. 2<-mean(rnorm(5,2.5,1.118))
sampling. dist.2<-c(sampling.dist.2, sample.mean.2)
}
mean (sampling.dist.2)
var (sampling. dist.2)
table (round (sampling.dist.2))

sampling.dist.3{-NULL
for(sample.count in 1:10000){
set.seed (sample.count)
sample. mean. 3<-mean(rnorm(10,2.5,1.118))
sampling. dist. 3<-c(sampling.dist.3, sample.mean.3)
}
mean (sampling.dist.3)
var (sampling. dist.3)
table (round (sampling.dist.3))

sampling.dist.4<-NULL

for(sample.count in 1:10000){
set.seed(sample.count)
sample. mean.4<-mean (rnorm(30,2.5,1.118))
sampling. dist. 4<-c(sampling.dist.4, sample.mean.4)

}

mean (sampling.dist.4)

var (sampling. dist.4)
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table(round(sampling.dist.4))
par (mfrow=c(2,2))
hist(sampling. dist. 1, freq=F,
breaks =100)

par(new=T)

plot (density (sampling.dist. 1),
col="blue")

hist (sampling.dist. 2, freq=F,
breaks =100)

par(new=T)

plot (density (sampling.dist.2),
col="blue")

hist (sampling.dist. 3, freq=F,
breaks =100)

par(new=T)

plot (density (sampling.dist.3),
col="blue")

hist (sampling.dist. 4, freq=F,
breaks =100)

par(new=T)

plot (density (sampling.dist.4),
col="blue")

axes =

axes =

axes =

axes =

nn

col="grey", xlab="", xlim=c(-1, 6),

F, main="", xlim=c(-1, 6), Ilwd=2,

nn

col="grey", xlab="", xlim=c(-1, 6),

F, main="", xlim=c(-1, 6), Ilwd=2,

nn

col="grey", xlab="", xlim=c(-1, 6),

F, main="", xlim=c(-1, 6), Ilwd=2,

nn

col="grey", xlab="", xlim=c(-1, 6),

F, main="", xlim=c(-1, 6), Ilwd=2,

bl-ch5-3.R

from uniform dist.

set.seed(234567389)

sample_size <- 11

#sampling distribution of sample mean of 1000 samples with 11 size samples




min <- 0
max <- 1
n_rep <- 1000

sample_mean <- rep(NA, n_rep)
sample_var <- rep(NA, n_rep)

#graphics.off ()
#par (mfrow=c(1,2))

for (i in 1:n_rep) {
my_sample <- runif(sample_size,min,max)
sample_mean[i] <- mean(my_sample)
sample_var[i] <- var(my_sample)

}

(mean(sample_mean))
(var(sample_mean))

hist(sample_mean, breaks=40, prob=T, main=paste( "samples of size 11"
),col ="black")
par(new=T)

nn

plot (density (sample_mean), xlab="", axes=F, main="", col="blue")

bl-ch5-4.R

set.seed(123456)

curve(dnorm(x,10,2), xlim = c(4, 16), ylim = c(0.0, 0.22))
par(mfrow=c(2,2))

ybar5<-numeric(10000)

for(j in 1:10000) {
sample<-rnorm(5,10,2)




ybar5[j] <-mean(sample)
}
mean (ybar5)
var (ybarb)

curve(dnorm(x,10,sqrt(0.78186)), add=T, lty=2)

ybar10<-numeric (10000)
for(k in 1:10000) {
sample<-rnorm(10,10,2)
ybar10[k] <-mean(sample)
}
mean(ybarl0)
var (ybar10)
plot(density(ybarl0),xlim = c(7.5, 12.5), ylim =
curve(dnorm(x,10,sqrt(0.39928)), add=T, lty=2)

ybar20<-numeric (10000)
for(m in 1:10000) {T
sample<-rnorm(20,10,2)
ybar20[m] <-mean(sample)
}
mean (ybar20)
var (ybar20)
plot(density (ybar20),xlim = c(8.5, 11.5), ylim =
curve(dnorm(x,10,sqrt(0.20396)), add=T, lty=2)

ybar30<-numeric (10000)
for(n in 1:10000) {
sample<-rnorm(30,10,2)
ybar30[n] <-mean(sample)
)3
mean (ybar30)
var (ybar30)
plot(density (ybar30),xlim = c(8.5, 11.5), ylim =
curve(dnorm(x,10,sqrt(0.13477)), add=T, lty=2)

plot(density (ybarb), xlim = c(7, 13), ylim = c(0.0, 0.5))

c(0.0, 0.8))

c(0.0, 1.0))

c(0.0, 1.2))




bl-ch5-5.R

set.seed(123456)

curve(dchisq(x,1))

par(mfrow=c(2,2))

ybar2<-numeric(10000)
for(j in 1:10000) {
sample<-rchisq(2,1)
ybar2[j] <-mean(sample)
}
mean (ybar2)
var (ybar2)
plot(density(ybar2), xlim = c(0, 10), ylim = (0.0, 0.8))
curve(dnorm(x,1,sqrt(0.98413)), add=T, lty=2)

ybar10<-numeric(10000)
for(k in 1:10000) {
sample<-rchisq(10,1)
ybarl0[k] <-mean(sample)
}
mean (ybarl0)
var (ybar10)
plot(density(ybar10),xlim = c(0, 4), ylim = c(0.0, 1))
curve(dnorm(x,1,sqrt(0.20167)), add=T, lty=2)

ybar20<-numeric(10000)
for(n in 1:10000) {
sample<-rchisq(20,1)
ybar20[n] <-mean(sample)
}
mean (ybar20)
var (ybar20)
plot(density(ybar20),xlim = c(0, 3), ylim = c(0.0, 1.5))
curve(dnorm(x,1,sqrt(0.10241)), add=T, lty=2)




ybar30<-numeric (10000)
for(m in 1:10000) {
sample<-rchisq(30,1)
ybar30[m] <-mean(sample)
}
mean (ybar30)
var (ybar30)
plot(density (ybar30),xlim = c(0.3, 1.7), ylim = c(0.0, 2.0))
curve(dnorm(x,1,sqrt(0.06725)), add=T, lty=2)

bl-ch5-6.R

set.seed(123456)

curve(dunif (x,min=0, max=1))

par(mfrow=c(2,2))

ybar2<-numeric(10000)
for(j in 1:10000) {
sample<—runif (2,min=0, max=1)
ybar2[j] <-mean(sample)
}
mean (ybar2)
var(ybar2)
plot(density(ybar2), xlim = c(0, 1), ylim = ¢(0,3.5))
curve(dnorm(x,0.5,sqrt(0.04193)), add=T, lty=2)

ybar10<-numeric (10000)
for(k in 1:10000) {
sample<-runif (10,min=0, max=1)
ybar10[k] <-mean(sample)
}
mean (ybarl0)
var (ybarl0)
plot(density (ybar10),xlim = c(0, 1), ylim = ¢(0,4.5))
curve(dnorm(x,0.5,sqrt(0.00829)), add=T, lty=2)




ybar20<-numeric(10000)
for(m in 1:10000) {
sample<—runif (20,min=0, max=1)
ybar20[m] <-mean(sample)
}
mean (ybar20)
var (ybar20)
plot(density (ybar20),xlim = c(0, 1), ylim c(0, 6.5))
curve(dnorm(x,0.5,sqrt(0.00411)), add=T, lty=2)

ybar30<-numeric(10000)
for(n in 1:10000) {
sample<—runif (30,min=0, max=1)
ybar30[n] <-mean(sample)
}
mean (ybar30)
var (ybar30)
plot(density (ybar30),xlim = c(0, 1), ylim = c(0, 7.7))
curve(dnorm(x,0.5,sqrt(0.00283)), add=T, lty=2)

bl-ch5-7.R

sampling.dist. 1<-NULL

for(sample.count in 1:10000){
set.seed(sample.count)
sample.var. 1{-mean(rnorm(2,2.5,1.118))
sampling.dist. 1<-c(sampling.dist.1, sample.var.1)

}

mean (sampling. dist. 1)

var(sampling.dist.1)

hist(sampling. dist. 1, freq=F, col="grey", xlab="", xlim=c(-1, 6),
breaks =100)
par(new=T)
plot(density(sampling.dist.1), axes=F, main="", xlim=c(-1, 6), Iwd=2,

col ="blue")
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bl-ch5-8.R

#sampling distribution of sample mean of 1000 samples with 11 size samples
from normal dist.

set.seed(23456789)

sample_size <- 11

n_rep <- 1000

sample_mean <- rep(NA, n_rep)
sample_var <- rep(NA, n_rep)

#graphics.off ()
#par (mfrow=c(1,2))

for (i in 1lin_rep) {
my_sample <- rnorm(sample_size,10,2)
sample_mean[i] <- mean(my_sample)
sample_var[i] <- var(my_sample)

}

(mean(sample_mean))
(var(sample_mean))

hist(sample_var, breaks=40, prob=T, main=paste( "samples of size 11"
),col ="black")
par(new=T)

nn

plot(density(sample_var), xlab="", axes=F, main="", col="blue")

bl-ch5-9.R

set.seed(123456)

par(mfrow=c(2,2))




vbar10<-numeric(10000)
for(j in 1:10000) {
samplel0<-rnorm(10,10,2)
vbarl0[j] <-var(samplel0)
}

(mean(vbar10))
(var(vbarl0))

hist(vbarl0, freq=F, xlab="", breaks=100)
par (new="T)

nn

plot(density (vbar10), axes=F, main="", col="blue")
vbar20<-numeric(10000)
for(j in 1:10000) {
sample20<-rnorm(20,10,2)
vbar20[j] <-var(sample20)
}

(mean(vbar20))
(var(vbar20))

hist(vbar20, freq=F, xlab="", breaks=100)
par(new=T)
plot(density (vbar20), axes=F, main="", col="blue")

vbar30<-numeric(10000)
for(j in 1:10000) {
sample30<-rnorm(30,10,2)
vbar30[j] <-var(sample30)
}

(mean(vbar30))
(var(vbar30))

hist(vbar30, freq=F, xlab="", breaks=100)




par(new=T)
plot(density(vbar30), axes=F, main="", col="blue")

vbar100<-numeric(10000)

for(j in 1:10000) {
sample100<-rnorm(100,10,2)
vbarl00[j] <-var(sample100)

}

(mean(vbar100))
(var(vbar100))

hist(vbar100, freq=F, xlab="", breaks=100)
par(new=T)
plot(density (vbar100), axes=F, main="", col="blue")

Hed = ¥

bl-ch6-1.R

set.seed(12343)

#par (mfrow=c(1,2))

Cllower<-numeric(100)
Clupper<-numeric(100)
pvaluel<-numeric(100)

for(j in 1:100) {
sample<-rnorm(80,10,2)
testres1<-t.test(sample,mu=10)
Cllower [j1<-testres1$conf.int [1]




Clupper [jl1<-testres1$conf.int[2]
pvaluel [j]<-testres1$p.value
}
testres1$conf.int[1]
testres1$conf.int[2]
testres1$p.value

reject1<{-pvaluel<=0.05
table(rejectl)

color<-rep(gray(.7),100)
color [reject1]<-"black"

plot(0, xlim=c(9,11), ylim=c(1,100), ylab="Sample No.", xlab="", main="95%
Confidence Interval")
abline(v=10, lty=2)
for(j in 1:100) {
lines(c(Cllower [j], Clupperljl), c(,j), col=color[j], lwd=1)
}

bl-ch6-2.R

datal<-"http://kanggc.iptime.org/book/data/chapl0-2.csv"
datal_dat<-as.matrix(read.csv(datal,header =T), ncol=1)
varl<-datal_dat[,1]

xbar =mean(varl)

z<-gqnorm(0.025, 0, 1, lower.tail=F)
LCL1<-xbar-z*(0.6/sqrt(35))

UCL1<-xbar +z*(0.6/sqrt(35))

LCL1;UCL1
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bl-ch6-3.R

library (foreign)

time<-read.dta(file = "http://kanggc.iptime.org/book/data/chapl10-2.dta")
n<-length (time$varl)

s<-sd(time$varl)

t19<-qt(0.025, df =19, lower.tail=F)

average<-mean (time$varl)

LCL<-average-t19+*(s/sqrt(n))

UCL<-average +t19*(s/sqrt(n))

LCL;UCL

bl-ch6-4.R

set.seed(12345)

Cllower<-numeric(100)
Clupper<-numeric(100)
pvaluel<-numeric(100)

for(j in 1:100) {
sample<-rnorm(100,10,2)
s2<-var(sample)
chi<-(99*s2)/4
pvaluel [j1<-pchisq(chi, 0.95, df=99, lower.tail=F)
chi_u<-qchisq(0.975, df =99)
chi_I<-qchisq(0.025, df=99)
Cllower[j1<-(99%s2)/chi_u
Clupper [j1<-(99%s2)/chi_l
# pvaluel[jl<-pvaluel




Cllower
Clupper
pvaluel

reject1<-pvaluel<=0.05
table(rejectl)

color<-rep(gray(.7),100)
color [reject1]<-"black"

plot(0, xlim=c(1,7), ylim=c(1,100), ylab="Sample No.", xlab="", main="95%
Confidence Interval for sigma-square")
abline(v=4, lty=2)
for(j in 1:100) {
lines(c(Cllower [j], Clupperljl), c(j,j), col=color[jl, lwd=1)
}

bl-ch6-5.R

time<-c(66,37,18,31,85,63,73,83,65,80
df<-length(time)-1

s.sq<-var (time)

u.chi<—qchisq(0.005, df=df, lower.tail=F)
u.chi

1.chi<-qchisq(0.995, df=df, lower.tail=F)
l.chi

LCL<-(df*s.sq/u.chi)

UCLK<-(df*s.sq/L.chi)

LCL;UCL
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bl-ch7-1.R

set.seed(123456)
par(mfrow=c(1,3))

Cllower<-numeric(100)
Clupper<-numeric(100)
pvaluel<-numeric(100)
pvalue2<-numeric (100)

for(j in 1:1000) {
sample<-rnorm(100,10,2)
testres1<-t.test(sample,mu=10)
Cllower [j1<-testres1$conf.int [1]
Clupper [jl1<-testres1$conf.int[2]
pvaluel [j]<-testres1$p.value
pvalue2[jl1<-t.test (sample, mu=9.5)$p.value

reject2<-pvalue2<=0.05
table(reject2)

color<-rep(gray(.7),100)
color[reject2[1:100]1<-"black"

plot(0,  xlim=c(9,11),  ylim=c(1,100), ylab="Sample No.",  xlab="",
main = "Incorrrect HO")
abline(v=9.5, lty=2)
for(j in 1:100) {
lines(c(Cllower [j], Clupperljl), c(,j), col=color[jl, lwd=1)
}




set.seed(12345)

Cllower<-numeric(100)
Clupper<-numeric(100)
pvaluel<-numeric(100)
pvalue2<-numeric(100)

for(j in 1:100) {
sample<-rnorm(100,10,2)
testres1<-t.test (sample,mu=10)
Cllower [j]<-testres1$conf.int[1]
Clupper [jl1<-testres1$conf.int[2]
pvaluel [j]<-testres1$p.value
pvalue2 [j1<-t.test (sample, mu=9.3)$p.value

reject2<-pvalue2<=0.05
table(reject2)

color<-rep(gray(.7),100)
color [reject2[1:100]1<-"black"

plot (0, xlim=c(9,11), ylim=c(1,100), ylab ="Sample
main = "Incorrrect HO")
abline(v=9.3, lty=2)
for(j in 1:100) {

lines(c(Cllower [j], Clupperljl), c(j,j), col=color[j], lwd=1)
}

set.seed(1234)

Cllower<-numeric(100)
Clupper<-numeric(100)
pvaluel<-numeric(100)
pvalue2<-numeric(100)

No.",

xlab =

nn

’
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for(j in 1:100) {
sample<-rnorm(100,10,2)
testres1<-t.test (sample,mu = 10)
Cllower [j]<-testres1$conf.int[1]
Clupper [jl1<-testres1$conf.int[2]
pvaluel [j]<-testres1$p.value
pvalue2[j1<-t.test (sample, mu=9.2)$p.value

reject2<-pvalue2<=0.05
table(reject2)

color<-rep(gray(.7),100)
color [reject2[1:100]1<-"black"

plot(0, xlim=c(9,11), ylim=c(1,100), vylab="Sample No.", xlab="",
main = "Incorrrect HO")
abline(v=9.2, lty=2)
for(j in 1:100) {
lines(c(Cllower [j], Clupperljl), c(,j), col=color[j], lwd=1)
}

bl-ch7-2.R

library (foreign)

time<-read.dta(file = "http://kanggc.iptime.org/book/data/chapl1-2-1.dta")

time$varl

t.test(time$varl, mu=34.5, conf.level=0.9)

(t14<-qt(0.05, df =14, lower.tail=T))
(t14<-qt(0.05, df=14, lower.tail=F))




bl-ch7-3.R

x<-c(36,37,38,39,39,44,47)

xbar<-mean(x)
xbar

s.sq{—var (x)
s.sq

df=6
q=length(x)-1

chi<- (df*s.sq)/62
chi

pchisq(chi, df=q,lower.tail=F)

UCV<-qchisq(0.025, df=q, lower.tail=F)
Uucv

LCV<-qchisq(0.975, df =q, lower.tail=F)
LCV

bl-ch7-4.R

small<-c(41,45,42,62,68,54,52,55,44,60)
large<-c(74,74,70,52,76,91,71,78,76,78,83,50,52,66,65,53,72)

(mean(small))
(mean(large))

(var(small))
(var(large))

t.test(small, large, alternative="less", var.equal=T, conf.level=0.99)

(t25<-qt(0.01, df=25, lower.tail=F))




bl-ch7-5.R

econ<-c(75,71,52,46,70,83)
mgt<{-c(82,73,59,48,68,93)

t.test(econ, mgt, conf.level=0.95)

(mean(econ))
(mean(mgt))

(var(econ))
(var(mgt))

(t10<-qt(0.05, df =10, lower.tail=F))

bl-ch7-6.R

library (foreign)

data<-read.dta(file = "http://kanggc.iptime.org/book/data/chapl1-3-2.dta")

data$varl
data$var2

d<-data$varl—-data$var2
d

(var(d))

t.test(d, mu=0, alternative="less", conf.level=0.95)

(t5<—qt(0.05, df=5, lower.tail=F))




bl-ch7-7.R

small<-c(41,45,42,62,68,54,52,55,44,60)
large<-c(74,74,70,52,76,91,71,78,76,78,83,50,52,66,65,53,72)

(mean(small))

(mean(large))

(var(small))
(var(large))

var.test(large, small, alternative="greater", conf.level=0.95)

(f<-qf(0.05, df1=16, df2=9, lower.tail=F))
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a
P(X<a)= Y, Pz)
r=0

(a) n=5
a] 00l 005 010 020 030 040 050 060 070 080 090 095 099
0| 951 774 590 328 168 .078 .031 .010 .002 .000 .000 .000 .000
1| .999 977 919 737 528 337 187 .087 .031 .007 .000 .000 .000
2] 1L00 .999 991 942 837 683 500 .317 .163 .058 .009 .00l  .000
3100 100 100 .993 969 914 813 663 472 263 .081 .023 .00l
4] 100 100 100 100 .998 990 .969 .922 832 672 410 226 049

(b) n=10
a| 000 005 010 020 030 040 050 060 070 080 090 095 0.99
0| 904 599 349 107 028 006 .001 .000 .000 .000 .000 .000 .000
1| .996 914 736 .376 .149 046 011 .002 .000 .000 .000 .000 .000
2| 100 .98 930 678 .383 .167 .055 .012 .002 .000 .000 .000 .000
3| 100 .999 987 879 650 382 172 055 .01l .00l .000 .000 .000
4] 100 100 .998 967 850 .633 .377 .166 .047 .006 .000 .000 .000
5| 100 100 100 .994 953 834 623 .367 .150 .033 .002 .000 .000
6| 100 100 100 .999 .989 .945 828 618 350 .121 .013 .00l  .000
71100 100 100 100 .998 .988 .945 833 617 .322 070 .012 .000
8 100 100 100 100 100 .998 .989 954 851 .624 264 086 .004
9] 100 100 100 100 100 100 .999 994 972 .893 651 .40l  .096

(¢c) n=15
a] 001 005 010 020 030 040 050 060 070 080 090 095 099
0] 860 463 206 .035 005 .000 .000 .000 .000 .000 .000 .000 .000
1| 990 829 549 167 .035 .005 .000 .000 .000 .000 .000 .000 .000
2| 100 .964 816 .398 .127 027 .004 .000 .000 .000 .000 .000 .000
3| 100 .995 944 648 297 091 018 .002 .000 .000 .000 .000 .000
4] 100 999 987 .86 514 217 .059 .009 .00l .000 .000 .000 .000
5] 100 100 .998 939 .722 403 .15 034 .004 .000 .000 .000 .000
6| 100 100 100 .982 .869 .610 .304 095 .015 .00 .000 .000 .000
71100 100 100 .996 950 787 500 .213 050 .004 .000 .000 .000
8| 100 100 100 .999 985 905 .696 .390 .131 .018 .000 .000 .000
9 100 100 100 100 .996 .966 .849 597 278 .061 .002 .002 .000
10/ 100 100 100 100 .999 991 941 783 485 164 013 013 .000
11] 100 100 100 100 100 .998 .982 .909 703 .352 .056 .056 .000
12| 100 100 100 100 100 100 .996 .973 .873 602 .184 .184 .000
13| 100 100 100 100 100 100 100 .995 965 .833 451 451 010
14| 100 100 100 100 100 100 100 100 .995 .965 794 794  .140




(d) n=20
a] 00l 005 010 020 030 040 050 060 070 080 090 095  0.99
0| .818 .35 .122 012 .00l .000 .000 .000 .000 .000 .000 .000 .000
1].983 736 .392 069 .008 .001 .000 .000 .000 .000 .000 .000 .00
2| .999 925 677 206 035 .004 .000 .000 .000 .000 .000 .000 .000
3| 100 .984 867 411 .107 016 .001 .000 .000 .000 .000 .000 .000
4| 100 .997 957 630 238 051 .006 .000 .000 .000 .000 .000 .000
5| 100 100 .989 804 416 126 .021 .002 .000 .000 .000 .000  .000
6| 100 100 .998 913 .608 .250 .058 .006 .000 .000 .000 .000  .000
7| 100 100 100 968 772 416 .132 .021 .001 .000 .000 .000  .000
8| 100 100 100 .990 .887 596 .252 .057 .005 .000 .000 .000  .000
9| L00 100 100 .997 952 755 412 128 .017 .00l  .000 .000  .000
10 100 100 100 .999 .983 .872 .588 .245 048 .003 .000 .000  .000
11 .00 100 100 100 .995 .943 748 404 113 .00 000 .000  .000
12 100 100 100 100 .999 .979 .868 .584 228 032 .000  .000  .000
13| 100 100 100 100 100 .994 942 750 .392 .087 .002 .000  .000
14| 100 100 100 100 100 .998 .979 874 584 196 011  .000  .000
15[ 100 100 100 100 100 100 .994 .949 762 370 .043  .003  .000
16| 100 100 100 100 100 100 .999 .984 .893 589  .133  .016  .000
17 100 100 100 100 100 100 100 .996 .965 794 323 .075 .00l
18 100 100 100 100 100 100 100 .99 .992 931  .608  .264  .017
19 .00 100 100 100 100 100 100 100  .999 988  .878 642  .182
(e) n=25
a] 00l 005 010 020 030 040 050 060 070 080 090 095 0.99
0| .778 277 072 004 000 .000 .000 .000 .000 .000 .000 .000 .000
1| .974 642 271 027 002 .000 .000 .000 .000 .000 .000 .000 .000
2| 998 873 537 .098 .009 .000 .000 .000 .000 .000 .000 .000 .000
3| 100 966 .764 234 033 .002 .000 .000 .000 .000 .000 .000 .000
4100 .993 902 421 .09 .009 .000 .000 .000 .000 .000 .000 .000
5| 100 .999 967 .617 .193 029 .002 .000 .000 .000 .000 .000 .000
6| 100 100 .991 .780 .341 .074 .007 .000 .000 .000 .000 .000 .000
7] 100 100 .998 891 512 154 022 .001 .000 .000 .000 .000 .000
8| 100 100 100 .953 677 274 054 .004 .000 .000 .000 .000 .000
9| 100 100 100 .983 .811 425 115 .013 .000 .000 .000 .000 .000
10 .00 100 100 .994 .902 .586 .212 034 .002 .000 .000 .000 .000
11 .00 100 100 .998 956 .732 .345 .078 .006 .000 .000 .000 .000
12| .00 100 100 100 .983 .846 .500 .154 017 .000 .000 .000  .000
13| 100 100 100 100 .994 922 655 .268 .044 .002 .000 .000 .000
14| 100 100 100 100 .998 .966 .788 .414 .098 .006 .000 .000  .000
15| 100 100 100 100 100 987 .885 .575 .189 017 .000 .000 .000
16 .00 100 100 100 100 .996 .946 .726 .323 .047 .000 .000 .000
17| .00 100 100 100 100 .999 .978 .846 .488 .109 .002 .000 .000
18 100 100 100 100 100 100 .993 .926 .659 .220 .009 .000 .000
19 .00 100 100 100 100 100 .998 .971 .807 .383 .033 .00l  .000
20| .00 100 100 100 100 100 100 .991 .910 .579 .098 .007 .000
21| .00 100 100 100 100 100 100 .98 .967 .766 .236 .034 .00
22| 1.00 100 100 100 100 100 100 100 .991 .902 .463 .127 .002
23| .00 100 100 100 100 100 100 100 .98 .973 729 358  .026
24| 1.00 100 100 100 100 100 100 100 100 .96 .928  .723  .222
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c k_—u
P(x<c)= Y A5 — 7193
k=0

EZLH

K7
i °1 002 0.04 0.06 0.08 0.10 0.15 0.20 0.25 0.30 0.35 0.40
0 0.980 0961 0942 0923 0905 0861 0.819 0779 0741 0705 0.670
1 1000 0999 0998 0997 0995 0990 0982 0974 0963 0951 0.938
2 1000 1.000 1000  1.000 1.000  0.999 0999 0.998 0996 0.994 0.992
3 1.000 1.000  1.000  1.000 1.000  1.000 1.000 1000  1.000  1.000  0.999
4 1.000 1000 1.000 1.000 1000 1.000 1000 1000 1.000 1000  1.000
" €| 045 0.50 0.55 0.60 0.65 0.70 0.75 0.80 0.85 0.90 0.95
0 0.638 0607 0577 0.549 0522 0497 0472 0449 0427 0407 0.387
1 0.925 0910 0894 0.878 0861 0.844 0.827 0809 0791 0.772 0.754
2 0.989 0986 0982 0977 0972 0966 0959 0953 0.945 0937 0.929
3 0.999 0998 0998 0997 0996 0994 0993 0991 0989 0.987 0.984
4 1.000 1000  1.000 1.000 0999 0999 0999 0999 0.998 0.998 0.997
5 1.000  1.000 1000 1.000 1.000 1000 1.000 1.000 1.000 1.000  1.000
" ¢ 1.0 11 1.2 1.3 1.4 15 1.6 1.7 1.8 1.9 2.0
0 0.368 0333 0301 0273 0247 0223 0202 0183 0165 0.150 0135
1 0.736 0699 0.663 0.627 0592 0.558 0.525 0493 0463 0434 0.406
2 0.920 0900 0879 0.857 0833 0809 0783 0757 0731 0704 0.677
3 0981 0974 0966 0.957 0946 0934 0921 0907 0891 0.875 0.857
4 0.996 0995 0992 0989 098 0981 0976 0970 0.964 0956  0.947
5 0.999 0999 0998 0.998 0997 099 0994 0992 0.990 0.987  0.983
6 1.000 1000  1.000  1.000 0999 0999 0999 0998 0.997 0997  0.995
7 1.000 1000  1.000 1.000  1.000  1.000 1000  1.000 0.999 0.999  0.999
8 1.000 1000 1.000 1.000 1000 1.000 1000 1.000 1.000 1000  1.000
" ¢ 2.2 2.4 2.6 2.8 3.0 3.2 3.4 3.6 3.8 4.0 4.2
0 0.111  0.091 0.074 0061 0.050 0.041 0.033 0.027 0022 0.050 0.015
1 0.355 0308 0.267 0231 0199 0171 0.147 0126 0107 0.092 0.078
2 0.623 0570 0518 0469 0423 0380 0340 0303 0.269 0238 0210
3 0819 0779 0736 0.692 0647 0.603 0558 0515 0473 0433 0.395
4 0928 0904 0877 0.848 0815 0.781 0.744 0706 0.668 0.629  0.590
5 0975 0964 0951 0935 0916 0895 0.871 0844 0816 0.785 0.753
6 0.993 0988 0983 0976 0966 0955 0.942 0927 0.909 0.889 0.867
7 0.998 0997 0995 0992 0988 0983 0977 0969 0960 0.949 0.936
8 1000 0999 0999 0998 0.996 0994 0992 0988 0984 0979 0.972
9 1.000 1000  1.000 0.999 0999 0998 0.997 0996 0.994 0992 0.989
10 1000 1000  1.000  1.000 1.000  1.000 0.999 0999 0998 0.997 0.996
11 1.000 1.000  1.000  1.000 1.000  1.000  1.000 1000 0.999 0.999  0.999
12 1.000 1000 1.000 1.000 1000 1.000 1000 1.000 1.000 1.000  1.000




RE 2 FREAE 225

4.4 4.6 48 5.0 5.2 5.4 5.6 5.8 6.0 6.2 6.4
0 0.012 0.010 0.009 0.007 0006 0.005 0.004 0003 0.002 0.002 0.002
1 0.066 0056 0.048 0.040 0034 0029 0024 0021 0017 0.015 0012
2 0.185 0163 0143 0125 0109 0.095 0.082 0072 0.062 0.054 0.046
3 0.359 0326 0294 0.265 0238 0213 0191 0170 0151 0.134 0.119
4 0.551 0.5613 0476 0.440 0406 0373 0342 0313 0285 0259 0.235
5 0.720 0.686 0.651 0.616 0581 0.546 0.512 0478 0446 0.414 0.384
6 0.844 0818 0791 0762 0732 0702 0.670 0.638 0.606 0574 0.542
7 0921 0905 0887 0.867 0845 0822 0.797 0771 0.744 0.716  0.687
8 0.964 0955 0944 0932 0918 0903 0.88 0867 0.847 0.826  0.803
9 0.985 0980 0975 0968 0960 0951 0.941 0929 0916 0902 0.886
10 0.994 0992 0990 098 0982 0977 0972 0965 0.957 0949 0.939
11 0.998 0997 099 0995 0993 0990 0988 0984 0.980 0975 0.969
12 0.999 0999 0999 0998 0997 099 0995 0993 0991 0989 0.986
13 1.000 1000  1.000  0.999 0999 0999 0998 0997 099 0995 0.994
14 1.000 1000  1.000 1.000  1.000  1.000 0.999 0999 0.999 0.998 0.997
15 1000  1.000  1.000  1.000 1000  1.000 1.000  1.000  0.999 0999  0.999
16 1.000  1.000 1000 1.000 1.000 1000 1.000 1000 1000 1.000  1.000

6.6 6.8 7.0 7.2 7.4 7.6 7.8 8.0 8.5 9.0 9.5
0 0.001 0.001 0001 0001 0.001 0001 0.000 0.000 0.000 0.000 0.000
1 0.010  0.009 0.007 0.006 0005 0.004 0.004 0003 0.002 0.001 0.001
2 0.040 0034 0030 0.025 0022 0019 0016 0014 0009 0.006 0.004
3 0.106 0093 0.082 0.072 0063 0.055 0.048 0042 0.030 0.021 0015
4 0213 0192 0173 0156 0140 0125 0112 0100 0.074 0.055 0.040
5 0.355 0327 0301 0276 0253 0231 0.210 0191 0150 0.116 0.089
6 0.511 0480 0.450 0420 0392 0365 0338 0313 0256 0207 0.165
7 0.658 0.628 0599 0.569 0539 0510 0481 0453 038 0324 0.269
8 0.780 0.7556 0.729 0.703 0676 0.648 0.620 0593 0.523 0.456  0.392
9 0.869 0850 0.830 0.810 0788 0.765 0.741 0717 0.653 0.587  0.522
10 0.927 0915 0901 0.887 0871 0854 0835 0816 0763 0.706 0.645
11 0.963 0955 0947 0937 0926 0915 0902 0888 0.849 0.803 0.752
12 0.982 0978 0973 0967 0961 0954 0945 0936 0909 0.876 0.836
13 0.992 0990 0987 0984 0980 0976 0971 0966 0949 0926 0.898
14 0.997 0996 0994 0993 0991 0989 098 0983 0973 0.959 0.940
15 0.999 0998 0998 0.997 0996 0995 0993 0992 0986 0978  0.967
16 0.999 0999 0999 0999 0998 0998 0.997 0996 0.993 0.989  0.982
17 1.000 1000  1.000  1.000 0999 0999 0999 0998 0.997 0995 0.991
18 1.000 1000  1.000 1.000 1000  1.000 1000 0999 0.999 0998 0.996
19 1.000 1000  1.000 1.000 1000  1.000 1000 1000 0.999 0.999  0.998
20 1000 1.000 1000  1.000 1.000  1.000 1.000 1000 1000 1.000  0.999
21 1.000 1000 1000 1.000 1000 1.000 1000 1000 1.000 1000  1.000




226 _ R 7|% EAEM

i 10.0 10.5 11.0 11.5 12.0 12.5 13.0 13.5 14.0 14.5 15.0
0 0.000  0.000 0.000 0.000 0000 0.000 0.000 0.000 0.000 0.000 0.000
1 0.000  0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
2 0.003 0002 0001 0001 0.001 0000 0.000 0.000 0.000 0.000 0.000
3 0.010  0.007 0.005 0.003 0002 0002 0.001 0001 0.000 0.000 0.000
4 0.029 0021 0015 0011 0008 0.005 0.004 0003 0002 0.001 0.001
5 0.067 0050 0.038 0.028 0020 0015 0011 0008 0.006 0.004 0.003
6 0130  0.102 0.079 0.060 0046 0.035 0.026 0019 0014 0.010 0.008
7 0.220 0179 0143 0114 0090 0.070 0.054 0041 0.032 0024 0018
8 0.333 0279 0232 0191 0155 0125 0.100 0079 0.062 0.048 0.037
9 0.458 0397 0341 0289 0242 0201 0.166 0135 0109 0.088 0.070
10 0.583 0521 0460 0.402 0347 0297 02562 0211 0176 0.145 0.118
11 0.697 0639 0579 0520 0462 0406 0353 0304 0.260 0220 0185
12 0.792 0742 0689 0.633 0576 0519 0463 0409 0.358 0.311 0.268
13 0.864 0825 0.781 0.733 0682 0628 0573 0518 0464 0413 0.363
14 0917 0888 0854 0.815 0772 0725 0.675 0623 0.570 0.518 0.466
15 0951 0932 0907 0.878 0844 0806 0.764 0718 0.669 0.619 0.568
16 0973 0960 0944 0924 0899 0869 0.835 0798 0.756 0.711 0.664
17 0.986 0978 0968 0954 0937 0916 0890 0861 0.827 0.790 0.749
18 0.993 0988 0982 0974 0963 0948 0930 0908 0.883 0.853 0.819
19 0.997 0994 0991 098 0979 0969 0957 0942 0923 0.901 0.875
20 0.998 0997 0995 0992 0988 0983 0975 0965 0952 0936 0917
21 0.999 0999 0998 0.996 0994 0991 098 0980 0971 0960 0.947
22 1000 0999 0999 0998 0997 0995 0.992 0989 0983 0976 0.967
23 1.000 1000  1.000 0.999 0999 0998 0996 0994 0991 0986  0.981
24 1.000 1000  1.000 1000 0999 0999 0998 0997 0.995 0992 0.989
25 1.000 1000  1.000  1.000 1000  0.999 0.999 0998 0997 0996 0.994
26 1.000 1000  1.000 1.000 1000  1.000 1000 0999 0.999 0998 0.997
27 1000  1.000  1.000  1.000 1.000  1.000 1.000  1.000  0.999 0999  0.998
28 1000  1.000  1.000  1.000 1000  1.000  1.000  1.000  1.000 0.999  0.999
29 1.000 1000 1000 1.000 1000 1.000 1000 1000 1.000 1.000  1.000




(E 3) BEPIEER

0 z

z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09

0.0 0.0000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.0359
0.1 0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.0636 0.0675 0.0714 0.0753
0.2 0.0793 0.0832 0.0871 0.0910 0.0948 0.0987 0.1026 0.1064 0.1103 0.1141
0.3 0.1179  0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517
0.4 0.1554 0.1591 0.1628 0.1664 0.1700 0.1736 0.1772 0.1808 0.1844 0.1879
0.5 0.1915 0.1950 0.1985 0.2019 0.2054 0.2088 0.2123 0.2157 0.2190 0.2224
0.6 0.2257 0.2291 0.2324 0.2357 0.2389 0.2422 0.2454 0.2486 0.2518 0.2549
0.7 0.2580 0.2612 0.2642 02673 02704 0.2734 0.2764 02794 0.2823 0.2852
0.8 0.2881 0.2910 0.2939 0.2967 0.2995 0.3023 0.3051 0.3078 0.3106 0.3133
0.9 0.3159 0.3186 0.3212 0.3238 0.3264 0.3289 0.3315 0.3340 0.3365 0.3389
1.0 0.3413 0.3438 0.3461 0.3435 0.3508 0.3531 0.3554 0.3577 0.3599 0.3621
1.1 0.3643 0.3665 0.3686 0.3708 0.3729 0.3749 0.3770 0.3790 0.3810 0.3830
1.2 0.3849 0.3869 0.3888 0.3907 0.3925 0.3944 0.3962 0.3980 0.3997 0.4015
1.3 0.4032 0.4049 0.4066 0.4082 0.4099 04115 04131 0.4147 04162 04177
14 0.4192 0.4207 0.4222 04236 04251 0.4265 0.4279 0.4292 0.4306 0.4319
1.5 0.4332 0.4345 0.4357 0.4370 04382 0.4394 0.4406 0.4418 0.4429 0.4441
1.6 0.4452  0.4463 0.4474 0.4484 0.4495 0.4505 0.4515 0.4525 0.4535 0.4545
1.7 0.4554 0.4564 0.4573 0.4582 0.4591 0.4599 0.4608 0.4616 0.4625 0.4633
1.8 0.4641 0.4649 0.4656 0.4664 04671 0.4678 0.4686 0.4693 0.4699 0.4706
1.9 0.4713 04719 04726 04732 04738 0.4744 04750 0.4756 0.4761 0.4767
2.0 0.4772 04778 0.4783 0.4788 0.4793 0.4798 0.4803 0.4808 0.4812 0.4817
2.1 0.4821 0.4826 0.4830 0.4834 0.4838 0.4842 0.4846 0.4850 0.4854 0.4857
2.2 0.4861 0.4864 0.4868 0.4871 0.4875 0.4878 0.4881 0.4884 0.4837  0.4890
2.3 0.4893 0.4896 0.4898 0.4901 0.4904 0.4906 0.4909 0.4911 0.4913 0.4916
2.4 0.4918 0.4920 0.4922 0.4925 0.4927 0.4929 0.4931 0.4932 0.4934 0.4936
2.5 0.4938 0.4940 0.4941 0.4943 04945 0.4946 0.4948 0.4949 0.4951 0.4952
2.6 0.4953 0.4955 0.4956 0.4957 0.4959 0.4960 0.4961 0.4962 0.4963 0.4964
2.7 0.4965 0.4966 0.4967 0.4968 0.4969 0.4970 0.4971 0.4972 04973 0.4974
2.8 0.4974 0.4975 0.4976  0.4977 0.4977 0.4978 0.4979 0.4979 0.4980 0.4981
2.9 0.4981 0.4982 0.4982 0.4983 0.4984 0.4985 0.4985 0.4985 0.4986 0.4986
3.0 0.4986 0.4987 0.4987 0.4988 0.4988 0.4984 0.4989 0.4989 0.4990 0.4990




228 _R 7|% EAEM
<# 4) t-ZXH
t
D v 0.1 0.05 0.025 0.01 0.005
1 3.078 6.314 12.706 31.821 63.657
2 1.886 2.920 4.303 6.965 9.923
3 0.1638 2.353 3.182 4.541 5.841
4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707
7 1.415 1.895 2.365 2.998 3.499
8 1.397 1.860 2.306 2.896 3.355
9 1.383 1.833 2.262 2.821 3.250
10 1.372 1.812 2.228 2.764 3.169
11 1.363 1.796 2.201 2.718 3.103
12 1.356 1.782 2.179 2.681 3.055
13 1.350 1.771 2.160 2.650 3.012
14 1.345 1.761 2.145 2.624 2.977
15 1.341 1.753 2.131 2.602 2.947
16 1.337 1.746 2.120 2.583 2.921
17 1.333 1.740 2.110 2.567 2.898
18 1.330 1.734 2.101 2.552 2.878
19 1.328 1.729 2.093 2.539 2.816
20 1.325 1.725 2.086 2.528 2.845
21 1.323 1.721 2.080 2.518 2.831
22 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 1.711 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787
26 1.315 1.706 2.056 2.479 2.779
27 1.314 1.703 2.052 2.473 2.171
28 1.313 1.701 2.048 2.467 2.763
29 1.311 1.699 2.045 2.462 2.756
30 1.310 1.697 2.042 2.457 2.750
40 1.303 1.684 2.021 2.423 2.704
60 1.296 1.671 2.000 2.390 2.660
120 1.289 1.658 1.980 2.358 2.617
o0 1.282 1.645 1.960 2.326 2.576




RE 2 FosjE _ 229
<E 5 V-EXH
PXz=x))=a
0 ¢
A= P=0.99 0.98 0.95 0.90 0.80 0.20 0.10 0.05 0.02 0.01
1 0.000157 0.000628 0.00393 0.0158  0.0642 1.642 2.706 3.841 5.412 6.635
2 0.0201  0.0404 0.103 0.211 0.446 3.219 4.605 5.991 7.824 9.210
3 0.115 0.185 0.352 0.584 1.005 4.642 6.251 7.815 9.837 11.341
4 0.297 0.429 0.711 1.064 1.649 5.989 7.779 9.488 11.668  13.277
5 0.554 0.752 1.145 1.610 2.343 7.289 9.236 11.070 13.388  15.086
6 0.872 1.134 1.635 2.204 3.070 8.558 10.645 12592 15.033 16.812
7 1.239 1.564 2.167 2.833 3.822 9.803 12.017 14.067 16.622  18.475
8 1.646 2.032 2.733 3.490 4.594 11.030 13362 15507 18168  20.090
9 2.088 2.5632 3.325 4.168 5.380 12.242 14684 16.919 19.679 21.666
10 2.558 3.059 3.940 4.865 6.179 13.442 15987 18307 21.161  23.209
11 3.053 3.609 4.575 5.578 5.989 14.631 17.275 19.675 22618 24.725
12 3.571 4.178 5.226 6.034 7.807 15.812 18549 21.026 24.054  26.217
13 4.017 4.765 5.892 7.042 8.634 16.985 19.812 22,362 25472  27.688
14 4.660 5.368 6.517 7.790 9.467 18.151 21.064 23.685 26.873 29.141
15 5.229 5.985 7.261 8.5647 10.307  19.311  22.307 24996 28.259 30.578
16 5.812 6.614 7.962 9.312 11152  20.465 23542 26.296 29.633  32.000
17 6.408 7.255 8.672 10.085 12.002 21.615 24.769 27.587 30.995 33.409
18 7.015 7.906 9.390 10.865 12.857 22760 25989 28869 32.346  34.805
19 7.633 8.567 10.117 11.651 13.716  23.900 27.204 30.144 33687 36.191
20 8.260 9.237 10.851 12.443 14578 25.038 28412 31.410 35.020 37.566
21 8.897 9.915 11.591 13.240 15445 26.171 29.615 32.671 36.343 38932
22 9.542 10.600 12.338  14.041 16.314 27.301 30.813 33924 37.659  40.289
23 10.196  11.293  13.091 14.848 17.187 26.429 32.007 35.172 38.968 41.638
24 10.856  11.992 13.848 15659 18062 29.553 33.196 36.415 40.270 42.980
25 11.524 12,697 14.611 16.473 18940 30.675 34.382 37.652 41.566 44.314
26 12.198 13409 15379 17.292 19.820 31.795 36.563 38.885 42.856  45.642
27 12.879 14.125 16.151 18114 20.703 32912 36.741 40.113 44.141 46.963
28 13.565 14.847 16.928 18939 21.588 34.027 37.916 41.337 45419 48278
29 14.256 15574 17.708 19.768 22475 36.139 39.087 42557 46.693 49.588
30 14953 16.306 18493 30.599 23.364 36.2560 40.256 43773 47.962 50.892
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161.45
18.51
10.13
7.71
6.61
5.99
5.59
5.32
5.12
4.96
4.84
4.75
4.67
4.60
4.54
4.49
4.45
4.41
4.38
4.35
4.32
4.30
4.28
4.26
4.24
4.23
4.21
4.20
4.18
4.17
4.08
4.00
120 | 3.92
o | 3.84
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199.50
19.00
9.55
6.94
5.79
4.74
4.74
4346
4.26
4.10
3.98
3.89
3.81
3.74
3.68
3.63
3.59
3.55
3.52
3.49
3.47
3.44
3.42
3.40
3.39
3.37
3.35
3.34
3.33
3.32
3.23
3.15
3.07
3.00

215.71
19.16
9.28
6.59
5.41
7.35
4.35
4.07
3.86
3.71
3.59
3.49
3.41
3.34
3.29
3.24
3.20
3.16
3.13
3.10
3.07
3.05
3.03
3.01
2.99
2.98
2.96
2.95
2.93
2.92
2.84
2.76
2.68
2.60

224.58
19.25
9.12
6.39
5.19
412
4.12
3.84
3.63
3.48
3.36
3.26
3.18
3.11
3.06
3.01
2.96
2.93
2.90
2.87
2.84
2.82
2.80
2.78
2.76
2.74
2.73
2.71
2.70
2.69
2.61
2.53
2.45
2.37

230.16
19.30
9.01
6.26
5.05
3.94
3.97
3.69
3.48
3.33
3.20
3.11
3.03
2.96
2.90
2.85
2.81
2.17
2.74
2.71
2.68
2.66
2.64
2.62
2.60
2.59
2.57
2.56
2.55
2.53
2.45
2.37
2.29
2.21

233.99
19.33
8.94
6.16
4.95
3.87
3.87
3.58
3.37
3.22
3.09
3.00
2.92
2.85
2.79
2.74
2.70
2.66
2.63
2.60
2.57
2.55
2.53
2.51
2.49
2.47
2.46
2.45
2.43
2.42
2.34
2.25
2.18
2.10

236.77
19.35
8.89
6.09
4.48
3.79
3.79
3.50
3.29
3.14
3.01
2.91
2.83
2.76
2.71
2.66
2.61
2.58
2.54
2.51
2.49
2.46
2.44
2.42
2.40
2.39
2.37
2.36
2.35
2.33
2.25
2.17
2.09
2.01

238.88
19.37
8.85
6.04
4.82
3.73
3.73
3.44
3.23
3.07
2.95
2.85
2.77
2.80
2.64
2.59
2.55
2.51
2.48
2.45
2.42
2.40
2.37
2.36
2.34
2.32
2.31
2.29
2.28
2.27
2.18
2.10
2.02
1.94

240.54 241.88
19.38 19.40
8.81 876
6.00 5.96
477 474
3.68 3.64
3.68 3.64
3.39 3.35
3.18 3.14
3.02 2.98
2.90 2.85
2.80 2.75
271 2.67
2.65 2.60
2.59 2.54
2.54 2.49
249 245
2.46 241

2.42 2.38
2.39 2.35
2.37 2.32

2.34 2.30
2.32 227
2.30 2.25
2.28 2.24
2.27 2.22

2.25 2.20
2.24 219

2.22 218

2.21 216

212 2.08
2.04 199

195 1.91

1.88 1.83

243.91 245,95 248.01 249.05 250.09 241.14 254.31
19.41 19.43 19.45 19.45 19.46 19.47 19.50
8.74 870 8.66 8.64 8.62 859 8.53
591 586 580 577 575 572 5.63
468 462 456 453 450 446 4.37
3.57 3.51 344 341 338 3.34 3.23
3.567 3.51 344 341 338 3.34 3.23
3.28 322 315 312 3.08 3.04 2.93
3.07 3.01 294 290 2.84 283 271
291 2.85 277 274 270 2.66 2.54
2.79 2.72 2.65 2.61 257 253 240
2.69 2.62 254 251 247 243 2.30
2.60 253 246 242 238 234 221
2.63 247 239 235 231 227 213
2.48 240 233 229 225 220 2.07
242 235 228 224 219 215 201
2.38 231 223 219 215 210 196
2.34 227 219 215 211 2.06 192
231 223 216 211 2.07 2.03 188
228 220 212 2.08 204 199 184
2.25 218 210 2.05 201 196 181
2.23 2.15 2.07 2.03 198 194 178
220 213 205 2.01 196 191 176
218 211 203 198 194 189 173
216 209 201 196 192 187 171
2.15 2.07 199 195 190 185 1.69
2.13 2.06 197 193 188 184 167
212 204 196 191 187 182 165
2.10 2.03 194 190 185 1.81 164
2.09 2.01 193 189 184 179 162
200 192 1.84 179 174 169 151
192 1.84 175 170 165 159 1.39
1.83 175 166 161 155 150 1.25
175 1.67 157 152 146 139 1.00
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120

4052.18
98.50
34.12
21.20
16.26
13.75
12.25
11.26
10.56
10.04
9.65
9.33
9.07
8.86
8.68
8.53
8.40
8.29
8.18
8.10
8.02
7.95
7.88
7.82
777
7.72
7.68
7.64
7.60
7.56
7.31
7.08
6.85
6.63

4999.50 5403.35 5624.58 5763.65

99.00 99.17
30.82 29.46
18.00 16.69
13.27 12.06
10.92 9.78
9.55 845
8.65 17.59
8.02 6.99
7.56 6.55
721 6.22
6.93 595
6.70 5.74
6.51 5.56
6.36 542
6.23 529
6.11 5.19
6.01 5.09
593 5.01
5.85 4.94
5.78 4.87
5.72 482
566 4.76
5.61 4.72
557 4.68
553 4.64
549 4.60
545 457
542 454
539 451
518 4.31
498 413
479 3.95
4.61 378

99.25
82.71
15.98
11.39
9.15
7.85
7.01
6.42
5.99
5.67
541
5.21
5.04
4.89
4.77
4.67
4.58
4.50
4.43
4.37
431
4.26
4.22
418
414
411
4.07
4.04
4.02
3.83
3.65
3.48
3.32

99.30
28.24
15.52
10.97
8.75
7.46
6.63
6.06
5.64
5.32
5.06
4.86
4.70
4.56
4.44
4.34
4.25
4.17
4.10
4.04
3.99
3.94
3.90
3.86
3.82
3.78
3.75
3.73
3.70
3.51
3.34
3.17
3.02

5858.99
99.33
27.91
15.21
10.67
8.47
7.19
6.37
5.80
5.39
5.07
4.82
4.62
4.46
4.32
4.20
4.10
4.01
3.94
3.87
3.81
3.76
3.7
3.67
3.63
3.59
3.56
3.53
3.50
3.47
3.20
3.12
2.96
2.80

5928.36 5981.07 6022.47
99.36 99.37 99.39
27.67 27.49 27.35

14.98
10.46
8.26
6.99
6.18
5.61
5.20
4.89
4.64
4.44
4.28
414
4.03
3.93
3.84
3.77
3.70
3.64
3.59
3.54
3.50
3.46
3.42
3.39
3.36
3.33
3.30
3.12
2.95
2.79
2.64

14.80 14.66
10.29 10.16
810 7.98
6.84 6.72
6.03 5091

547 5.35
5.06 4.94
474 463
4.50 4.39
430 4.19

414 4.03
4.00 3.89
3.89 3.78
3.79 3.68
3.71 360

3.63 3.52
3.56 3.46
3.51 340
345 335
341 3.30
3.36 3.26
3.32 322
3.29 318
3.26 3.15
323 312
3.20 3.09
317 3.07
2.99 2.89
2.82 272
2.66 2.56
2.51 241

6055.87 6106.31 6157.28 6208.73 6234.63 6260.65 6286.78 6365.86

99.40 99.42 99.43 99.45 99.46 99.47 99.47
27.23 27.05 26.87 26.69 26.60 26.50 26.41

14.55
10.05
7.87
6.62
5.81
5.26
4.85
4.54
4.30
4.10
3.94
3.80
3.69
3.59
3.51
3.43
3.37
3.31
3.26
3.21
3.17
3.13
3.09
3.06
3.03
3.00
2.98
2.80
2.63
2.47
2.32

14.37 14.20 14.02
9.89 9.72 955
7.72 756 740
6.47 631 6.16
567 552 536
511 496 4.81
471 456 441
440 425 410
416 4.01 386
396 382 366
380 366 351
3.67 352 337
3.55 341 326
346 331 316
337 323 308
330 315 3.00
323 309 294
317 303 288
312 298 283
3.07 293 278
3.03 289 274
2.99 285 2170
2.96 2.81 266
293 278 263
2.90 2.75 2.60
2.87 273 257
2.84 270 255
2.66 2.52 237
250 235 220
2.34 219 203
218 2.04 1.88

13.93
9.47
7.31
6.07
5.28
4.73
4.33
4.02
3.78
3.59
3.43
3.29
3.18
3.08
3.00
2.92
2.86
2.80
2.75
2.70
2.66
2.62
2.58
2.55
2.52
2.49
2.47
2.29
2.12
1.95
1.79

13.84 13.75
9.38 9.29
723 714
5.99 591
520 512
4.65 4.57
4.25 417
394 3.86
3.70 3.62
351 343
3.35 327
321 313
3.10 3.02
3.00 292
2.92 284
2.84 2.76
2.78 2.69
2.72 264
2.67 258
2.62 254
2.58 249
2.54 245
2.50 242
247 2.38
244 235
241 2.33
2.39 2.30
220 211
2.03 194
1.86 176
170 159

99.50
26.13
13.46
9.02
6.88
5.65
4.86
4.31
391
3.60
3.36
3.17
3.00
2.87
2.75
2.65
2.57
2.49
2.42
2.36
2.31
2.26
2.21
2.17
2.13
2.10
2.06
2.03
2.01
1.80
1.60
1.38
1.00

Vi

wpe] A=

Vo

Euol AfE,



{BE 7> Durbin-Watson (5% 82|4=

k'=1 k'=2 k'=3 k'=4 k'=5
" dL dU dL dU dL dUu dL dU dL dU
15 1.077 1.361 0.946 1.543 0.814 1.750 0.685 1.977 0.562 2.220
16 1.106 1.371 0.982 1.539 0.857 1.728 0.734 1.935 0.615 2.157
17 1.133 1.381 1.015 1.536 0.897 1.710 0.779 1.900 0.664 2.104
18 1.158 1.391 1.046 1.535 0.933 1.696 0.820 1.872 0.710 2.060
19 1.180 1.410 1.074 1.536 0.967 1.685 0.859 1.848 0.752 2.023
20 1.201 1.411 1.100 1.537 0.998 1.676 0.894 1.828 0.792 1.991
21 1.221 1.420 1.125 1.538 1.026 1.669 0.927 1.812 0.829 1.964
22 1.239 1.429 1.147 1.541 1.053 1.664 0.958 1.797 0.863 1.940
23 1.257 1.437 1.168 1.543 1.078 1.660 0.986 1.785 0.895 1.920
24 1.273 1.446 1.188 1.546 1.101 1.656 1.013 1.775 0.925 1.902
25 1.288 1.454 1.206 1.550 1.123 1.654 1.038 1.767 0.953 1.886
26 1.302 1.461 1.224 1.553 1.143 1.652 1.062 1.759 0.979 1.873
27 1.316 1.469 1.240 1.556 1.162 1.651 1.084 1.753 1.004 1.861
28 1.328 1.476 1.255 1.560 1.181 1.650 1.104 1.747 1.028 1.850
29 1.341 1.483 1.270 1.563 1.198 1.650 1.124 1.743 1.050 1.841
30 1.352 1.489 1.284 1.567 1.214 1.650 1.143 1.739 1.071 1.833
31 1.363 1.496 1.297 1.570 1.229 1.650 1.160 1.735 1.090 1.825
32 1.373 1.502 1.309 1.574 1.244 1.650 1.177 1.732 1.109 1.819
33 1.383 1.508 1.321 1.577 1.258 1.651 1.193 1.730 1.127 1.813
34 1.393 1.514 1.333 1.580 1.271 1.652 1.208 1.728 1.144 1.808
35 1.402 1.519 1.343 1.584 1.283 1.653 1.222 1.726 1.160 1.803
36 1.411 1.525 1.354 1.587 1.295 1.654 1.236 1.724 1.175 1.799
37 1.419 1.530 1.364 1.590 1.307 1.655 1.249 1.723 1.190 1.795
38 1.427 1.535 1.373 1.594 1.318 1.656 1.261 1.722 1.204 1.792
39 1.435 1.540 1.382 1.597 1.328 1.658 1.273 1.722 1.218 1.789
40 1.442 1.544 1.391 1.600 1.338 1.659 1.285 1.721 1.230 1.786
45 1.475 1.566 1.430 1.615 1.383 1.666 1.336 1.720 1.287 1.776
50 1.503 1.585 1.462 1.628 1.421 1.674 1.378 1.721 1.335 1.771
55 1.528 1.601 1.490 1.641 1.452 1.681 1.414 1.724 1.374 1.768
60 1.549 1.616 1.514 1.652 1.480 1.689 1.444 1.727 1.408 1.767
65 1.567 1.629 1.536 1.662 1.503 1.696 1.471 1.731 1.438 1.767
70 1.583 1.641 1.554 1.672 1.525 1.703 1.494 1.735 1.464 1.768
75 1.598 1.652 1.571 1.680 1.543 1.709 1.515 1.739 1.487 1770
80 1.611 1.662 1.586 1.688 1.560 1.715 1.5634 1.743 1.507 1772
85 1.624 1.671 1.600 1.696 1.575 1721 1.550 1.747 1.525 1.774
90 1.636 1.679 1.612 1.703 1.589 1.726 1.566 1.751 1.542 1776
95 1.645 1.687 1.623 1.709 1.602 1.732 1.579 1.755 1.557 1.778
100 1.654 1.694 1.634 1.715 1.613 1.736 1.592 1.758 1.571 1.780
150 1.720 1.746 1.706 1.760 1.693 1.774 1.679 1.778 1.665 1.802
200 1.758 1.778 1.748 1.789 1.738 1.799 1.728 1.810 1.718 1.820

K= A53e A duusol 4




®E 2 Fo8AE _ 233
n k'=6 k'=7 k'=8 k'=9 k'=10
dL du dL du dL du dL du dL du

15 0.447 2.472 0.343 2.727 0.251 2.979 0.175 3.216 0.111 3.438
16 0.502 2.388 0.398 2.624 0.304 2.860 0.222 3.090 0.155 3.304
17 0.554 2.318 0.451 2.537 0.356 2.757 0.272 2.975 0.198 3.184
18 0.603 2.257 0.502 2.461 0.407 2.667 0.321 2.873 0.244 3.073
19 0.649 2.206 0.459 2.396 0.456 2.589 0.369 2.783 0.290 2.974
20 0.692 2.162 0.595 2.339 0.502 2.521 0.416 2.704 0.336 2.885
21 0.732 2.124 0.637 2.290 0.547 2.460 0.461 2.633 0.380 2.806
22 0.769 2.090 0.677 2.246 0.588 2.407 0.504 2.571 0.424 2.734
23 0.804 2.061 0.715 2.208 0.628 2.360 0.545 2.514 0.465 2.670
24 0.837 2.035 0.751 2.174 0.666 2.318 0.584 2.464 0.506 2.613
25 0.868 2.012 0.784 2.144 0.702 2.280 0.621 2.419 0.544 2.560
26 0.897 1.992 0.816 2.117 0.735 2.246 0.657 2.379 0.581 2.513
27 0.925 1.974 0.845 2.093 0.767 2.216 0.691 2.342 0.616 2.470
28 0.951 1.958 0.874 2.071 0.798 2.188 0.723 2.309 0.650 2.431
29 0.975 1.944 0.900 2.052 0.826 2.164 0.753 2.278 0.682 2.396
30 0.998 1.931 0.926 2.034 0.854 2.141 0.782 2.251 0.712 2.363
31 1.020 1.920 0.950 2.018 0.879 2.120 0.810 2.226 0.741 2.333
32 1.041 1.909 0.972 2.004 0.904 2.102 0.836 2.203 0.769 2.306
33 1.061 1.900 0.994 1.991 0.927 2.085 0.861 2.181 0.795 2.281
34 1.080 1.891 1.015 1.979 0.950 2.069 0.885 2.162 0.821 2.257
35 1.097 1.884 1.034 1.967 0.971 2.054 0.908 2.144 0.845 2.236
36 1114 1.877 1.053 1.957 0.991 2.041 0.930 2.127 0.868 2.216
37 1131 1.870 1.071 1.948 1.011 2.029 0.951 2.112 0.891 2.198
38 1.146 1.864 1.088 1.939 1.029 2.017 0.970 2.098 0.912 2.180
39 1.161 1.859 1.104 1.932 1.047 2.007 0.990 2.085 0.932 2.164
40 1.175 1.854 1.120 1.924 1.064 1.997 1.008 2.072 0.945 2.149
45 1.238 1.835 1.189 1.895 1.139 1.958 1.089 2.002 1.038 2.088
50 1.291 1.822 1.246 1.875 1.201 1.930 1.156 1.986 1.110 2.044
55 1.334 1.814 1.294 1.861 1.253 1.909 1.212 1.959 1.170 2.010
60 1.372 1.808 1.335 1.850 1.298 1.894 1.260 1.939 1.222 1.984
65 1.404 1.805 1.370 1.843 1.336 1.882 1.301 1.923 1.266 1.964
70 1.433 1.802 1.401 1.837 1.369 1.873 1.337 1.910 1.305 1.948
75 1.458 1.801 1.428 1.834 1.399 1.867 1.369 1.901 1.339 1.935
80 1.480 1.801 1.453 1.831 1.425 1.861 1.397 1.893 1.369 1.925
85 1.500 1.801 1.474 1.829 1.448 1.857 1.422 1.886 1.396 1.916
90 1.518 1.801 1.494 1.827 1.469 1.854 1.445 1.881 1.420 1.909
95 1.535 1.802 1.512 1.827 1.489 1.852 1.465 1.877 1.442 1.903
100 1.550 1.803 1.528 1.826 1.506 1.850 1.484 1.874 1.462 1.898
150 1.651 1.817 1.637 1.832 1.622 1.847 1.608 1.862 1.594 1.877
200 1.707 1.831 1.697 1.841 1.686 1.852 1.675 1.863 1.665 1.874




k'=1 k'=2 k'=3 k'=4 k'=5
" dL du dL du dL du dL du dL du
15 0.811 1.070 0.700 1.252 0.591 1.464 0.488 1.704 0.391 1.967
16 0.844 1.086 0.737 1.252 0.633 1.446 0.532 1.663 0.437 1.900
17 0.874 1.102 0.772 1.255 0.672 1.432 0.574 1.630 0.480 1.847
18 0.902 1.118 0.805 1.259 0.708 1.422 0.613 1.604 0.522 1.803
19 0.928 1.132 0.835 1.265 0.742 1.415 0.650 1.584 0.561 1.767
20 0.952 1.147 0.863 1.271 0.773 1.411 0.685 1.567 0.598 1.737
21 0.975 1.161 0.890 1.277 0.803 1.408 0.718 1.554 0.633 1.712
22 0.997 1.174 0.914 1.284 0.831 1.407 0.748 1.543 0.667 1.691
23 1.018 1.187 0.938 1.291 0.858 1.407 0.777 1.534 0.698 1.673
24 1.037 1.199 0.960 1.298 0.882 1.407 0.805 1.528 0.728 1.658
25 1.055 1211 0.981 1.305 0.906 1.409 0.831 1.523 0.756 1.645
26 1.072 1.222 1.001 1.312 0.928 1.411 0.855 1.518 0.783 1.635
27 1.089 1.233 1.019 1.319 0.949 1.413 0.878 1.515 0.808 1.626
28 1.104 1.244 1.037 1.325 0.969 1.415 0.900 1.5613 0.832 1.618
29 1.119 1.254 1.054 1.332 0.988 1.418 0.921 1.512 0.855 1.611
30 1.133 1.263 1.070 1.339 1.006 1.421 0.941 1.511 0.877 1.606
31 1.147 1.273 1.085 1.345 1.023 1.425 0.960 1.510 0.897 1.601
32 1.160 1.282 1.100 1.352 1.040 1.428 0.979 1.510 0.917 1.597
33 1.172 1.291 1.114 1.358 1.055 1.432 0.996 1.510 0.936 1.594
34 1.184 1.299 1.128 1.364 1.070 1.435 1.012 1.511 0.954 1.591
35 1.195 1.307 1.140 1.370 1.085 1.439 1.028 1.512 0.971 1.589
36 1.206 1.315 1.153 1.376 1.098 1.442 1.043 1.513 0.988 1.588
37 1.217 1.323 1.165 1.382 1112 1.446 1.058 1.514 1.004 1.586
38 1.227 1.330 1.176 1.388 1.124 1.449 1.072 1.515 1.019 1.585
39 1.237 1.337 1.187 1.393 1.137 1.453 1.085 1.617 1.034 1.584
40 1.246 1.344 1.198 1.398 1.148 1.457 1.098 1.518 1.048 1.584
45 1.288 1.276 1.245 1.423 1.201 1.474 1.156 1.528 1.111 1.584
50 1.324 1.403 1.285 1.446 1.245 1.491 1.205 1.538 1.164 1.587
55 1.356 1.427 1.320 1.466 1.284 1.506 1.247 1.548 1.209 1.592
60 1.383 1.449 1.350 1.484 1.317 1.520 1.283 1.558 1.249 1.598
65 1.407 1.468 1.377 1.500 1.346 1.534 1.315 1.568 1.283 1.604
70 1.429 1.485 1.400 1.515 1.372 1.546 1.343 1.578 1.313 1.611
75 1.448 1.501 1.422 1.529 1.395 1.557 1.368 1.587 1.340 1.617
80 1.466 1.515 1.441 1.541 1.416 1.568 1.390 1.595 1.364 1.624
85 1.482 1.528 1.458 1.553 1.435 1.578 1.411 1.603 1.386 1.630
90 1.496 1.540 1.474 1.563 1.452 1.587 1.429 1.611 1.406 1.636
95 1.510 1.552 1.489 1.573 1.468 1.596 1.446 1.618 1.425 1.642
100 1.522 1.562 1.503 1.583 1.482 1.604 1.462 1.625 1.441 1.647
150 1.611 1.637 1.598 1.651 1.584 1.665 1.571 1.679 1.557 1.693
200 1.664 1.684 1.653 1.693 1.643 1.704 1.633 1.715 1.623 1.725

K= A5ge A Agusol 4




RE 2 FRE/E 235
a k'=6 k'=7 k'=8 k'=9 k'=10
dL du dL du dL du dL du dL du

15 0.303 2.244 0.226 2.530 0.161 2.817 0.107 3.101 0.068 3.374
16 0.349 2.1563 0.269 2.416 0.200 2.681 0.142 2.944 0.094 3.201
17 0.393 2.078 0.313 2.319 0.241 2.566 0.179 2.811 0.127 3.063
18 0.435 2.015 0.355 2.238 0.282 2.467 0.216 2.679 0.160 2.925
19 0.476 1.963 0.396 2.169 0.322 2.381 0.255 2.597 0.196 2.813
20 0.515 1.918 0.436 2.110 0.362 2.308 0.294 2.510 0.232 2.714
21 0.552 1.881 0.474 2.059 0.400 2.244 0.331 2.434 0.268 2.625
22 0.587 1.849 0.510 2.015 0.437 2.188 0.368 2.367 0.304 2.548
23 0.620 1.821 0.545 1.977 0.473 2.140 0.404 2.308 0.340 2.479
24 0.652 1.797 0.578 1.944 0.507 2.097 0.439 2.255 0.375 2.417
25 0.682 1.766 0.610 1.915 0.540 2.059 0.473 2.209 0.409 2.362
26 0.711 1.759 0.640 1.889 0.572 2.026 0.505 2.168 0.441 2.313
27 0.738 1.743 0.669 1.867 0.602 1.997 0.536 2.131 0.473 2.269
28 0.764 1.729 0.696 1.847 0.630 1.970 0.566 2.098 0.504 2.229
29 0.788 1.718 0.723 1.830 0.658 1.947 0.595 2.068 0.533 2.193
30 0.812 1.707 0.748 1.814 0.684 1.925 0.622 2.041 0.562 2.160
31 0.834 1.698 0.772 1.800 0.710 1.906 0.649 2.017 0.589 2.131
32 0.856 1.690 0.794 1.788 0.734 1.889 0.674 1.995 0.615 2.104
33 0.876 1.683 0.816 1.776 0.757 1.874 0.698 1.975 0.641 2.080
34 0.896 1.677 0.837 1.766 0.779 1.860 0.722 1.957 0.665 2.057
35 0.914 1.671 0.857 1.757 0.800 1.847 0.744 1.940 0.689 2.037
36 0.932 1.666 0.877 1.749 0.821 1.836 0.766 1.925 0.711 2.018
37 0.950 1.662 0.895 1.742 0.841 1.825 0.787 1.911 0.733 2.001
38 0.966 1.658 0.913 1.735 0.860 1.816 0.807 1.899 0.754 1.985
39 0.982 1.655 0.930 1.729 0.878 1.807 0.826 1.887 0.774 1.970
40 0.997 1.652 0.946 1.724 0.895 1.799 0.844 1.876 0.789 1.956
45 1.065 1.643 1.019 1.704 0.974 1.768 0.927 1.834 0.881 1.902
50 1.123 1.639 1.081 1.692 1.039 1.748 0.997 1.805 0.955 1.864
55 1.172 1.638 1.134 1.685 1.095 1.734 1.057 1.785 1.018 1.837
60 1.214 1.639 1.179 1.682 1.144 1.726 1.108 1.771 1.072 1.817
65 1.251 1.642 1.218 1.680 1.186 1.720 1.153 1.761 1.120 1.802
70 1.283 1.645 1.253 1.680 1.223 1.716 1.192 1.754 1.162 1.792
75 1.313 1.646 1.284 1.682 1.256 1.716 1.227 1.746 1.199 1.785
80 1.338 1.653 1.312 1.683 1.285 1714 1.259 1.745 1.232 1777
85 1.362 1.657 1.337 1.685 1.312 1714 1.287 1.743 1.262 1.773
90 1.383 1.661 1.360 1.687 1.336 1.714 1.312 1.741 1.228 1.769
95 1.403 1.666 1.381 1.690 1.358 1.715 1.336 1.741 1.313 1.767
100 1.421 1.670 1.400 1.693 1.378 1.717 1.357 1.741 1.335 1.765
150 1.543 1.708 1.530 1.722 1.515 1.737 1.501 1.752 1.486 1.767
200 1.613 1.735 1.603 1.746 1.592 1.757 1.582 1.768 1.571 1.779




<E 8> Dickey-Fuller t-ZA%X| EXH

N Probability of a Smaller Value
0.01 0.025 0.05 0.10 0.90 0.95 0.975 0.99
72
25 -2.66 -2.26 -1.95 -1.60 0.92 1.33 1.70 2.16
50 -2.62 -2.25 -1.95 -1.61 0.91 1.31 1.66 2.08
100 -2.60 -2.24 -1.95 -1.61 0.90 1.29 1.64 2.03
250 -2.58 -2.23 -1.95 -1.62 0.89 1.28 1.63 2.01
500 -2.58 -2.23 -1.95 -1.62 0.89 1.28 1.62 2.00
©o -2.58 -2.23 -1.95 -1.62 0.89 1.28 1.62 2.00
T
25 -3.75 -3.33 -3.00 -2.63 -0.37 0.00 0.34 0.72
50 -3.58 -3.22 -2.93 -2.60 -0.40 -0.03 0.29 0.66
100 -3.51 -3.17 -2.89 -2.58 -0.42 -0.05 0.26 0.63
250 -3.46 -3.14 -2.88 -2.57 -0.42 -0.06 0.24 0.62
500 -3.44 -3.13 -2.87 -2.57 -0.43 -0.07 0.24 0.61
0o -3.43 -3.12 -2.86 -2.57 -0.44 -0.07 0.23 0.60
TT
25 -4.38 -3.95 -3.60 -3.24 -1.14 -0.80 -0.50 -0.15
50 -4.15 -9.80 -3.50 -3.18 -1.19 -0.87 -0.58 -0.24
100 -4.04 -3.73 -3.45 -3.15 -1.22 -0.90 -0.62 -0.28
250 -3.99 -3.69 -3.43 -3.13 -1.23 -0.92 -0.64 -0.31
500 -3.98 -3.68 -3.42 -3.13 -1.24 -0.93 -0.65 -0.32
00 -3.96 -3.66 -3.41 -3.12 -1.25 -0.94 -0.66 -0.33
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